
MATHS

BOOKS - MARVEL MATHS (HINGLISH)

INTEGRATION - INDEFINITE INTEGRALS

MULTIPLE CHOICE QUESTIONS (PART - A : Building - Up The BASE)

1. ∫
d
dx

f(x) dx =

A. f′ (x) + c

B. f(x) + c

C. ∫ f(x)dx

D. ef ( x ) + c

[ ]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_i80OpcbEGYHc


Answer: B

Watch Video Solution

2. 
d
dx ∫ f(x)dx =

A. f(x)

B. f(x) + c

C. f′ (x)

D. ef ′ ( x )

Answer: A

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_i80OpcbEGYHc
https://dl.doubtnut.com/l/_wGNniFKc1VdE


3. If ∫ f(x)dx = h(x) and ∫ f(x)dx = g(x) as well, then

A. h(x) = g(x)

B. h(x) + g(x)= constant

C. h(x). g(x) = constant

D. h(x) - g(x) =  constant

Answer: D

Watch Video Solution

4. ∫x√xdx =

A. 1.5√x

B. 2.5x1.5

https://dl.doubtnut.com/l/_gAuPCONww3In
https://dl.doubtnut.com/l/_9oJo1rrgVbtR


C. 0.4x2.5

D. 0.4x√x

Answer: C

Watch Video Solution

5. ∫ xx3x5x7… to n terms dx =

A. 
xn+ 1

n + 1

2
+ c

B. 
x2n+ 1

2n + 1 + c

C. 
xn

2 + 1

n2 + 1
+ c

D. 
xn (n+ 1 )

2
+ c

Answer: C

( )

( )

https://dl.doubtnut.com/l/_9oJo1rrgVbtR
https://dl.doubtnut.com/l/_fv1iZSb3i1Vw


Watch Video Solution

6. ∫x(x + 1)(x + 2)dx =

A. x4 + x3 + x2 + c

B. 
x4

4
+
x3

3
+
x2

2
+ c

C. x4 + x3 +
x2

2
+ c

D. 
x4

4 + x3 + x2 + c

Answer: D

Watch Video Solution

7. ∫
(x + 1)(x + 2)

x
dx =

https://dl.doubtnut.com/l/_fv1iZSb3i1Vw
https://dl.doubtnut.com/l/_o8mR30d8lgH2
https://dl.doubtnut.com/l/_DGxhZADatAJq


A. x2 + x + logx + c

B. 
x2

2
+ 3x + 2logx + c

C. 2x2 +
x
3

+
1
2

logx + c

D. 
x2

2
+ 3logx + 2x + c

Answer: B

Watch Video Solution

8. ∫ x +
1
x

2
dx =

A. 
x3

3 -
1
x + 2x + x

B. 2x -
x3

3
-

1
x

+ c

C. 
x3

3
+

1
x

- 2x + c

( )

https://dl.doubtnut.com/l/_DGxhZADatAJq
https://dl.doubtnut.com/l/_o7E9EaDqamFS


D. 
x3

3
- 2x -

1
x

+ c

Answer: A

Watch Video Solution

9. If f(x) =
1

1 - x
, then ∫ (f(f(f(x))))dx =

A. x + c

B. 
x2

2
+ c

C. 
x3

3
+ c

D. 
x4

4 + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_o7E9EaDqamFS
https://dl.doubtnut.com/l/_GCfbhQRYxSpV


10. ∫
x + 4
x + 1

dx =

A. 3x + log(x + 1) + c

B. x - 5log(x + 4) + c

C. x + 3log(x + 1) + c

D. x3 + log(x + 1) + c

Answer: C

Watch Video Solution

11. ∫
x - 2
x + 3dx =

A. 5x - log(x + 3) + c

B. x + 5log(x + 3) + c

https://dl.doubtnut.com/l/_yil9KCBQkhJx
https://dl.doubtnut.com/l/_3vTzRJ3VN3y3


C. x + 5log(x - 2) + c

D. x - 5log(x + 3) + c

Answer: D

Watch Video Solution

12. ∫
4x + 3
4x - 1

dx =

A. x + log(4x - 1) + c

B. 4x + log(4x - 1) + c

C. x + 4log(4x + 3) + c

D. x $ + log(4x + 3) + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_3vTzRJ3VN3y3
https://dl.doubtnut.com/l/_gTuNV8zRXDHT


13. ∫
2x + 3

x dx =

A. 3 + 2logx + c

B. 2 - 3logx + c

C. 2x - 3logx + c

D. 2x + 3logx + c

Answer: D

Watch Video Solution

14. ∫
x

2x + 3
dx =

A. 
2
x

+
4
3

logx + c

https://dl.doubtnut.com/l/_gTuNV8zRXDHT
https://dl.doubtnut.com/l/_TNr8g23yIunE
https://dl.doubtnut.com/l/_t958HqkA5fZB


B. 
x
2

+
x2

6
+ c

C. 
x
2

-
3
4

log(2x + 3) + c

D. 
x
2

+
4
3

log(2x + 3) + c

Answer: C

Watch Video Solution

15. If ∫
3x + 4
5x - 7

dx = ax + b. log(5x - 7) + c, then (a, b) ≡

A. 
5
3

,
25
41

B. 
3
5

,
41
25

C. (3, 41)

D. (5, 25)

( )
( )

https://dl.doubtnut.com/l/_t958HqkA5fZB
https://dl.doubtnut.com/l/_zGD46Zdg87oF


Answer: B

Watch Video Solution

16. If ∫
8x + 7
3x - 2

dx = px - q. log(3x - 2) + r,  then (p, q) ≡

A. 
8
3

,
37
9

B. (24, 37)

C. 
37
9

,
8
3

D. (8, 37)

Answer: A

Watch Video Solution

( )

( )

https://dl.doubtnut.com/l/_zGD46Zdg87oF
https://dl.doubtnut.com/l/_R9jHlQIlDlEs


17. ∫
x2 - 2

x2 + 1
dx =

A. 3x + tan - 1x + c

B. x - 2tan - 1x + c

C. x - 2tan - 1x + c

D. x3 + tan - 1x + c

Answer: B

Watch Video Solution

18. ∫
x2 - 3

x2 + 1
dx = ….

A. 4x + tan - 1x + c

B. x + 4tan - 1x + c

https://dl.doubtnut.com/l/_wvBqsbZhgnKu
https://dl.doubtnut.com/l/_zgo5N5LdmmNJ


C. x - 4tan - 1x + c

D. x4 - tan - 1x + c

Answer: C

Watch Video Solution

19. If ∫
x3 + 4x2 - 7x + 5

x + 2
dx =

x3

3
+ ax2 - 11x + blog(x + 2) + c,

then (a, b) ≡

A. ( - 1, 27)

B. (1, - 27)

C. ( - 1, - 27)

D. (1, 27)

Answer: D

https://dl.doubtnut.com/l/_zgo5N5LdmmNJ
https://dl.doubtnut.com/l/_k11CqhDwOFAy


Watch Video Solution

20. If ∫
3x2 + 4x - 2

x - 1
dx =

3x2

2
+ ax + blog(x - 1) + c then (a,b)=

A. (7, 5)

B. (5, 7)

C. ( - 7, - 5)

D. ( - 5, - 7)

Answer: A

Watch Video Solution

21. ∫ (2x + 1)√x + 1dx =

https://dl.doubtnut.com/l/_k11CqhDwOFAy
https://dl.doubtnut.com/l/_mDS2cx7oSYac
https://dl.doubtnut.com/l/_vJ9hIsmhaoqN


A. 
4
5

(x + 1)3 / 2 -
2
3

(x + 1)5 / 2 + c

B. 
4
5

(x + 1)5 / 2 -
2
3

(x + 1)3 / 2 + c

C. 
2
5

(x + 1)5 / 2 -
2
3

(x + 1)3 / 2 + c

D. 
5
2

(x + 1)2 / 5 +
3
2

(x + 1)2 / 3 + c

Answer: B

Watch Video Solution

22. ∫ (x + 1)√2x - 1dx =

A. 
1

10
(2x - 1)3 / 2 +

1
2

(2x - 1)5 / 2 + c

B. 
1

10
(2x - 1)5 / 2 -

1
2

(2x - 1)3 / 2 + c

C. 
1

10
(x + 1)5 / 2 +

1
2

(x + 1)3 / 2 + c

D. 
1

10
(x + 1)5 / 2 +

1
2

(x + 1)3 / 2 + c

https://dl.doubtnut.com/l/_vJ9hIsmhaoqN
https://dl.doubtnut.com/l/_YL8hl1HGTHwE


Answer: C

Watch Video Solution

23. ∫
3x - 1

√2x + 3
dx =

A. 
1
2√2x + 3 -

11
2 (2x + 3)3 / 2 + c

B. 
1
2 (2x + 3)3 / 2 -

11
2 (2x + 3)1 / 2 + c

C. 3√2x + 3 - 11(2x + 3)3 / 2 + c

D. 
1
3 (2x + 3)3 / 2 +

11
3 (2x + 3)1 / 2 + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YL8hl1HGTHwE
https://dl.doubtnut.com/l/_yiUrj7hODvHR


24. ∫
2x + 3

√3x - 1
dx =

A. 
4

27√3x - 1 +
22
9 (3x - 1)3 / 2 + c

B. 
4

27 (3x - 1)3 / 2 -
22
9 √3x - 1 + c

C. 
4

27 (3x - 1)3 / 2 +
22
9 √3x - 1 + c

D. 
4

27 (2x + 3)3 / 2 +
22
9 √2x + 3 + c

Answer: C

Watch Video Solution

25. ∫
1

x√x - 1
dx =

A. 2cot - 1√x - 1 + c

B. 2tan - 1√x - 1 + c

https://dl.doubtnut.com/l/_TyuZG5skUOG8
https://dl.doubtnut.com/l/_lRQQDaoAszCZ


C. sec - 1x + c

D. sec - 1 √x + c

Answer: B

Watch Video Solution

( )

26. If ∫
1

(x + 1)√x - 1
dx = k. tan - 1 x - 1

2
+ c  

then k =

A. 
1

√2

B. 
1
2

C. 2√2

D. √2

√

https://dl.doubtnut.com/l/_lRQQDaoAszCZ
https://dl.doubtnut.com/l/_POdrK9Z5gSTX


Answer: D

Watch Video Solution

27. if ∫
dx

(2x + 1)√x - 2
dx = √a. tan - 1√b(x - 2) + c then

A. a < b

B. a > b

C. a = b

D. ab = 100

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_POdrK9Z5gSTX
https://dl.doubtnut.com/l/_iTtw7JzYExLm


28. ∫
(1 + x)2

x 1 + x2
dx =

A. logx + c

B. (logx) tan - 1x + c

C. 2logx + tan - 1x + c

D. logx + 2tan - 1x + c

Answer: D

Watch Video Solution

( )

( )

29. ∫
(1 - x)2

x 1 + x2
dx =

A. 2logx - tan - 1x + c

( )

https://dl.doubtnut.com/l/_1oS2TQrZFWgf
https://dl.doubtnut.com/l/_3KUqAfUbsWvw


B. logx - 2tan - 1x + c

C. logx - tan - 1x + c

D. 2logx - tan - 1x + c

Answer: B

Watch Video Solution

30. ∫
x3 + 1 2

x2 dx =

A. 
x5

5
- x2 +

1
x

+ c

B. x2 -
x5

5
+ x + c

C. 
x5

5
+ x2 -

1
x

+ c

D. tan - 1 x2 + c

( )

( )

https://dl.doubtnut.com/l/_3KUqAfUbsWvw
https://dl.doubtnut.com/l/_BwEXv222ctwR


Answer: C

Watch Video Solution

31. ∫
sinx

cos2x
dx =

A. secx

B. cosx

C. tanx

D. cotx

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BwEXv222ctwR
https://dl.doubtnut.com/l/_RKj4PY6Y961x


32. ∫
cosx

sin2x
dx =

A. secx

B. -cotx

C. tanx

D. cotx

Answer: B

Watch Video Solution

33. ∫cosx ∘dx =

A. sinx ∘

B. sinx

https://dl.doubtnut.com/l/_TitjnIvYIFi3
https://dl.doubtnut.com/l/_ckRQX1DKyPTL


C. 
180
π

sin
π

180
x

D. 
180
π

sinx

Answer: C

Watch Video Solution

( )

34. ∫ (sinx - cosx)2dx =

A. x - 0.5cos2x

B. x + cos2x + c

C. x + 0.5sin2x

D. x + 0.5cos2x

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ckRQX1DKyPTL
https://dl.doubtnut.com/l/_GHG1cjNoP1OM


Watch Video Solution

35. ∫ sin4x - cos4x dx =

A. sinx - cosx

B. sinx. cosx + c

C. - sinx. cosx + c

D. cos2x + c

Answer: C

Watch Video Solution

( )

36. ∫ sin2.
x
2 - cos2.

x
2

2
+ 4sin2.

x
2 . cos2.

x
2 dx =[( ) ]

https://dl.doubtnut.com/l/_GHG1cjNoP1OM
https://dl.doubtnut.com/l/_9KCyNl2K6yHG
https://dl.doubtnut.com/l/_Pb7tdKu0ZSBJ


A. 0

B. 1

C. x

D. c

Answer: C

Watch Video Solution

37. ∫
cos2x

sinx + cosx
dx =

A. secx - cosx

B. sinx - cosx

C. sinx + cosx + c

D. secx + tanx + c

https://dl.doubtnut.com/l/_Pb7tdKu0ZSBJ
https://dl.doubtnut.com/l/_mbpcIfWnZnWI


Answer: C

Watch Video Solution

38. ∫
cos2x

sin2x. cos2x
dx =

A. tanx - cotx

B. cotx - tanx

C. tanx + cotx

D. - (tanx + cotx)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mbpcIfWnZnWI
https://dl.doubtnut.com/l/_b6zoRbaFt4YB


39. ∫
1

cos2x + sin2x
dx =

A. sinx + c

B. cosx + c

C. tanx

D. cotx

Answer: C

Watch Video Solution

40. 4∫
sin3x + cos3x

sin22x
dx =

A. secx - cosecx - c

B. secx + cosx + c

https://dl.doubtnut.com/l/_bqbBwsBBiUZN
https://dl.doubtnut.com/l/_8lCf4d9khNqL


C. sinx - cosx + c3

D. secx - tanx + c

Answer: A

Watch Video Solution

41. ∫sin24xdx =

A. 
x
2

+
sin8x

16
+ c

B. 
x
2

-
sin8x

16
- c

C. cos24x + c

D. 4sin8x + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8lCf4d9khNqL
https://dl.doubtnut.com/l/_vPaBisn4cW4D


42. ∫cos25xdx =

A. sin25x + c

B. 
x
2

-
sin10x

2
+ c

C. 
x
2

+
sin10x

20
+ c

D. -5sin10x + c

Answer: C

Watch Video Solution

43. ∫ sin26x - cos27x dx =

A. c -
sin12x

24
-

sin14x
28

( )

https://dl.doubtnut.com/l/_vPaBisn4cW4D
https://dl.doubtnut.com/l/_ZYBw3iLHadXI
https://dl.doubtnut.com/l/_R3oy7Ge0yw1D


B. 
cos6x

6
-

sin7x
7

+ c

C. 
cos12x

12
-

sin14x
14

D. 6sin12x + 7sin14x + c

Answer: A

Watch Video Solution

44. ∫sin2x. cos2xdx =

A. 
x
8

+
sin4x

32
+ c

B. -
x
8

-
sin4x

32
+ c

C. 
sin4x

32
-
x
8

+ c

D. 
x
8

-
sin4x

32
+ c

Answer: D

https://dl.doubtnut.com/l/_R3oy7Ge0yw1D
https://dl.doubtnut.com/l/_EUGCEjfWYyln


Watch Video Solution

45. ∫
1

sin2x. cos2x
dx =

A. tanx + cotx

B. tanx - cotx

C. secx + tanx

D. 2cot2x + c

Answer: B

Watch Video Solution

46. If ∫sin4xdx = ax + bsin2x + csin4x + d,  then (a, b, c) ≡

https://dl.doubtnut.com/l/_EUGCEjfWYyln
https://dl.doubtnut.com/l/_uL9RLBIx30au
https://dl.doubtnut.com/l/_lcQ3bWNYIqU4


A. 
3
8

,
-1
4

,
1
32

B. 
-3
8

,
1
4

,
1
16

C. (1, 1, 0)

D. (1, 0, 1)

Answer: A

Watch Video Solution

( )
( )

47. ∫ sin4x + cos4x dx =

A. 
3x
4

-
sin4x

16
+ c

B. 
sin4x

16
-

3x
4

+ c

C. 
3x
4

+
sin4x

16

D. 4sin3x + 4cos3x + c

( )

https://dl.doubtnut.com/l/_lcQ3bWNYIqU4
https://dl.doubtnut.com/l/_TZeDO4GwuHh2


Answer: C

Watch Video Solution

48. ∫ tan2 x
2

dx =

A. 
1
2

tan
x
2

+ c

B. 2tan
x
2

- x + c

C. sec
x
2

+ c

D. 2sec
x
2

+ c

Answer: B

Watch Video Solution

( )
( )
( )

( )
( )

https://dl.doubtnut.com/l/_TZeDO4GwuHh2
https://dl.doubtnut.com/l/_Ecav25EfqYSD
https://dl.doubtnut.com/l/_D3amTqB437dL


49. ∫cot2 x
3

dx =

A. x + 3cot
x
3

B. x - 3cot
x
3

C. x + 3cotx

D. -x - 3cot
x
3

Answer: D

Watch Video Solution

( )
( )
( )

( )

50. ∫ (secx + tanx)2dx =

A. x + secx + tanx

B. 2(secx + tanx) - x

https://dl.doubtnut.com/l/_D3amTqB437dL
https://dl.doubtnut.com/l/_CWND4rKKSKpG


C. 2(secx - tanx) + x

D. 2(secx - tanx) + x

Answer: B

Watch Video Solution

51. ∫
1

1 + cosx
dx =

A. tan
x
2

+ c

B. 2tan
x
2

+ c

C. -cot
x
2

+ c

D. -2cot
x
2

+ c

Answer: A

( )
( )
( )
( )

https://dl.doubtnut.com/l/_CWND4rKKSKpG
https://dl.doubtnut.com/l/_kLcEAHQwmm1W


Watch Video Solution

52. ∫
1

1 - cos3x dx =

A. 3cot
3x
2 + c

B. 
1
3cot

3x
2 + c

C. -
1
3 cot

3x
2 + c

D. -
1
3 cos

3x
2 + c

Answer: C

Watch Video Solution

( )
( )
( )
( )

53. ∫
1

1 - sinx
dx

https://dl.doubtnut.com/l/_kLcEAHQwmm1W
https://dl.doubtnut.com/l/_Vk8rA5OhTC89
https://dl.doubtnut.com/l/_zMcAkt3pKJY8


A. secx + tanx

B. secx - tanx

C. cosx + cotx

D. cosx - cotx

Answer: A

Watch Video Solution

54. ∫√1 - cosxdx = ?

A. -2cos
x
2

+ c

B. -2√2cos
x
2

+ c

C. -√2cos
x
2

+ c

( )
( )

( )

https://dl.doubtnut.com/l/_zMcAkt3pKJY8
https://dl.doubtnut.com/l/_57YyXiqEK7tq


D. -2√2sin
x
2

+ c

Answer: B

Watch Video Solution

( )

55. ∫√1 + cos5xdx =

A. 
2
5

sin
5x
2

+ c

B. 
√2

5
sin

5x
2

+ c

C. 
2√2

5
sin

5x
2

+ c

D. 
2√2

5
cos

5x
2

+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_57YyXiqEK7tq
https://dl.doubtnut.com/l/_hRl11E3rB4cO


56. ∫√1 + sinxdx

A. 2 sin.
x
2

- cos.
x
2

B. 2 sin.
x
2

+ cos.
x
2

C. 2 cos.
x
2

- sin.
x
2

D. √2 cos.
x
2

- sin.
x
2

+ c

Answer: A

Watch Video Solution

( )
( )
( )

( )

57. ∫√1 - sin7xdx =

A. sin.
7x
2

- cos.
7x
2

https://dl.doubtnut.com/l/_hRl11E3rB4cO
https://dl.doubtnut.com/l/_UzD8jCC2x78o
https://dl.doubtnut.com/l/_aoXHNIFDGst3


B. 
2
7

sin.
7x
2

+ cos.
7x
2

C. 
7
2

sin.
7x
2

- cos.
7x
2

D. 
2
7

cos.
7x
2

- sin.
7x
2

Answer: B

Watch Video Solution

( )
( )
( )

58. ∫
tanx

secx + tanx
dx =

A. secx - tanx + c

B. x + secx + tanx

C. x - secx + tanx

D. x + secx - tanx

https://dl.doubtnut.com/l/_aoXHNIFDGst3
https://dl.doubtnut.com/l/_Dr8X5WIiqMmD


Answer: D

Watch Video Solution

59. ∫sin4x. sin7xdx =

A. 
sin3x

6
-

sin11x
22

B. 
sin3x

6
+

sin11x
22

C. 
cos3x

6
-

cos11x
22

D. 
cos4x. cos7x

28

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Dr8X5WIiqMmD
https://dl.doubtnut.com/l/_IHUE7eVwxaXv


60. ∫6x√2x2 + 5dx =

A. 24x 2x2 + 5 - 1 / 2

B. 2x2 + 5 3 / 2

C. 1.5 2x2 + 5 3 / 2

D. 12 2x2 + 5 3 / 2

Answer: B

Watch Video Solution

( )
( )

( )
( )

61. ∫
4x + 6

√x2 + 3x - 2
dx =

A. 2√x2 + 3x - 2

B. 4√x2 + 3x - 2

https://dl.doubtnut.com/l/_WbI9ItyTX0Hn
https://dl.doubtnut.com/l/_dMfDxJ3GNwcT


C. √x2 + 3x - 2

D. x2 + 3x - 2 3 / 2

Answer: B

Watch Video Solution

( )

62. ∫5 2x2 + 3x - 4 2 / 3(4x + 3)dx =

A. 3 2x2 + 3x - 4 - 1 / 3

B. √2x2 + 3x - 4

C. 3 2x2 + 3x - 4 5 / 3

D. 2x2 + 3x - 4 2 / 3

Answer: C

Watch Video Solution

( )

( )

( )
( )

https://dl.doubtnut.com/l/_dMfDxJ3GNwcT
https://dl.doubtnut.com/l/_3Bc3F60fVPOF


63. ∫
1

x + x - 3 dx =

A. tan - 1 x2 + c

B. log x + x - 3 + c

C. 
-1

1 + x4 + c

D. 0.25log 1 + x4 + c

Answer: D

Watch Video Solution

( )
( )

( )

64. ∫
7 - 3√x 5 / 2

√x
dx =

A. 
-4
21 7 - 3√x 7 / 2

( )

( )

https://dl.doubtnut.com/l/_3Bc3F60fVPOF
https://dl.doubtnut.com/l/_t2F1iByMGs4A
https://dl.doubtnut.com/l/_tH0tIIwWsNJK


B. 
5
2

7 - 3√x 3 / 2

C. 
21
4

7 - 3√x 7 / 2

D. 
21
4

(7 - 3x)2 / 7

Answer: A

Watch Video Solution

( )

( )

65. ∫
1

√x + x
dx =

A. log
√x

1 + √x

B. log 1 + √x + c

C. 2log 1 + √x

D. 
2
3
x3 / 2 -

x2

2
+ c

( )
( )

( )

https://dl.doubtnut.com/l/_tH0tIIwWsNJK
https://dl.doubtnut.com/l/_VRm4sb5BWl2y


Answer: C

Watch Video Solution

66. `int(1-cossqrtx)/(sqrtx)dx=

A. √x - 2sin√x

B. 2 √x - sin√x + c

C. 2√x + sin√x

D. √x + 2sin√x + c

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_VRm4sb5BWl2y
https://dl.doubtnut.com/l/_d0kWu6ZGtMff


67. ∫5sin3 / 2xcosxdx =

A. 5sin5 / 2x + c

B. 2sin5 / 2x + c

C. 
5
2

sin5 / 2x + c

D. 
2
5

sin5 / 2x + c

Answer: B

Watch Video Solution

68. ∫ 1 + tan3x sec2xdx =

A. tanx + 0.25tan4x

B. -cotx - 0.25cot4x + c

( )

https://dl.doubtnut.com/l/_eqywpl8KFoC3
https://dl.doubtnut.com/l/_kDNlbYpFoYN8


C. secx + 0.25sec4x + c

D. x + 0.25sec4x + c

Answer: A

Watch Video Solution

69. ∫
1 - tanx
1 + tanx

dx =

A. sec2 π
4

- x + c

B. log(secx - sinx) + c

C. log(sinx + cosx) - k

D. log sec
π
4

- x + c

Answer: C

h id l i

( )

[ ( )]

https://dl.doubtnut.com/l/_kDNlbYpFoYN8
https://dl.doubtnut.com/l/_D4TOeJPnfqys


Watch Video Solution

70. ∫√1 - sinxdx =

A. 2√1 - sinx + c

B. 2√1 + sinx + c

C. 2 sin
x
2

- cos
x
2

+ c

D. x + cosx + c

Answer: B

Watch Video Solution

[ ( ) ( )]

71. ∫
2tanx

2 + 3tan2x
dx =

A. 
1
3

log 2 + 3tan2x( )

https://dl.doubtnut.com/l/_D4TOeJPnfqys
https://dl.doubtnut.com/l/_zwUyRquaoQtH
https://dl.doubtnut.com/l/_bpsc4S2VXH0h


B. log 2cos2x + 3sin2x + c

C. tan - 1 tan2x + c

D. 2x + 3secx + c

Answer: A

Watch Video Solution

( )
( )

72. ∫6xex
2
dx =

A. 3e2x

B. 2ex
2

C. 3ex
2

D. x. ex
2

Answer: C

https://dl.doubtnut.com/l/_bpsc4S2VXH0h
https://dl.doubtnut.com/l/_VTz9qQcMIShm


Watch Video Solution

73. ∫
ex

sin2 ex
dx =

A. cot e - x + c

B. -cot ex + c

C. tan e - x + c

D. cos2 ex + c

Answer: B

Watch Video Solution

( )

( )
( )

( )
( )

74. ∫
ex(1 + x)

cos2 xex
dx =

( )

https://dl.doubtnut.com/l/_VTz9qQcMIShm
https://dl.doubtnut.com/l/_4WBS2cvC0MBD
https://dl.doubtnut.com/l/_3A8WJbeTlirH


A. extan xex

B. extan xe - x

C. -cot xex

D. tan xex

Answer: D

Watch Video Solution

( )
( )

( )
( )

75. ∫
1

1 + e - xdx =

A. x + log 1 + ex + c

B. log 1 + ex - c

C. - log 1 + e - x + e

D. x - ex + c

( )
( )
( )

https://dl.doubtnut.com/l/_3A8WJbeTlirH
https://dl.doubtnut.com/l/_ikiV3KXHxvkT


Answer: C

Watch Video Solution

76. ∫
e2x + 1

e2x - 1
dx =

A. log ex - e - x + α

B. log ex + e - x + β

C. log e2x - 1 + x + γ

D. log e2x - 1 + δ

Answer: A

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_ikiV3KXHxvkT
https://dl.doubtnut.com/l/_rrZlyPVCLgWI


77. ∫
1

xsin2(logx)
dx =

A. tan(logx)

B. -cot(logx)

C. cos(2logx) + c

D. - log(cotx)

Answer: B

Watch Video Solution

78. ∫
9(2 - 3logx)2

x
dx =

A. (3 - 2logx)3

B. - (3logx - 2)3

https://dl.doubtnut.com/l/_7HM5ivWELHIu
https://dl.doubtnut.com/l/_ue0zd09tV0Cl


C. - (2 - 3logx)3

D. (2x - 3logx)3

Answer: C

Watch Video Solution

79. ∫
1

2x + log xx
dx =

A. (log2). log(logx)

B. log(2 + logx)

C. log(2. logx)

D. 2 + log(logx)

Answer: B

( )

https://dl.doubtnut.com/l/_ue0zd09tV0Cl
https://dl.doubtnut.com/l/_hLTxDFzCaPLv


Watch Video Solution

80. ∫
dx

x. logx. log(logx)
=

A. (logx)3 + c

B. 3log(logx) + c

C. log[log(logx)] + c

D. (x. logx)2 + c

Answer: C

Watch Video Solution

81. ∫
tan - 1x

1 + x2 dx =

A. log tan - 1x + c( )

https://dl.doubtnut.com/l/_hLTxDFzCaPLv
https://dl.doubtnut.com/l/_ZflnCDDJP1kQ
https://dl.doubtnut.com/l/_Kn9E86JzaF1I


B. 0.5 tan - 1x 2 + c

C. log 1 + x2 + c

D. tan - 1(logx) + c

Answer: B

Watch Video Solution

( )
( )

82. ∫
xsin - 1 x2

√1 - x4
dx =

A. 2sin - 1 x2 + c

B. 0.25sin - 2 x2 + c

C. 0.25 sin - 1x2 2
+ c

D. 2xsin - 1 x2 + c

( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_Kn9E86JzaF1I
https://dl.doubtnut.com/l/_996TZGrYkAjj


Answer: C

Watch Video Solution

83. ∫
6x2tan - 1 x3

1 + x6 dx =

A. tan - 1x3 2
+ c

B. tan - 2 x3 + c

C. log tan - 1x3 + c

D. tan - 1(logx)3 + c

Answer: A

Watch Video Solution

( )

( )
( )

( )

https://dl.doubtnut.com/l/_996TZGrYkAjj
https://dl.doubtnut.com/l/_Ha20BHES6jcR


84. if x = ϕ(t) and ∫ f(x)dx = F(x) then ∫ f(ϕ(t))ϕ′ (t)dt =  (A) ϕ(x)

(B) F(t) (C) F(x) (D) F ′ (x)

A. ϕ(x)

B. F(t)

C. F(x)

D. F′ (x)

Answer: C

Watch Video Solution

85. If ∫ f(x)dx = F(x),  then ∫
f(x)
F′ (x)

dx =

A. x + c

https://dl.doubtnut.com/l/_FPjWsRYtrTmZ
https://dl.doubtnut.com/l/_1OTnqecurdEd


B. logf(x) + c

C. logF(x) + c

D. ef ( x ) + c

Answer: A

Watch Video Solution

86. If ∫ f(x)dx = F(x),  then ∫
f(x)
F′ (x)

dx =

A. x + c

B. logf(x) + c

C. logF(x) + c

D. eF ( x ) + c

Answer: C

https://dl.doubtnut.com/l/_1OTnqecurdEd
https://dl.doubtnut.com/l/_DwhsjP4LWDgi


Watch Video Solution

87. ∫
1 - cos2x
1 + cos2x

dx =

A. sec2x + c

B. log(secx) + c

C. secx + tanx + c

D. log(tanx) + c

Answer: B

Watch Video Solution

√

88. ∫
1 + cos3x
1 - cos3x

dx =√

https://dl.doubtnut.com/l/_DwhsjP4LWDgi
https://dl.doubtnut.com/l/_6Zi1omn2W4kc
https://dl.doubtnut.com/l/_ScgJo8Tyko2c


A. cot
3x
2

+ c

B. tan
3x
2

+ c

C. 
2
3

log sin
3x
2

+ c

D. 3log(sin3x) + c

Answer: C

Watch Video Solution

( )
( )

[ ( )]

89. Evaluate: (i) ∫
1

√1 - cos2x
 dx (ii) ∫

1

√1 + cosx
 dx

A. log(sinx) + c

B. log(secx) + c

C. log(tanx) + c

https://dl.doubtnut.com/l/_ScgJo8Tyko2c
https://dl.doubtnut.com/l/_PYLGBabAKrNS


D. 
-1

√2
log cot

x
2

+ c

Answer: D

Watch Video Solution

[ ( )]

90. ∫
1

√1 + cos5x
dx =

A. 
√2

5
log(sin5x) + c

B. 
5
2

log(secx + tanx) + c

C. 5√2sec5x + tan5x + c

D. 
√2

5
log sec.

5x
2

+ tan.
5x
2

+ c

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_PYLGBabAKrNS
https://dl.doubtnut.com/l/_LCa2tatGVamu


91. ∫
1 + sinx
1 - sinx

dx =

A. tanx - secx + c

B. cosx + cotx + c

C. log sin
π
4

-
x
2

+ c

D. - log(1 - sinx) + c

Answer: D

Watch Video Solution

√

[ ( )]

92. ∫
1

√1 + sinx
dx =

A. 
2
3

(1 - sinx)3 / 2 + c

https://dl.doubtnut.com/l/_LCa2tatGVamu
https://dl.doubtnut.com/l/_oYO3xKSuoW6W
https://dl.doubtnut.com/l/_CsA0BAUNeFNn


B. 2 cos
x
2

- sin
x
2

+ c

C. -√2log tan
3π
8

-
x
4

+ c

D. √x - cosx + c

Answer: C

Watch Video Solution

[ ( ) ( )]
[ ( )]

93. ∫
tan(2 + 3logx)

x
dx =

A. 
1
3

log(sect) + c

B. 
1
3

log[sec(2 + 3logx)] + c

C. 
1
3

log[sin(2 + 3logx)] + c

D. 3sec(2 + 3logx) + c

https://dl.doubtnut.com/l/_CsA0BAUNeFNn
https://dl.doubtnut.com/l/_C7EzFf6SXhG6


Answer: B

Watch Video Solution

94. ∫
sec√x

√x
dx =

A. 2log(secx + tanx) + c

B. 2log(sect + tant) + c

C. 2log sec√x + tan√x + c

D. 2sec√x. tanx + c

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_C7EzFf6SXhG6
https://dl.doubtnut.com/l/_wu10FDpSgOnJ


95. If ∫ tan3xdx = alog(secx) + btan2x + c,  then (a, b) ≡

A. 
1
2

, 1

B. 1,
-1
2

C. - 1,
1
2

D. 1,
1
2

Answer: C

Watch Video Solution

( )
( )
( )
( )

96. If ∫ tan2x + tan4x dx =
1
n

tannx + c,  then n =

A. 2

( ) ( )

https://dl.doubtnut.com/l/_oqr7FxQmHN9f
https://dl.doubtnut.com/l/_r7omsBGILeuw


B. 3

C. 4

D. 6

Answer: B

Watch Video Solution

97. If ∫ tan3xsec3xdx =
1
m

secmx -
1
n

secnx + c,  then (m, n) ≡

A. (5, 3)

B. (3, 5)

C. 
1
5

,
1
3

D. (4, 4)

( ) ( )

( )

https://dl.doubtnut.com/l/_r7omsBGILeuw
https://dl.doubtnut.com/l/_pDgHpcFfYTUM


Answer: A

Watch Video Solution

98. ∫
sin(x - a)
sin(x + a)

dx =

A. xsin2a - cos2a. log[sin(x + a)] + c

B. xcos2a + sin2a. log[sin(x + a)] + c

C. xcos2a - sin2a. log[sin(x - a)] + c

D. xcos2a - sin2a. log[sin(x + a)] + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_pDgHpcFfYTUM
https://dl.doubtnut.com/l/_hmyTi8HAnx8D


99. If ∫
sinx

cos(x - a)
dx = kx + n. log[sec(x - a)] + p,  then (k, n) ≡

A. ( - sina, cosa)

B. (cosa, sina)

C. (sina, cosa)

D. (sina, - cosa)

Answer: C

Watch Video Solution

100. ∫
cos(x - a)
cos(x - b)dx =

A. xcos(a - b) + sin(b - a). log[sec(x - b)] + c

B. xsin(a - b) + cos(a - b). log[sec(x - b)] + c

https://dl.doubtnut.com/l/_Ru7QopGeRlwF
https://dl.doubtnut.com/l/_EEXyhsmQWJ3U


C. xcos(a - b) + sin(a - b). log[sec(x - b)] + c

D. xcos(b - a) + sin(b - a). log[sec(x - b)] + c

Answer: C

Watch Video Solution

101. If ∫
k

sin(x - a)sin(x - b)
dx = log

sin(x - a)
sin(x - b)

+ c,  then k =

A. sin(a - b)

B. cos(a - b)

C. sin(a + b)

D. cos(a - b)

Answer: A

W t h Vid S l ti

[ ]

https://dl.doubtnut.com/l/_EEXyhsmQWJ3U
https://dl.doubtnut.com/l/_ttHWcMle1Pqw


Watch Video Solution

102. If ∫
k

cos(x - a)cos(x - b)
dx = log

cos(x - a)
cos(x - b)

+ c, then k =

A. cos(a + b)

B. sin(a - b)

C. cos(a + b)

D. cos(a - b)

Answer: B

Watch Video Solution

[ ]

103. If ∫
k

sin(x - a)cos(x - b)
dx = log

sin(x - a)
cos(x - b)

+ c, then k =[ ]

https://dl.doubtnut.com/l/_ttHWcMle1Pqw
https://dl.doubtnut.com/l/_vQI8LYOptD78
https://dl.doubtnut.com/l/_rdVBfkvy0X8h


A. sin(a - b)

B. cos(a - b)

C. tan(a - b)

D. sec(a - b)

Answer: B

Watch Video Solution

104. If ∫
1

sin(x - a)cos(x - a)
dx = log[f(x)] + c, then f(x) =

A. sin(x - a)

B. cos(x - a)

C. tan(x - a)

D. cot(x - a)

https://dl.doubtnut.com/l/_rdVBfkvy0X8h
https://dl.doubtnut.com/l/_udVcl1mcey6m


Answer: C

Watch Video Solution

105. ∫
1

x2 + 6x + 10
dx =

A. 
1
2 log

x + 3
x - 3 + c

B. sin - 1(x + 3) + c

C. log x + √x + 3 + c

D. tan - 1(x + 3c

Answer: D

Watch Video Solution

[ ]

( )

https://dl.doubtnut.com/l/_udVcl1mcey6m
https://dl.doubtnut.com/l/_eH7AjRNpAqGA


106. If ∫
1

x2 - 2sinα + 1
dx = secα. tan - 1(mx + c), then

A. m = secα, c ∈ R

B. m = secα, c = tanα

C. m = secα, c = - tanα

D. m = tanα, c = secα

Answer: C

View Text Solution

107. ∫
1

4x2 + 4x - 15
dx =

A. 
1

16
log

2x - 3
2x + 5

+ c

B. 
1
4

log
2x + 3
2x - 5

+ c

[ ]
[ ]

https://dl.doubtnut.com/l/_RuPZh3OpKWJm
https://dl.doubtnut.com/l/_5IAj6GU6NnQL


C. 
1
4

log
5 + 2x
3 - 2x

+ c

D. 
1
4

tan - 1 2x - 3
2x + 5

+ c

Answer: A

Watch Video Solution

[ ]
[ ]

108. ∫
1

5 + 4x - x2dx =

A. 
1
6 log

x - 1
x - 5 + c

B. 
1
6 log

x - 5
x - 1 + c

C. 
1
6 log

1 + x
x - 5 + c

D. 
1
6 tan - 1 x - 5

x + 1 + c

Answer: C

[ ]
[ ]
[ ]

[ ]

https://dl.doubtnut.com/l/_5IAj6GU6NnQL
https://dl.doubtnut.com/l/_2G9u0bXkewel


Watch Video Solution

109. If ∫
cosx

9 - cos2x
dx = m. tan - 1[m. f(x)] + c,  then

A. m = 2√2, f(x) = cosx

B. m =
1

2√2
, f(x) = sinx

C. m =
1
2√2, f(x) = cosx

D. m = 2√2, f(x) = sinx

Answer: B

Watch Video Solution

110. ∫
1

3ex + 2e - xdx =

https://dl.doubtnut.com/l/_2G9u0bXkewel
https://dl.doubtnut.com/l/_o0SbmSOCEuA7
https://dl.doubtnut.com/l/_BD4wFArn5yxA


A. 
1

√6
tan - 1 3

2
ex + c

B. √6tan - 1 3ex

2
+ c

C. 
1

√6
tan - 1 2

3
ex + c

D. 6tan - 1 √6ex + c

Answer: A

Watch Video Solution

[√ ]
[ ]
[√ ]

( )

111. ∫
1

3 + 2cosx
dx =

A. 
2
5

tan - 1 tan(x /2)
5

+ c

B. 
5

√2
tan - 1 tan(x /2)

√2
+ c

[ ]
[ ]

https://dl.doubtnut.com/l/_BD4wFArn5yxA
https://dl.doubtnut.com/l/_BYIe5MQup0M1


C. 
√2

5
tan - 1 tan(x /2)

5
+ c

D. 
2

√5
tan - 1 tan(x /2)

√5
+ c

Answer: D

Watch Video Solution

[ ]
[ ]

112. ∫
3

4 - 5sinx
dx =

A. log
tan(x /2) - 2
tan(x /2) - 1

+ c

B. log
2tanx - 4
2tanx - 1

+ c

C. log
2tan(x /2) - 4
2tan(x /2) - 1

+ c

D. tan - 1 2tan.
x
2

- 5 + c

[ ]
[ ]
[ ]

( )

https://dl.doubtnut.com/l/_BYIe5MQup0M1
https://dl.doubtnut.com/l/_RSqPDDtrkqS7


Answer: C

Watch Video Solution

113. ∫
1

5 + 3cosx
dx

A. 4log(tanx + 5) + c

B. 4tan - 1(2tanx) + c

C. 
1
4

log
1
2

tanx + c

D. 
1
4

tan - 1 1
2

tanx + c

Answer: D

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_RSqPDDtrkqS7
https://dl.doubtnut.com/l/_oWNazX7lhm15


114. ∫
20

16 + 9sin2x
dx =

A. log 16 + 9sin2x + c

B. tan - 1 25 - 9cos2x + c

C. tan - 1 5
4 tanx + c

D. 
4
3 tan - 1(3sinx) + c

Answer: C

View Text Solution

( )
( )

( )

115. ∫
1

√4x2 - 4x + 3
dx =

A. 
1
2 log x -

1
2 - x2 - x +

3
4 + c[( ) √ ]

https://dl.doubtnut.com/l/_Kn6IF3bwhBmt
https://dl.doubtnut.com/l/_SS3BKMeUjqmJ


B. 
1
2

log x -
1
2

+ x2 - x +
3
4

+ c

C. 
1
2

log x +
1
2

- x2 + x -
3
4

+ c

D. 
1
2

tan - 1 4x2 - 4x + 3 + c

Answer: B

Watch Video Solution

[( ) √ ]
[( ) √ ]

( )

116. ∫
1

√7 - 6x - x2
dx =

A. sin - 1 x + 3
4 + c

B. log x + √7 - 6x - x2 + c

C. 
1
8

log
1 - x
7 + x

+ c

D. log √7 - 6x - x2 + c

( )
( )

( )
( )

https://dl.doubtnut.com/l/_SS3BKMeUjqmJ
https://dl.doubtnut.com/l/_Uo4ApIGwecoW


Answer: A

View Text Solution

117. ∫
sinx

√9 - sin2x
dx =

A. log sinx + √9 - sin2x + c

B. - log cosx - √9 - sin2x + c

C. log sinx + √8 + cos2x + c

D. - log √1 - sin2x + √9 - sin2x + c

Answer: D

View Text Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_Uo4ApIGwecoW
https://dl.doubtnut.com/l/_DMmxCWut8iAd


118. ∫
cosx

√17 - cos2x
dx =

A. log sinx - √17 - cos2x + c

B. log sinx + √16 + sin2x + c

C. log √17 - cos2x - √1 - cos2x + c

D. 4tan - 1(2cosx) + c

Answer: B

Watch Video Solution

( )
( )
( )

119. ∫
sin2x

√1 - sin4x
dx =

A. sin - 1(2sinx) + c

https://dl.doubtnut.com/l/_4LMHB5CjI7Li
https://dl.doubtnut.com/l/_WL643KpkRPyL


B. sin - 1 sin2x + c

C. - sin - 1 sinx

√2
+ c

D. log 1 - sin4x + c

Answer: B

View Text Solution

( )

( )
( )

120. ∫
ex

√e2x - 1
dx =

A. sin - 1 ex + c

B. log ex - √e2x - 1 + c

C. log ex + √e2x - 1 + c

D. sec - 1 ex + c

( )
( )
( )

( )

https://dl.doubtnut.com/l/_WL643KpkRPyL
https://dl.doubtnut.com/l/_aWcN8P3qbIZy


Answer: C

Watch Video Solution

121. ∫
dx

√e2x - 1
=

A. log x + √e2x - 1 + c

B. sin - 1 ex + c

C. log
ex - 1

ex + 1
+ c

D. sec - 1 ex + c

Answer: D

Watch Video Solution

( )
( )

(√ )
( )

https://dl.doubtnut.com/l/_aWcN8P3qbIZy
https://dl.doubtnut.com/l/_cb9qIsQJ5a5S
https://dl.doubtnut.com/l/_GLGuQvYoLx71


122. If ∫
3x + 2

2x2 + 2x + 1
dx = mlog 2x2 + 2x + 1 +

1
2

tan - 1u + c, then

A. m =
3
4

, u = x +
1
2

B. m =
3
4

, u = 2x + 1

C. m =
4
3

, u = 2x - 1

D. m = -
3
4

, u = x +
1
2

Answer: B

Watch Video Solution

( )

123. If ∫
x

√8 - 2x - x2
dx = asin - 1 x + 1

3
+ b√8 - 2x - x2 + c,

then

A. a = - 1, b = - 1

( )

https://dl.doubtnut.com/l/_GLGuQvYoLx71
https://dl.doubtnut.com/l/_onglmUwXZ8uP


B. a = - 2, b = 1

C. a = 2, b = - 1

D. a = 2, b = 1

Answer: A

Watch Video Solution

124. ∫
x2 + x + 2

x2 + 2x + 2
dx =

A. x + log x2 + 2x + 2 + tan - 1x + c

B. x - log x2 + 2x + 2 - tan - 1(x + 1) + c

C. x - log √x2 + 2x + 2 + tan - 1(x + 1) + c

D. tan - 1(x + 1)2 + c

( )
( )
( )

https://dl.doubtnut.com/l/_onglmUwXZ8uP
https://dl.doubtnut.com/l/_RkNTP45ph9dx


Answer: C

Watch Video Solution

125. Evaluate: ∫
x3

x2 + 1 3
dx

A. 3log x2 + 1 + c

B. x2 - log x2 + 1 + c

C. 
x2

2
- tan - 1x + c

D. 
x2

2
-

1
2

log x2 + 1 + c

Answer: D

Watch Video Solution

( )

( )
( )

( )

https://dl.doubtnut.com/l/_RkNTP45ph9dx
https://dl.doubtnut.com/l/_RUpMyjV8cYNB


126. If ∫
4cosx + 3sinx
2sinx + cosx

dx = ax + blog(2sinx + cosx) + c,  then

A. a = 2, b = - 1

B. a = 2, b = 1

C. a = b

D. a = - 2, b = 1

Answer: B

Watch Video Solution

127. If ∫
3ex + 4e - x

5ex + 6e - x = ax + blog 5e2x + 6 + c,  then

A. a =
2
3

, b = - 30

B. a =
3
2

, b =
-1
30

( )

https://dl.doubtnut.com/l/_NdkAccrrOGMj
https://dl.doubtnut.com/l/_BQc1F7edHzhS


C. a =
2
3

, b =
-1
30

D. a = -
3
2

, b = - 30

Answer: C

Watch Video Solution

128. ∫
1

1 + tanx
dx

A. x - log(sinx + cosx) + c

B. sec2 π
4

- x + c

C. x + log tan
π
4

+
x
2

+ c

D. 
x
2

+
1
2

log(sinx + cosx) + c

Answer: D

h id l i

( )
[ ( )]

https://dl.doubtnut.com/l/_BQc1F7edHzhS
https://dl.doubtnut.com/l/_cBxk6YyMPh4I


Watch Video Solution

129. If ∫ (x + 1)√2x - 1dx = a(2x - 1)5 / 2 + b(2x - 1)3 / 2 + c, then 

b
a =

A. 6

B. 5

C. 4

D. 3

Answer: B

Watch Video Solution

130. If ∫
1

√1 - 2x
dx = a(1 - 2x)3 / 2 + b√1 - 2x + c, then 

b
a

=

https://dl.doubtnut.com/l/_cBxk6YyMPh4I
https://dl.doubtnut.com/l/_oATFdp1GNRaM
https://dl.doubtnut.com/l/_gLxd2T9oI1sA


A. -3

B. -2

C. 3

D. 2

Answer: A

Watch Video Solution

131. ∫
1

(x + 1)√x - 1
dx =

A. 
1

2√2
tan - 1 x - 1

2 + c

B. √2tan - 1 x - 1
2

+ c

C. 
1

2√2
log x + √x - 1 + c

( )
√
( )

https://dl.doubtnut.com/l/_gLxd2T9oI1sA
https://dl.doubtnut.com/l/_vuxjWdgJdNOM


D. -√2log x + 1 + √x - 1 + c

Answer: B

Watch Video Solution

( )

132. ∫
1

x2 - 2x - 3
dx =

A. 4log[(x - 3)(x + 1)] + c

B. 
1
4 log

x + 1
x - 3 + c

C. 
1
4 log

x - 3
x + 1 + c

D. 
1

√2
tan - 1 x - 1

√2
+ c

Answer: C

Watch Video Solution

[ ]
[ ]

[ ]

https://dl.doubtnut.com/l/_vuxjWdgJdNOM
https://dl.doubtnut.com/l/_tKEQaeXyIYe6


133. If ∫
5x + 2

x2 - 3x + 2
dx = log (x - 2)m. (x - 1)n + c then (m, n) ≡

A. (12, - 7)

B. ( - 12, 7)

C. (12, 7)

D. ( - 7, 12)

Answer: A

Watch Video Solution

[ ]

134. If ∫
x + 1

x x2 - 4
dx = log (x - 2)m / 8. xn / 4. (x + 2)p / 8 + c,  then 

(m, n, p) ≡

( )
[ ]

https://dl.doubtnut.com/l/_tKEQaeXyIYe6
https://dl.doubtnut.com/l/_dymVHyFXsqqP
https://dl.doubtnut.com/l/_z794kDHEntI1


A. (3, - 1, 1)

B. (3, - 1, - 1)

C. (1, - 3, - 1)

D. ( - 3, 1, - 1)

Answer: B

View Text Solution

135. If ∫
x2 + 37

x4 - 3x2 - 28
dx = alog

x - √7

x + √7
+ btan - 1 x

2
+ c,  then 

(a, b) ≡

A. 
2

√7
,

2
3

B. 
√7

2
,

3
2

( ) ( )

( )
( )

https://dl.doubtnut.com/l/_z794kDHEntI1
https://dl.doubtnut.com/l/_CemgkpSN9kRI


C. 
√7

2
,

-3
2

D. 
2

√7
,

-3
2

Answer: D

View Text Solution

( )
( )

136. ∫ex[f(x) + f′ (x)]dx =

A. ex. f(x) + c

B. log[f(x)] + c

C. x. f(x) + c

D. x. ef ( x ) + c

Answer: A

https://dl.doubtnut.com/l/_CemgkpSN9kRI
https://dl.doubtnut.com/l/_XzaytHHaudWI


Watch Video Solution

137. ∫ex(x + 100)dx =

A. 100ex + c

B. xex + 100 + c

C. (x + 99)ex + c

D. 101xex + c

Answer: C

Watch Video Solution

138. ∫ex 1 + tanx + tan2x dx =

A. ex. sec2x + c

( )

https://dl.doubtnut.com/l/_XzaytHHaudWI
https://dl.doubtnut.com/l/_0XuUcTxD5nS3
https://dl.doubtnut.com/l/_Ln8hRtSdaFbJ


B. ex. secx + c

C. ex. tan2x + c

D. ex. tanx + c

Answer: D

Watch Video Solution

139. ∫ex 1 - cotx + cot2x dx =

A. e - x. cotx + c

B. -ex. cotx + c

C. ex. cosx + c

D. e - x. sinx + c

Answer: B

( )

https://dl.doubtnut.com/l/_Ln8hRtSdaFbJ
https://dl.doubtnut.com/l/_1qbH3AlsVuDV


Watch Video Solution

140. ∫ex
sinx + cosx

cos2x
dx =

A. ex. secx + c

B. ex. cosx + c

C. ex. tanx + c

D. ex. cotx + c

Answer: A

Watch Video Solution

141. ∫ex
sinx - cosx

sin2x
dx =

https://dl.doubtnut.com/l/_1qbH3AlsVuDV
https://dl.doubtnut.com/l/_NtWUwvHzrUnS
https://dl.doubtnut.com/l/_syxuUwmNuBcW


A. ex. secx + c

B. ex. cosecx + c

C. ex. tanx + c

D. ex. cotx + c

Answer: B

Watch Video Solution

142. Evaluate: ∫ex 
2 + sin2x
1 + cos2x

 dx

A. ex. secx + c

B. ex. cosx + c

C. ex. tanx + c

D. ex. cotx + c

( )

https://dl.doubtnut.com/l/_syxuUwmNuBcW
https://dl.doubtnut.com/l/_BvMLbjGeffJU


Answer: C

Watch Video Solution

143. ∫ex
2 - sin2x
1 - cos2x

dx

A. ex. secx + c

B. ex. cosx + c

C. ex. tanx + c

D. ex. cotx + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BvMLbjGeffJU
https://dl.doubtnut.com/l/_P1bq8XNWUrTR


144. ∫ex
1 + sinx
1 + cosx

dx = ?

A. ex / 2. tanx + c

B. ex. tan
x
2

+ c

C. -ex. cot
x
2

+ c

D. ex. sec2 x
2

+ c

Answer: B

Watch Video Solution

( )

( )
( )
( )

145. ∫ex
1 - sinx
1 - cosx

dx =

A. ex. cotx + c

https://dl.doubtnut.com/l/_2pLQG6Z9YLUf
https://dl.doubtnut.com/l/_LRGCWbOdPTuH


B. ex. tan
x
2

+ c

C. -ex. cot
x
2

+ c

D. ex. cot
x
2

+ c

Answer: C

Watch Video Solution

( )
( )

( )

146. ∫ [sin(logx) + cos(logx)]dx

A. xlog(sinx) + c

B. xlog(cosx) + c

C. xsin(logx) + c

D. xcos(logx) + c

https://dl.doubtnut.com/l/_LRGCWbOdPTuH
https://dl.doubtnut.com/l/_NEp5DkrQY0BE


Answer: C

Watch Video Solution

147. ∫
1

(logx)
-

1

(logx)2 dx = ?

A. ex. logx + c

B. x. logx + c

C. 
logx
x

+ c

D. 
x

logx
+ c

Answer: D

Watch Video Solution

{ }

https://dl.doubtnut.com/l/_NEp5DkrQY0BE
https://dl.doubtnut.com/l/_zh8CY8P5OwMz


148. ∫
xex

(1 + x)2dx

A. ex. (1 + x) - 1 + c

B. ex. (1 + x) - 2 + c

C. ex. (1 + x) - 3 + c

D. ex. 1 + x - 1 + c

Answer: A

Watch Video Solution

( )

149. If ∫ex
1 - x

1 + x2

2
dx = exf(x) + c,  then f(x) =

A. 1 + x2

( )

https://dl.doubtnut.com/l/_cqr6WiXNZ4ll
https://dl.doubtnut.com/l/_tFmVpoHHIjR5


B. 1 + x2 - 1

C. (1 + x) - 2

D. 1 + x2

Answer: B

Watch Video Solution

( )

150. If ∫ex
1 + x2

(1 + x)2dx = exf(x) + c, then f(x) =

A. 
x - 1
x + 1

B. 
1 + x
1 - x

C. 
1 - x
1 + x

D. 
x + 1
x - 1

https://dl.doubtnut.com/l/_tFmVpoHHIjR5
https://dl.doubtnut.com/l/_zYMOO8LD9huO


Answer: A

Watch Video Solution

151. ∫ [f(x) + xf′ (x)]dx =

A. x. f(x) + c

B. ex. f(x) + c

C. 
x
f(x)

+ c

D. log[x. f(x)] + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zYMOO8LD9huO
https://dl.doubtnut.com/l/_QwQfDSTyWDNp


152. ∫
x + sinx
1 + cosx

dx is equal to

A. xsin
x
2

+ c

B. xcos
x
2

+ c

C. xtan
x
2

+ c

D. xcot
x
2

+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

153. If ∫ u
dv
dx

dx = uv - ∫wdx,  then w =

A. 
du
dx

dv
dx

( )

https://dl.doubtnut.com/l/_iC5KduaHnVjN
https://dl.doubtnut.com/l/_jukA9YMG9KVI


B. v
du
dx

C. 
d
dx

(uv)

D. uv

Answer: B

Watch Video Solution

154. ∫xsinxdx =

A. sinx - xcosx + c

B. cosx - xsinx + c

C. 1 - cosx + c

D. does not exist

Answer: A

https://dl.doubtnut.com/l/_jukA9YMG9KVI
https://dl.doubtnut.com/l/_CtXaVm1lmGli


Watch Video Solution

155. ∫xcosxdx =

A. sinx + xcosx + c

B. xsinx + cosx + c

C. cosx - xsinx + c

D. does not exist

Answer: B

Watch Video Solution

156. ∫xtanxdx =

A. xtanx + cotx + c

https://dl.doubtnut.com/l/_CtXaVm1lmGli
https://dl.doubtnut.com/l/_d93SLljciq9Q
https://dl.doubtnut.com/l/_GuL3eoQanTqq


B. xlog(secx) + c

C. x - log(cosx) + c

D. does not exist

Answer: D

Watch Video Solution

157. ∫xtan2xdx =

A. does not exist

B. xtanx - log(cosx) + c

C. xtanx - log(secx) -
x2

2
+ c

D. x. sec2x - x + c

Answer: C

https://dl.doubtnut.com/l/_GuL3eoQanTqq
https://dl.doubtnut.com/l/_xjBacUgyOdnd


Watch Video Solution

158. ∫
x

1 + cos2x
dx

A. xtanx + log(sinx) + c

B. xtanx - log(secx) + c

C. 
x

tanx
+

1
2

log(secx) + c

D. x. sec2x + c

Answer: B

Watch Video Solution

159. If ∫
x

1 + sinx dx = logu - x(secx - tanx) + c,  then u =

https://dl.doubtnut.com/l/_xjBacUgyOdnd
https://dl.doubtnut.com/l/_ltIKhJRnNRST
https://dl.doubtnut.com/l/_VuqrSxgmPdM4


A. 
1

1 + sinx

B. 
1

1 - sinx

C. 1 - sinx

D. 1 + sinx

Answer: D

Watch Video Solution

160. If ∫x2sinxdx = 2 - x2 u + 2vx + c, then

A. u = - sinx, v = cosx

B. u = - cosx, v = sinx

C. u = cosx, v = sinx

D. u = - sinx, v = - cosx

( )

https://dl.doubtnut.com/l/_VuqrSxgmPdM4
https://dl.doubtnut.com/l/_iRfcRyOqJtvT


Answer: C

Watch Video Solution

161. If ∫x3. e - xdx = - e - x. f(x) + c,  then f(x) =

A. x3 - 3x2 + 6x - 6

B. -x3 + 3x2 - 6x + 6

C. x3 - 3x2 + 6x + 6

D. x3 + 3x2 + 6x + 6

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iRfcRyOqJtvT
https://dl.doubtnut.com/l/_tlehdPs1fZlL


162. if ∫xtan - 1xdx = utan - 1x -
x
2

+ c then u =

A. x2 -
1
2

B. 
x2

2
+

1
2

C. 1 - x2

D. x2 + 1

Answer: B

Watch Video Solution

163. ∫x2logxdx =

A. 
x3

9
(3logx - 1) + c

B. 
x2

4
(2logx - 1) + c

https://dl.doubtnut.com/l/_qt0oIEAAHc0T
https://dl.doubtnut.com/l/_jGeJjTCxwQqs


C. x(logx - 1) + c

D. 
x3

3
+

1
x

+ c

Answer: A

Watch Video Solution

164. If ∫x2. ex
3
dx = u. ex

3
+ c,  then u =

A. 
x3

3

B. 
x3 - 1

2

C. 
x2 - 1

2

D. 
1
3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jGeJjTCxwQqs
https://dl.doubtnut.com/l/_udcOntsGA9QI


Watch Video Solution

165. ∫ logxdx = ?

A. 
1
x

+ c

B. xlog
x
e

+ c

C. xlog
e
x

+ c

D. elogx + c

Answer: B

Watch Video Solution

( )
( )

166. ∫ (logx)2dx = ux + c,  then u =

A. 2

https://dl.doubtnut.com/l/_udcOntsGA9QI
https://dl.doubtnut.com/l/_9iKozSpmyDGN
https://dl.doubtnut.com/l/_FBO8rPupGO9v


B. (logx)2 - 2logx - 2

C. (logx)2 - 2logx + 2

D. ex(2logx - 1) + c

Answer: C

Watch Video Solution

167. If ∫sin - 1xdx = xsin - 1x + u + c,  then u =

A. √1 - x2

B. -√1 - x2

C. 2√1 - x2

D. -√x2 - 1

Answer: A

https://dl.doubtnut.com/l/_FBO8rPupGO9v
https://dl.doubtnut.com/l/_oLCw2dzgs0W2


Watch Video Solution

168. if ∫e√xdx = 2ue√x + c then u

A. √x - 1

B. √x + 1

C. 1 - √x

D. 2√x + 1

Answer: A

Watch Video Solution

169. ∫sin√xdx =

A. 2 cos√x - √xsin√x + c[ ]

https://dl.doubtnut.com/l/_oLCw2dzgs0W2
https://dl.doubtnut.com/l/_6be5q1iXCscd
https://dl.doubtnut.com/l/_t8Av9uYqnRg3


B. 2 sin√x + cos√x + c

C. 2 sin√x + √xcosx + c

D. 2 sin√x - √xcos√x + c

Answer: D

Watch Video Solution

[ ]

[ ]

[ ]

170. If ∫ tan - 1√xdx = utan - 1√x - √x + c,  then u =

A. x - 1

B. 1 - x

C. 1 + x

D. 2√x - 1

Answer: C

https://dl.doubtnut.com/l/_t8Av9uYqnRg3
https://dl.doubtnut.com/l/_oQAVbkpdn4xg


Watch Video Solution

171. If ∫exsinxdx =
u
2
ex + c, then `u=

A. sinx + cosx

B. sinx - cosx

C. cosx - sinx

D. - (sinx + cosx)

Answer: B

Watch Video Solution

172. ∫sec3xdx = ?

https://dl.doubtnut.com/l/_oQAVbkpdn4xg
https://dl.doubtnut.com/l/_FEPmzNEcd5WC
https://dl.doubtnut.com/l/_fraL0Pug3tY9


A. secx. tanx + log(secx + tanx) + c

B. cosx. cotx - log(cosx - cotx) + c

C. secx. tanx - log(secx + tanx) + c

D. cosx. cotx + log(cosx + cotx) + c

Answer: A

Watch Video Solution

173. If ∫esinx. sin2xdx = - 2u. esinx + c,  then u =

A. 1 + sinx

B. 1 + cosx

C. 1 - sinx

D. 1 - cosx

https://dl.doubtnut.com/l/_fraL0Pug3tY9
https://dl.doubtnut.com/l/_BqlvTTmXgyiH


Answer: C

Watch Video Solution

174. if ∫e2xsinxcosxdx =
u
8
e2x + c then u

A. sinx - cosx

B. sin2x - cos2x

C. sin2x + cos2x

D. cos2x - sin2x

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BqlvTTmXgyiH
https://dl.doubtnut.com/l/_vLe2kOc60jD5


MULTIPLE CHOICE QUESTIONS(PART - B : Mastering The BEST)

175. ∫√8 + 2x - x2dx =

A. 
x - 1

2 √8 + 2x - x2 + c

B. 
9
2

sin - 1 x - 1
3

+ c

C. 
x - 1

2 √8 + 2x - x2 +
9
2

sin - 1 x - 1
3

+ c

D. 
x - 1

2 √8 + 2x - x2 +
9
2

log x + √8 + 2x - x2 + c

Answer: C

Watch Video Solution

( )
( )

( )

1. Jack says that ∫2sinxcosxdx equals ′ - cos2x + c′  while Jill

claims that it is ′ sin2x + c'. Who is right?

https://dl.doubtnut.com/l/_OXXJHty6xER2
https://dl.doubtnut.com/l/_D89iOKsLBSgv


A. Jack

B. Jill

C. both

D. none of them

Answer: C

Watch Video Solution

2. ∫
x + 1
x - 2

dx =

A. 3x + log(x - 2) + c

B. x + 3log(x - 2) + c

C. 3 + xlog(x - 2) + c

D. x3 + log(x - 2) + c

https://dl.doubtnut.com/l/_D89iOKsLBSgv
https://dl.doubtnut.com/l/_lSHpsErC1pbN


Answer: B

Watch Video Solution

3. If ∫
2x + 5
5x + 1

dx = ax + blog(5x + 1) + c, then (a, b) ≡

A. 
2
5

,
23
25

B. 
5
2

,
23
2

C. 
-2
5

,
2

23

D. 
2
5

, -
2

23

Answer: A

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_lSHpsErC1pbN
https://dl.doubtnut.com/l/_M4r3KN73IS3a


4. ∫
1 + tan2x
1 + tanx

dx =

A. sinx + cosx + c

B. cosx - sinx + c

C. log(1 + tanx) + c

D. log(cosx + sinx) + c

Answer: C

Watch Video Solution

5. ∫
2ex

3 + 4ex
dx =

A. none of the following

B. 0.25log 3 + 4ex + c( )

https://dl.doubtnut.com/l/_IBpG0Kw79EBF
https://dl.doubtnut.com/l/_aInRMARNeufD


C. 0.50log 3 + 4ex + c

D. 0.75log 3 + 4ex + c

Answer: C

Watch Video Solution

( )
( )

6. Evaluate: ∫
1

ex + e - x  dx

A. log 1 + e2x + c

B. sin - 1 ex + c

C. -cot - 1 e2x + c

D. tan - 1 ex + c

Answer: D

Watch Video Solution

( )
( )
( )

( )

https://dl.doubtnut.com/l/_aInRMARNeufD
https://dl.doubtnut.com/l/_znV3gGRbxbim


7. ∫
dx

√e2x - 1
=

A. cos - 1 e2x + c

B. log ex + √1 - e2x + c

C. sin - 1 ex + c

D. log ex - √1 - e2x + c

Answer: C

Watch Video Solution

( )
( )

( )
( )

8. ∫
dx

√1 - e - 2x

https://dl.doubtnut.com/l/_znV3gGRbxbim
https://dl.doubtnut.com/l/_4Um17nEL23Jm
https://dl.doubtnut.com/l/_PMKvqDa8Hrdm


A. - sin - 1 ex + c

B. log ex + √e2x - 1 + c

C. 2√e2x - 1 + c

D. sec - 1 ex + c

Answer: B

Watch Video Solution

( )
( )

( )

9. ∫
ex - 1 + xe - 1

ex + xe
dx e- dx

A. 
1
e

. x + c

B. e.
1
x

+ c

C. log ex + ex + c

D. 
1
e

. log ex + xe + c

( )
( )

https://dl.doubtnut.com/l/_PMKvqDa8Hrdm
https://dl.doubtnut.com/l/_UPYYN3vQa4ds


Answer: D

Watch Video Solution

10. ∫
tan - 1x

1 + x2 dx =

A. log tan - 1x + c

B. - log(tanx) + c

C. 
1
2

tan - 1x 2 + c

D. 
1
2

tan - 2x + c

Answer: C

Watch Video Solution

( )

( )

https://dl.doubtnut.com/l/_UPYYN3vQa4ds
https://dl.doubtnut.com/l/_9KJmdnxsPlZC


11. ∫
aex + be - x

aex - be - x
dx =

A. 
1

be - x - aex
+ c

B. 
-1

aex + be - x + c

C. log aex - be - x + c

D. log aex + be - x + c

Answer: A

Watch Video Solution

( )

( )
( )

12. ∫
31 / x

x2 dx =

A. 
31 / x

log3e
+ c

https://dl.doubtnut.com/l/_SusMTbBhKY7F
https://dl.doubtnut.com/l/_n1wQ6Y0pUU5V


B. 
-31 / x

log3
+ c

C. 3 - 1 / xlog3 + c

D. -3 - xlog3 + c

Answer: B

Watch Video Solution

13. ∫
ax + bx

axbx
dx =

A. 
a - x

loga
+

b - x

logb
+ c

B. 
b - x

logb -
a - x

loga + c

C. 
-a - x

loga
-
b - x

logb
+ c

D. ax + bx log(ab) + c( )

https://dl.doubtnut.com/l/_n1wQ6Y0pUU5V
https://dl.doubtnut.com/l/_mKzOiuyojO1t


Answer: C

Watch Video Solution

14. Evaluate: (i) ∫
2x + 3x

5x
 dx (ii) ∫

ax + bx 2

ax b x
 dx

A. 

a
b

x
-

b
a

x

loga - logb
+ c

B. 

a
b

x
-

b
a

x

loga - logb
- 2x + c

C. 

a

b

x
-

b

a

x

logb - loga
+ 2x + c

D. 
a
b

x
-

b
a

x
+ c

Answer: B

( )

( ) ( )

( ) ( )

( ) ( )

( ) ( )

https://dl.doubtnut.com/l/_mKzOiuyojO1t
https://dl.doubtnut.com/l/_ljUo8YlOKr5p


Watch Video Solution

15. ∫23x.3xdx =

A. 23x.32x. (log2)(log3) + c

B. 23x - 1.32x - 1. (log2)(log3) + c

C. 23x.32x. log5 + c

D. 23x.32x. log72e + c

Answer: D

Watch Video Solution

16. ∫
2x3x

1 + (36)x
dx =

https://dl.doubtnut.com/l/_ljUo8YlOKr5p
https://dl.doubtnut.com/l/_mxNDVMdosI1B
https://dl.doubtnut.com/l/_bAbbbYuxpfXy


A. 
tan - 1 6x

log6
+ c

B. 
1

12
log

1 + 6x

1 - 6x
+ c

C. 
1

12
log

6x - 1

6x + 1
+ c

D. 
1

12
tan - 1 6x

log6
+ c

Answer: A

Watch Video Solution

( )

( )
( )

( )

17. ∫
√x

1 + x√x
dx -

A. 
3
2

tan - 1 √x + c

B. 
3
2

logx + c

( )

https://dl.doubtnut.com/l/_bAbbbYuxpfXy
https://dl.doubtnut.com/l/_8gf7KCj2qgB9


C. 
2
3

log 1 + x√x + c

D. 
2
3

tan - 1 √x + c

Answer: C

Watch Video Solution

( )

( )

18. ∫
√1 + √x

√x
dx =

A. √logx + 2√x + c

B. 
4
3 1 + √x 3 / 2 + c

C. 
1

√logx + 2√x
+ c

D. 
4

3 1 + √x 3 / 2
+ c

Answer: B

( )

( )

https://dl.doubtnut.com/l/_8gf7KCj2qgB9
https://dl.doubtnut.com/l/_O56SXTuZfSF1


Watch Video Solution

19. ∫
(1 + x)2

x 1 + x2
dx

A. x + 2log 1 + x2 + c

B. x + tan - 1x + c

C. x + 2xtan - 1x + c

D. x + log 1 + x2 + c

Answer: D

Watch Video Solution

( )

( )

( )

20. ∫ex+ exdx =

https://dl.doubtnut.com/l/_O56SXTuZfSF1
https://dl.doubtnut.com/l/_jJxOBC7D6iCd
https://dl.doubtnut.com/l/_9hzSGySjNSAa


A. exe
x

+ c

B. ex
2

+ c

C. ee
x

+ c

D. ee
e

+ c

Answer: C

Watch Video Solution

21. ∫e - logxdx is equal to

A. 
elogx

x
+ c

B. 
x2

2
+ c

C. logx + c

D. - logx + c

https://dl.doubtnut.com/l/_9hzSGySjNSAa
https://dl.doubtnut.com/l/_U934Z4VeW024


Answer: B

Watch Video Solution

22. ∫e - logxdx is equal to

A. -
x2

2
+ c

B. logx + c

C. e - x + c

D. - logx + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_U934Z4VeW024
https://dl.doubtnut.com/l/_cu8KbbGA0BgT


23. ∫e2x2 + logxdx =

A. 
1
4
e2x2

+ c

B. 
1
4
e4x + c

C. e4x+
1
x + c

D. 
1
4
e2logx + c

Answer: A

Watch Video Solution

24. ∫
tan(logx)

x
dx = ?

A. log(secx) + c

B. sec(logx) + c

https://dl.doubtnut.com/l/_qrJgRPhEhj1x
https://dl.doubtnut.com/l/_0s64qIyUU51e


C. log[sec(logx)] + c

D. log[log(secx)] + c

Answer: C

Watch Video Solution

25. The value of the integral ∫
log(x + 1) - logx

x(x + 1)
dx is

A. - log
x + 1
x

+ c

B. log[log(x + 1)] - log(logx) + x

C. -
1
2

log
x + 1
x

2
+ c

D. ex
1
x

-
1

x + 1
+ c

Answer: C

( )

[ ( )]
[ ]

https://dl.doubtnut.com/l/_0s64qIyUU51e
https://dl.doubtnut.com/l/_Pg47Vm2SX1gY


Watch Video Solution

26. ∫
logx
x dx = ?

A. log(logx) + c

B. 
1
2 (logx)2 + x

C. 2logx + c

D. logx + c

Answer: B

Watch Video Solution

27. ∫
(logx)2

x
dx.

A. 
1
3

log x3 + c( )

https://dl.doubtnut.com/l/_Pg47Vm2SX1gY
https://dl.doubtnut.com/l/_AxFmr5VpRwz4
https://dl.doubtnut.com/l/_Q6zZpIbqaRFR


B. 3logx + c

C. 3e - xlogx + c

D. 
1
3

(logx)3 + c

Answer: D

Watch Video Solution

28. ∫
logx

x2 dx = ?

A. logx. log(logx) + c

B. 
x

1 + logx + c

C. -
1 + logx

x + c

D. e - x(x - logx) + c

Answer: C

https://dl.doubtnut.com/l/_Q6zZpIbqaRFR
https://dl.doubtnut.com/l/_siswigaxZnnX


Watch Video Solution

29. ∫
1
x

log
1
x

dx =

A. log(logx) + c

B. -
1
2

(logx)2 + c

C. 2logx + c

D. - logx + c

Answer: B

Watch Video Solution

( )

30. Evaluate the following integrals: 

∫
log(logx)

x
dx

https://dl.doubtnut.com/l/_siswigaxZnnX
https://dl.doubtnut.com/l/_kAWIxi5Z7lKp
https://dl.doubtnut.com/l/_kfCb43TF3AgN


A. logx[log(logx) - 1] + c

B. t(logt - 1) + c

C. 
1

logx
+ c

D. ex(x - 1) + c

Answer: A

Watch Video Solution

31. If ∫sin4xcos3xdx =
1
m

sinmx -
1
n

sinnx + c then (m, n) ≡

A. (5, 7)

B. (7, - 5)

C. ( - 5, 7)

D. (5, 4)

https://dl.doubtnut.com/l/_kfCb43TF3AgN
https://dl.doubtnut.com/l/_wqTSyKiUWar3


Answer: A

Watch Video Solution

32. ∫
sin3x

cos5x
dx

A. 3sec2xtan2x + c

B. 
1
3

tan3x + c

C. 
1
4

tan4x + c

D. 
1
3

tan4x + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wqTSyKiUWar3
https://dl.doubtnut.com/l/_ZX900LgCcU4t


33. ∫
cos2x

sin4x
=

A. 
1
3

tan3x + c

B. -
1
3

cot3x + c

C. -2cos2xcotx + c

D. -
1
3

cot3x + c

Answer: B

Watch Video Solution

34. ∫
1

√sinxcos3x
dx =

A. 2√sinxcosx + c

B. 2√sin2x + c

https://dl.doubtnut.com/l/_S9BxjhFxnvaG
https://dl.doubtnut.com/l/_GUuqSNQM1v8X


C. 
sec2x

2√tanx
+ c

D. 2√tanx + c

Answer: D

Watch Video Solution

35. ∫
√tanx

sin2x
dx =

A. 2√sin2x + c

B. √tanx + c

C. √sinx + cosx + c

D. √cotx + c

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_GUuqSNQM1v8X
https://dl.doubtnut.com/l/_j63SQmDH1U7j


Watch Video Solution

36. ∫ tanx√secxdx =

A. 
2
3

sec3 / 2x + c

B. 2√tanx + c

C. 2√secx + c

D. 2√cotx + c

Answer: C

Watch Video Solution

37. ∫
cos2x
cosx dx =

A. 2sinx + log(cosx - cotx) + c

https://dl.doubtnut.com/l/_j63SQmDH1U7j
https://dl.doubtnut.com/l/_UeZCi9cw5f8B
https://dl.doubtnut.com/l/_BXCokT9YBUQH


B. log(cosx - cotx) + 2cosx + c

C. log(secx + tanx) + 2cosx + c

D. log(secx + tanx) - 2sinx + c

Answer: B

Watch Video Solution

38. ∫
cos2x
cosx

dx =

A. 2sinx - log(secx + tanx) + c

B. 2sinx + log(cosx + cotx) + c

C. 2cosx - log(cosx - cotx) + c

D. 2cosx - log(cosx - cotx) + c

Answer: A

https://dl.doubtnut.com/l/_BXCokT9YBUQH
https://dl.doubtnut.com/l/_Bz26xDlGWutp


Watch Video Solution

39. ∫
cos2x

cosx - sinx
dx =

A. sinx + cosx + c

B. cosx - sinx + c

C. sinx - cosx + c

D. sinx. cosx + c

Answer: C

Watch Video Solution

40. ∫
sinx

√cos2x
dx =

https://dl.doubtnut.com/l/_Bz26xDlGWutp
https://dl.doubtnut.com/l/_sNpTEU5ZhWhH
https://dl.doubtnut.com/l/_4iEe6WMk2QPe


A. 
-1

√2
log √2cosx + √cos2x + c

B. 
-1

√2
log √2cosx + √2sin2x - 1 + c

C. 
-1

√2
log √2cosx + √1 - 2cos2x + c

D. 
-1

√2
sec - 1 2cos2x - 1 + c

Answer: A

Watch Video Solution

[ ]

[ ]
[ ]

( )

41. ∫
cosx

√cos2x
dx =

A. 
-1

√2
log √2sinx + √cos2x + c

B. 
-1

√2
sin - 1 √2cosx + c

C. 
1

√2
sin - 1 √2sinx + c

[ ]

( )

( )

https://dl.doubtnut.com/l/_4iEe6WMk2QPe
https://dl.doubtnut.com/l/_Y8r79BkRT9G9


D. 
1

√2
sin - 1 √2sinx + c

Answer: D

Watch Video Solution

( )

42. ∫
1

secx + tanxdx =

A. 
1

sec + c

B. secx + log(secx + tanx) + c

C. cosx + log(cosx - cotx) + c

D. log(secx) + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Y8r79BkRT9G9
https://dl.doubtnut.com/l/_GCiwP4oZf8Ns


43. ∫
1

tanx + cotx
dx =

A. log(secx + cosx) + c

B. 2cos2x + c

C. -
1
2

cos2x + c

D. 
1
2

sin2x + c

Answer: D

Watch Video Solution

44. ∫
1

sinxsin2xdx =

A. 
1
2 [log(secx + tanx) - cosx] + c

B. 
1
2 [log(secx + tanx) - secx] + c

https://dl.doubtnut.com/l/_jcDVJ3YVZYzD
https://dl.doubtnut.com/l/_qyinyoznO02i


C. 
cos3x

3
+ c

D. 
1
2

[log(cosx - cotx) + secx] + c

Answer: A

Watch Video Solution

45. Evaluate: ∫
1

sin2x + sin2x
 dx

A. 
1
2 log

tanx
2 + tanx + c

B. log
2 + tanx

tanx
+ c

C. 
1
2 tan - 1 tanx

2 + tnax + c

D. 
sin2x

2 -
cos4x

4 + c

Answer: A

[ ]
[√ ]

[ ]

https://dl.doubtnut.com/l/_qyinyoznO02i
https://dl.doubtnut.com/l/_ewjMoHUWgpO4


Watch Video Solution

46. ∫
secxcosecx

tan2x
dx =

A. 
1
2

sec2x + c

B. -
1
2

sec2x + c

C. -
1
2

cos2x + c

D. 
1
2

cos2x + c

Answer: C

Watch Video Solution

47. ∫
secxcosecx
log(tanx)

dx =

https://dl.doubtnut.com/l/_ewjMoHUWgpO4
https://dl.doubtnut.com/l/_30N2DB0DzysH
https://dl.doubtnut.com/l/_WcGCst21jR4o


A. 
1
2

[log(tanx)]2 + c

B. log[log(tanx)] + c

C. 
-1

log(tanx)
+ c

D. log[tan(logx)] + c

Answer: B

Watch Video Solution

48. ∫
secx

sinx + cosx
dx =

A. log(sinx - cosx) + c

B. log(1 + tanx) + c

C. log(1 + cotx) + c

D. log(1 - cotx) + c

https://dl.doubtnut.com/l/_WcGCst21jR4o
https://dl.doubtnut.com/l/_0luihPMYu7x6


Answer: B

Watch Video Solution

49. ∫
cosx

sinx + cosx
dx =

A. - log(1 + tanx) + c

B. log(cosx - sinx) + c

C. log(1 - cotx) + c

D. - log(1 + cotx) + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0luihPMYu7x6
https://dl.doubtnut.com/l/_PSN0IhTLaEK9


50. ∫
1

cosx + secx
dx =

A. 
1

2√2
log

√2 + sinx

√2 - sinx
+ c

B. 
-1

2√2
log

√2 - sinx

√2 + sinx
+ c

C. 
-1

2√2
log

√2 + cosx

√2 - cosx
+ c

D. 
1

2√2
tan - 1 sinx

√2
+ c

Answer: A

Watch Video Solution

[ ]
[ ]
[ ]

[ ]

51. ∫ cosx - cos2x dx =

A. log(cosx - cotx) + tan
x
2

+ c

( )

( )

https://dl.doubtnut.com/l/_H4fhtjEKm5CF
https://dl.doubtnut.com/l/_Ujazk7xs7aH9


B. sin2x - cosx + c

C. log(secx + tanx) - cot
x
2

+ c

D. cos2x - sinx + c

Answer: C

Watch Video Solution

( )

52. ∫
xcosx

xsinx + cosx
dx =

A. xcosx + cosx + c

B. log(xcosx - sinx) + c

C. 
1
2

(xsinx + cosx)2 + c

D. log(xsinx + cosx) + c

https://dl.doubtnut.com/l/_Ujazk7xs7aH9
https://dl.doubtnut.com/l/_Mn0Xky5aJG0b


Answer: D

Watch Video Solution

53. ∫ tan2x - cot2x dx =

A. tanx + cotx + c

B. tanx - cotx + c

C. - tanx - cotx + 4x + c

D. cot2x + cotx + c

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_Mn0Xky5aJG0b
https://dl.doubtnut.com/l/_TIgh8VvFNqu2


54. ∫ (tanx - cotx)2dx =

A. tanx + cotx + c

B. tanx - cotx + c

C. - tanx - cotx + c

D. - tanx + cotx + c

Answer: B

Watch Video Solution

55. Evaluate the following integrals. 

∫
1

1 - cosx
dx

A. -2tan
x
2

+ c( )

https://dl.doubtnut.com/l/_rVVhYINgULkY
https://dl.doubtnut.com/l/_OyJt20xe90Vb


B. cot2x - 2x + c

C. -cot2x + 2x + c

D. cot2x + 2x + c

Answer: A

Watch Video Solution

56. 4∫
1 + sin22x
1 + cos4x

dx =

A. 2tan2x - 4x + c

B. 2tan2x - 2x + c

C. 2tan2x + 4x + c

D. tan2x - x + c

https://dl.doubtnut.com/l/_OyJt20xe90Vb
https://dl.doubtnut.com/l/_ySoweELq4XfI


Answer: B

Watch Video Solution

57. ∫
4cos2x - 3sin2x

sin22x
d(4x) =

A. 4cotx + 3tanx + c

B. 4cotx - 3tanx + c

C. -4cotx - 3tanx + c

D. -4cotx + 3tanx + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ySoweELq4XfI
https://dl.doubtnut.com/l/_ac90yZR2JDu1


58. ∫
3sin3x + cos3x

sin2xcos2x
dx =

A. cosx - 3secx + c

B. cosx + 3secx + c

C. 3secx - cosx + c

D. -3secx - cosx + c

Answer: C

Watch Video Solution

59. Evaluate ∫
secx

(secx + tanx)
dx.

A. 
-1

3(secx + tanx)3 + c

B. 
1

3(secx + tanx)3 + c

https://dl.doubtnut.com/l/_A5gkb2JA3uJW
https://dl.doubtnut.com/l/_A1s8ynvm0kWG


C. 
3

secx + tanx
+ c

D. secx - tanx + c

Answer: A

Watch Video Solution

60. ∫
cos2x

1 + sinx
dx + ∫

sin2x
1 - cosx

dx =

A. 2x + sinx - cosx + c

B. 2x - sinx + cosx + c

C. 2x + sinx + cosx + c

D. x + sinx + cosx + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_A1s8ynvm0kWG
https://dl.doubtnut.com/l/_xre3kC8L7L4p


61. Evaluate the following integrals : ∫
1 - cos2x
1 + cos2x

dx

A. - tanx - x + c

B. tanx - x + c

C. tanx + x + c

D. - tanx + x + c

Answer: B

Watch Video Solution

62. ∫
1 + cos2x
1 - cos2x

dx =

A. -cotx -
x
2

+ c

https://dl.doubtnut.com/l/_xre3kC8L7L4p
https://dl.doubtnut.com/l/_PyVcWharpmRK
https://dl.doubtnut.com/l/_x1nsbRk5Gjsr


B. cotx +
x
2

+ c

C. cotx -
x
2

+ c

D. -cotx +
x
2

+ c

Answer: A

Watch Video Solution

63. 2∫
1 + cos2x
1 + cos2x

dx =

A. x - cotx + c

B. tanx - x + c

C. x + cotx + c

D. x + tanx + c

https://dl.doubtnut.com/l/_x1nsbRk5Gjsr
https://dl.doubtnut.com/l/_dT1WqST2Oh85


Answer: D

Watch Video Solution

64. ∫
a + bcosx

sin2x
dx =

A. -cotx + bcosx + c

B. acotx + bcosx + c

C. -acotx - bcosx + c

D. log(a + bcosx) + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dT1WqST2Oh85
https://dl.doubtnut.com/l/_Cx8Uw1RIabuO


65. ∫sin2xdx -
x
2

=

A. 
x
2

+ ∫cos2xdx + c

B. 
x
2

- ∫cos2xdx + c

C. -
x
2

+ ∫cos2xdx + c

D. -
x
2

- ∫cos2xdx + c

Answer: B

Watch Video Solution

66. ∫
1

sinx - cosx dx =

A. 
1

√2
log tan

π
4 -

x
8 + c

B. 
1

√2
log cot

π
4

-
x
8

+ c

[ ( )]
[ ( )]

https://dl.doubtnut.com/l/_uneDwcHk9gYN
https://dl.doubtnut.com/l/_QtNuCI8SrL7Z


C. 
1

√2
tan

x
2

-
π
8

+ c

D. 
1

√2
log tan

x
2

-
π
8

+ c

Answer: D

Watch Video Solution

( )
[ ( )]

67. ∫
1

sinx ⋅ cos2x
dx =

A. log tan
x
2

- secx + c

B. log tan
x
2

+ secx + c

C. log tan
x
2

+ c

D. log cot
x
2

+ secx + c

[ ( )]
[ ( )]
[ ( )]
[ ( )]

https://dl.doubtnut.com/l/_QtNuCI8SrL7Z
https://dl.doubtnut.com/l/_mtQ66v6iPJRJ


Answer: B

Watch Video Solution

68. ∫
cos2x

(sinx + cosx)2dx is equal to

A. log(cotx) + c

B. log(sinxcosx) + c

C. log(sinx + cosx) + c

D. log(cosx - sinx) + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mtQ66v6iPJRJ
https://dl.doubtnut.com/l/_512ofiR1RYcO


69. ∫
sinmx

cosm+ 2x
dx =

A. 
tanm+ 1

m + 1
+ c

B. 
tanmx
m

+ c

C. tanmx + c

D. 
m

m + 1
log(tanx) + c

Answer: A

Watch Video Solution

70. ∫
tanmx

sinxcosx dx =

A. 
tanm+ 2x
m + 2

+ c

B. 
tanm+ 1x
m + 1

+ c

https://dl.doubtnut.com/l/_1ub0n3F370TH
https://dl.doubtnut.com/l/_S72FtGEIG7EQ


C. tanm+ 1x + c

D. 
tanmx
m

+ c

Answer: D

Watch Video Solution

71. ∫
x3 tan - 1 x4 2

1 + x8 dx =

A. 
tan - 1 x4 2

12 + c

B. 
tan - 1x

4
+ c

C. 
tan - 1 x4 3

4 + c

D. 
tan - 1 x4 3

12
+ c

[ ( )]

[ ( )]

[ ( )]

[ ( )]

https://dl.doubtnut.com/l/_S72FtGEIG7EQ
https://dl.doubtnut.com/l/_YEmZDKUnfnnL


Answer: D

Watch Video Solution

72. ∫
tan cos - 1x + cot sin - 1x

√1 - x2
dx =

A. 2logx + c

B. logx + c

C. - logx + c

D. -2logx + c

Answer: A

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_YEmZDKUnfnnL
https://dl.doubtnut.com/l/_QasHkRNu2oRj
https://dl.doubtnut.com/l/_6oGRCmefHJGr


73. ∫
cos tan - 1x + sin tan - 1x

1 + x2 dx =

A. 
2

√1 + x2
+ c

B. 
x - 1

√1 + x2
+ c

C. 
1

√1 + x2
+ c

D. 
-1

√1 + x2
+ c

Answer: B

Watch Video Solution

( ) ( )

74. 4∫ sec2xtan3x + cosec2xcot3x dx =

A. tan4x + cot4x + c

B. tan4x - cot4x + c

( )

https://dl.doubtnut.com/l/_6oGRCmefHJGr
https://dl.doubtnut.com/l/_XWO4iZSerF4H


C. - tan4x - cot4x + c

D. sin4x - cot4x + c

Answer: B

Watch Video Solution

75. ∫sinxcosx
sec4x

1 + sec4x
dx =

A. -
1
2

tan - 1 x2 + c

B. -
1
2

tan - 1 cos2x + c

C. -cot - 1 sin2x + c

D. tan - 1 sin2x + c

Answer: B

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_XWO4iZSerF4H
https://dl.doubtnut.com/l/_AJjoxtbBWPYm


Watch Video Solution

76. ∫
sin4x

1 + sin42x
dx =

A. -
1
2 tan - 1 sin22x + c

B. 
1
2 tan - 1 sin22x + c

C. tan - 1 sin22x + c

D. cot - 1 sin22x + c

Answer: B

Watch Video Solution

( )
( )

( )
( )

77. ∫
sin2xcos2x

sin42x + cos42x
dx =

A. 
1
2

cot - 1 sin2x + c( )

https://dl.doubtnut.com/l/_AJjoxtbBWPYm
https://dl.doubtnut.com/l/_dZlSg11P08u6
https://dl.doubtnut.com/l/_MjWjbI3R6hd1


B. 
1
2

cot - 1 sin2x + c

C. 
1
2

tan - 1 sin2x + c

D. -
1
2

cot - 1 sin2x + c

Answer: D

Watch Video Solution

( )
( )
( )

78. ∫
1 + sinx

(x - cosx)3dx =

A. 
-1 /2

(x - cosx)2 + c

B. 
1

2(x - cosx)2 + c

C. 
1

(x - cosx)2 + c

D. 
1

(x - cosx)3 + c

Answer: A

https://dl.doubtnut.com/l/_MjWjbI3R6hd1
https://dl.doubtnut.com/l/_AzH35xC1upsm


Watch Video Solution

79. ∫secxcosecxlog(tanx)dx =

A. log[log(tanx)] + c

B. 
1
2

[log(tanx)]2 + c

C. log(secxcosx) + c

D. 
1
2

[tan(logx)]2 + c

Answer: B

Watch Video Solution

80. ∫secxlog(secx + tanx)dx =

A. (secx + tanx)log(secx + tanx) + c

https://dl.doubtnut.com/l/_AzH35xC1upsm
https://dl.doubtnut.com/l/_ay22nFAADs0x
https://dl.doubtnut.com/l/_cxwGfSJPTwez


B. log[log(secx + tanx) + c

C. 
1
2

[log(secx + tanx)]2 + c

D. 
1
2

[sec(logx)]2 + c

Answer: C

Watch Video Solution

81. ∫
tanx

log(cosx)
dx =

A. - log(cosx) + c

B. log[log(cosx)] + c

C. - log[log(cosx)] + c

D. log[log(secx)] + c

Answer: C

https://dl.doubtnut.com/l/_cxwGfSJPTwez
https://dl.doubtnut.com/l/_NVmLDmXfZ7QB


Watch Video Solution

82. ∫
1 + cotx
1 - cotx

dx =

A. log(sinx) - log(1 - cotx) + c

B. log(sinx) + log(1 - cotx) + c

C. log(cotx - 1) + c

D. log(1 + cotx) + c

Answer: B

Watch Video Solution

83. ∫
1

sinx√sinxcosx
dx =

https://dl.doubtnut.com/l/_NVmLDmXfZ7QB
https://dl.doubtnut.com/l/_kF5VAkVvzUsd
https://dl.doubtnut.com/l/_KnefBWUHJ3E4


A. √tanx + c

B. -√cosx + c

C. -2√cotx + c

D. √cotx + c

Answer: C

Watch Video Solution

84. ∫
cotx

1 + sinx
dx =

A. log
sinx

1 - sinx
+ c

B. log
sinx

1 + sinx
+ c

C. log
1 + sinx

x
+ c

( )
( )
( )

https://dl.doubtnut.com/l/_KnefBWUHJ3E4
https://dl.doubtnut.com/l/_p5F6Kb78Zwmf


D. log(1 + sinx) + c

Answer: B

Watch Video Solution

85. ∫
1

sin2x - sin2x
dx =

A. log
tanx

tanx - 2 + c

B. 
1
2 log

tanx
tanx - 2 + c

C. log
tanx - 2

tanx + c

D. 
1
2 tan - 1 tanx

2 + c

Answer: B

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_p5F6Kb78Zwmf
https://dl.doubtnut.com/l/_GvqN6L7qBVTJ


86. ∫
1

1 + sinx + cosx
dx =

A. log 1 - tan.
x
2

+ c

B. log 1 + tan.
x
2

+ c

C. log 2 + tan.
x
2

+ c

D. log 2 - tan.
x
2

+ c

Answer: B

Watch Video Solution

( )
( )
( )
( )

87. ∫
1

3cosx + 4sinx
dx =

https://dl.doubtnut.com/l/_GvqN6L7qBVTJ
https://dl.doubtnut.com/l/_XxBS9iLweECo
https://dl.doubtnut.com/l/_s9x3bmXkIePV


A. 
-1
5

log
3tan.

x

2 + 1

9 - 3tan.
x
2

+ c

B. 
1
5

log
9 - 3tan.

x

2

3tan.
x
2 + 1

+ c

C. 
1
5

log
3tan.

x

2 + 1

9 - 3tan.
x
2

+ c

D. 
1
5

tan - 1 1
9

tan.
x
2

+ c

Answer: C

Watch Video Solution

[ ]
[ ]
[

[ ]

88. ∫
1

cos2x + sin2x
dx =

https://dl.doubtnut.com/l/_s9x3bmXkIePV
https://dl.doubtnut.com/l/_rivVP28PBjii


A. 
1

2√2
log

√2 - 1 + tanx

√2 + 1 - tanx
+ c

B. 
1

2√2
log

√2 + 1 + tanx

√2
+ c

C. 
1

√2
log

√2 - 1 + tanx

√2 + 1 - tanx
+ c

D. 
1

2√2
tan - 1 1 - tanx

√2
+ c

Answer: A

Watch Video Solution

[ ]
[ ]

[ ]
[ ]

89. ∫
1

1 - sin2x
dx =

A. 
1

cosx - 1
+ c

B. 
cotx

cotx - 1
+ c

C. 
tanx

tanx - 1
+ c

https://dl.doubtnut.com/l/_rivVP28PBjii
https://dl.doubtnut.com/l/_RKR335wz14KA


D. 
tanx - 1

tanx
+ c

Answer: B

Watch Video Solution

90. ∫
1

2 + cos2x
dx =

A. 
1

3√2
log

√3 + tanx

√3 - tanx
+ c

B. 
1

3√2
log

3 + tanx
3 - tanx

+ c

C. 
1

√3
tan - 1 1

√3
tanx

D. 
1

2√3
log

√3tanx

1 + tanx
+ c

Answer: C

Watch Video Solution

[ ]
[ ]
( )

[ ]

https://dl.doubtnut.com/l/_RKR335wz14KA
https://dl.doubtnut.com/l/_JFPa3V8aNjdi


91. ∫
1

2 + cos22x
dx =

A. 
1

2√6
tan - 1 2

3 tan2x + c

B. 
1

6√2
tan - 1 2

3 tan2x + c

C. 
1

2√6
tan - 1 3

2 tan2x + c

D. 
1

2√6
log

√2 + √3tan2x

√2 - √3tan2x
+ c

Answer: A

Watch Video Solution

[√ ]
[√ ]
[√ ]

[ ]

92. ∫
1

1 + sin2x + sin2x
dx =

https://dl.doubtnut.com/l/_JFPa3V8aNjdi
https://dl.doubtnut.com/l/_UPIKxJ8p8Jam
https://dl.doubtnut.com/l/_Tcd1YzuiAPY3


A. tan - 1(tanx + 2) + c

B. tan - 1(2tanx + 1) + c

C. tan - 1(cotx - 2) + c

D. tan - 1(sinx - 2) + c

Answer: B

Watch Video Solution

93. ∫
1

16sin2x + 25cos2x
dx =

A. 
1

20 tan - 1 4
5 tanx + c

B. 
-1
20 tan - 1 4

5 tanx + c

C. - tan - 1 5
4 tanx + c

( )
( )

( )

https://dl.doubtnut.com/l/_Tcd1YzuiAPY3
https://dl.doubtnut.com/l/_1w2D8AHNN0n1


D. 
1

20
log 4sinx + √16sin2x + 25cos2x + c

Answer: A

Watch Video Solution

[ ]

94. ∫
1

√cos4x - cos2xsin2x
dx =

A. tan - 1(cotx) + c

B. tan - 1(tanx) + c

C. sin - 1(tanx) + c

D. sin - 1(tanx) + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1w2D8AHNN0n1
https://dl.doubtnut.com/l/_qwPlyOvM0K1i


95. ∫
1

√sin2xcos2x - sin4x
dx =

A. cos - 1(cotx) + c

B. cos - 1(cotx + c

C. - log cotx + √cotx - 1 + c

D. sin - 1 √cot2x - 1 + c

Answer: C

Watch Video Solution

( )
( )

96. ∫
1

√sec2x + tan2x
dx =

A. - tan - 1(cosx) + c

https://dl.doubtnut.com/l/_xDHW6EJPsYot
https://dl.doubtnut.com/l/_oYqaQCMww4XC


B. log cosx + √1 + cos2x + c

C. log sinx - √1 + sin2x + c

D. log sinx + √1 + sin2x + c

Answer: D

Watch Video Solution

( )
( )
( )

97. ∫
1

√cosec2x + cot2x
dx =

A. - log cosx + √1 - cos2x + c

B. - log cosx + √1 + cos2x + c

C. - log sinx + √1 + sin2x + c

D. log secx + √1 + sec2x + c

( )
( )
( )

( )

https://dl.doubtnut.com/l/_oYqaQCMww4XC
https://dl.doubtnut.com/l/_YM07r0ATf5BS


Answer: B

Watch Video Solution

98. ∫
sinx

sin(x - a)
dx - ∫

cosx
cos(x - a)

dx =

A. 2sinalog(tanx) + c

B. 2sinalog[tan(x - a)] + c

C. 2log[tan(x - a)] + c

D. 2cosalog[sec(x - a)] + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YM07r0ATf5BS
https://dl.doubtnut.com/l/_lC45B9m2G4bm


99. ∫
1

sinxsin(x + a)
dx =

A. cosalog
sinx

sin(x + a)
+ c

B. cosalog
sinx

sin(x + a)
+ c

C. cosxalog
sec(x + a)

secx
+ c

D. cosalog
secx

sec(x + a)
+ c

Answer: B

View Text Solution

[ ]
[ ]
[ ]

[ ]

100. ∫
1

x2 + (a + b)x + ab
dx =

A. 
1

b - a
log

x + b
x + a

+ c[ ]

https://dl.doubtnut.com/l/_q2VOdJ64kSb8
https://dl.doubtnut.com/l/_76EMrQC3ScUW


B. 
1

b - a
log

x + a
x + b

+ c

C. 
1
ab

tan - 1 ax
b

+ c

D. 
1
ab

tan - 1 bx
a

+ c

Answer: B

View Text Solution

[ ]
[ ]
[ ]

101. ∫
1

x4 + a2 + b2 x2 + a2b2
dx =

A. 
1

a2 - b2
1
a tan - 1 x

a -
1
b tan - 1 x

b + c

B. 
1

a2 - b2 tan - 1 x
a - tan - 1 x

b + c

C. 
1

b2 - a2
1
a tan - 1 x

a -
1
b tan - 1 x

b + c

D. 2x log x2 + a2 - log x2 + b2 + c

( )

[ ( ) ( )]
[ ( ) ( )]
[ ( ) ( )]

[ ( ) ( )]

https://dl.doubtnut.com/l/_76EMrQC3ScUW
https://dl.doubtnut.com/l/_fhsxmuW9Ownw


Answer: C

Watch Video Solution

102. ∫
1

x3(1 - x)
dx =

A. log
x

1 - x -
2x + 1

2x2 + c

B. log
1 - x

x3 + c

C. log
x3

1 - x
+ c

D. 
x - 2

-2
- log(1 - x) + c

Answer: A

View Text Solution

( )
( )
( )

https://dl.doubtnut.com/l/_fhsxmuW9Ownw
https://dl.doubtnut.com/l/_kZut1pZdi6zq
https://dl.doubtnut.com/l/_HAjUw7ipgSi9


103. ∫
1

x 1 + x3
dx =

A. log
1 + x3

x3 + c

B. log
x3

1 + x3 + c

C. 
1
3 log

x3

1 + x3 + c

D. 3log
x3

1 + x3 + c

Answer: C

Watch Video Solution

( )

( )
( )

( )
( )

104. ∫
1

x 1 - x5
dx =

( )

https://dl.doubtnut.com/l/_HAjUw7ipgSi9
https://dl.doubtnut.com/l/_YpI5fEzBZ2va


A. 
-1
5

log
x5

1 - x5 + c

B. 
1
5

log
x5

1 - x5 + c

C. -5log
x5

1 - x5 + c

D. logx - x -
x6

6
+ c

Answer: B

Watch Video Solution

( )
( )
( )

( )

105. ∫
2x2 + a2

x2 x2 + a2
dx =

A. 
-1
x

+
1
a

log
x
a

+ c

( )

( )

https://dl.doubtnut.com/l/_YpI5fEzBZ2va
https://dl.doubtnut.com/l/_XE85XcYR8Ngi


B. 
-1
x

- tan - 1 x
a

+ c

C. 
-1
x

+
1
a

tan - 1 x
a

+ c

D. 2x2 +
a2

2
tan - 1 x

a
+ c

Answer: C

Watch Video Solution

( )
( )
( )

106. If ∫
x2 + a2

x + a
dx =

(x + a)2

2
+ hx + klog(x + a) + c, then 

2ah + k =

A. a2

B. 2a2

C. -2a2

D. 0

https://dl.doubtnut.com/l/_XE85XcYR8Ngi
https://dl.doubtnut.com/l/_75dLYfMJotKI


Answer: D

Watch Video Solution

107. ∫
x

1 + x4dx

A. 
1
2 tan - 1 x2 + c

B. 
1
4 log 1 + x4 + c

C. 
1
3 log 1 + x3 + c

D. 
1

4x2 log 1 + x4 + c

Answer: A

Watch Video Solution

( )
( )
( )

( )

https://dl.doubtnut.com/l/_75dLYfMJotKI
https://dl.doubtnut.com/l/_aH1yDDEviQB7


108. ∫
x4

1 + x2dx

A. 
x3

3
- x - tan - 1x + c

B. 
x3

3
- x + tan - 1x + c

C. x -
x3

3 + tan - 1x + c

D. x - tan - 1x + c

Answer: B

Watch Video Solution

109. ∫
1

x2 - x3dx =

A. log
1 - x
x

-
1
x

+

B. log
1 - x
x

+
1
x

+ c

( )
( )

https://dl.doubtnut.com/l/_dF4k3jTcaIDV
https://dl.doubtnut.com/l/_1XU7lTplRyy6


C. log
x

1 + x
+ c

D. - log
1 - x
x

-
1
x

+ c

Answer: D

Watch Video Solution

( )
( )

110. ∫
1

x3 - x4dx =

A. log
x

1 - x +
2x + 1

2x2 + c

B. log
1 - x
x -

2x + 1

2x2 + c

C. log
x

1 - x -
2x + 1

2x2 + c

D. 
x - 1

-1
-
x - 2

-2
+ c

Answer: C

( )
( )
( )

https://dl.doubtnut.com/l/_1XU7lTplRyy6
https://dl.doubtnut.com/l/_ZrfbiNZ5MxEj


Watch Video Solution

111. ∫
x8

x6 + 1
dx =

A. -
x3

3
+ tan - 1 x3 + c

B. 
x3

3
-

1
3

tan - 1 x3 + c

C. -
x3

3 - tan - 1 x3 + c

D. x2. tan - 1 x3 + c

Answer: B

Watch Video Solution

( )
( )
( )

( )

112. ∫
1

ex 1 + e - x
dx =

( )

https://dl.doubtnut.com/l/_ZrfbiNZ5MxEj
https://dl.doubtnut.com/l/_6PYlnQW9SnbL
https://dl.doubtnut.com/l/_IfSEf54Tb9Ek


A. log 1 + e - x + c

B. log e - x - 1 + c

C. log
ex

1 + ex
+ c

D. x + log 1 + ex + c

Answer: C

Watch Video Solution

( )
( )

( )
( )

113. ∫
e2x + e - 2x

ex + e - x dx =

A. ex - e - x - 2tan - 1 ex + c

B. e - x + ex + 2tan - 1 e - x + c

C. e - x - ex + 2tan - 1 ex + c

( )
( )
( )

https://dl.doubtnut.com/l/_IfSEf54Tb9Ek
https://dl.doubtnut.com/l/_iVJdZ9nbIHHU


D. ex - e - x + c

Answer: A

Watch Video Solution

114. ∫
1

1 + emx 1 + e -mx
dx =

A. 
m

1 + emx
+ c

B. 
m

m 1 + emx + c

C. 
1

1 + emx
+ c

D. 
-1

m 1 + emx
+ c

Answer: D

Watch Video Solution

( ) ( )

( )

( )

https://dl.doubtnut.com/l/_iVJdZ9nbIHHU
https://dl.doubtnut.com/l/_zxBfXHEt9fEv


115. ∫
1

e -mx 2
dx =

A. 
1

1 + e2mx + c

B. 
-1

2m 1 + e2mx + c

C. 
1

m 1 + e2mx
+ c

D. 
2m

e2mx + e - 2mx + c

Answer: B

Watch Video Solution

( )

( )

( )

116. If In = ∫xnexdx,  then I5 + 5I4 =

https://dl.doubtnut.com/l/_zxBfXHEt9fEv
https://dl.doubtnut.com/l/_6YAYkTAdNzQB
https://dl.doubtnut.com/l/_vqqiVFbHCyZe


A. 4x4ex + c

B. 5x4ex + c

C. x5ex + c

D. 3I6

Answer: C

Watch Video Solution

117. If In = ∫
sinnx
sinx

dx,  then I5 - I3 =

A. -
sin4x

4
+ c

B. sin4x + c

C. 
sin4x

2
+ c

D. -
sin4x

2
+ c

https://dl.doubtnut.com/l/_vqqiVFbHCyZe
https://dl.doubtnut.com/l/_wgpLJPlqnma3


Answer: C

Watch Video Solution

118. If In = ∫
sinnx
cosx

dx,  then I7 + I5 =

A. -
cos6x

3
+ c

B. 
cos6x

3
+ c

C. cos6x + c

D. -cos6x + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wgpLJPlqnma3
https://dl.doubtnut.com/l/_J2WSVtSBfUvO


119. If f(x) =

sin2x cos2x 1

cos2x sin2x 1
-10 12 2

, then ∫ f(x)dx =

A. any real c

B. x + c

C. 
x2

2
+ c

D. 
x3

3
+ c

Answer: A

Watch Video Solution

| |

120. If ∫
cos4x + 1
cotx - tanx

dx = acos4x + c,  then a =

A. -
1
2

https://dl.doubtnut.com/l/_ee0tXiW0BIIV
https://dl.doubtnut.com/l/_itFS5Q1UXsNy


B. -
1
8

C. -
1
4

D. 
1
2

Answer: B

Watch Video Solution

121. ∫
1

1 - cosxsinx
dx =

A. log 1 + cot.
x
2

+ c

B. log 1 - tan.
x
2

+ c

C. log 1 - cot.
x
2

+ c

D. log 1 + tan.
x
2

+ c

( )
( )
( )
( )

https://dl.doubtnut.com/l/_itFS5Q1UXsNy
https://dl.doubtnut.com/l/_5pzlfjHgZla1


Answer: C

Watch Video Solution

122. ∫
1

7 + 5cosx
dx =

A. 
1

√3
tan - 1 1

√3
tan.

x
2

+ c

B. 
1

√6
tan - 1 1

√6
tan.

x
2

+ c

C. 
1
2

tan - 1 1
2

tanx + c

D. 
1
4

tan - 1 1
2

tan - 1x + c

Answer: B

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_5pzlfjHgZla1
https://dl.doubtnut.com/l/_bTyMJUQKkJn4
https://dl.doubtnut.com/l/_2ODFyfiugXBm


123. ∫
3x

√9x - 1
dx =

A. log3 3x + √9x - 1 + c

B. log3 3x - √9x - 1 + c

C. log9 3x + √9x - 1 + c

D. 
1

log3
sec - 1 3x + c

Answer: A

Watch Video Solution

( )
( )
( )

( )

124. Evaluate the following integrals: 

∫
logx

(1 + logx)2 dx

A. 
1

1 + logx
+ c

https://dl.doubtnut.com/l/_2ODFyfiugXBm
https://dl.doubtnut.com/l/_ZFYXTg9IsquJ


B. 
logx

1 + logx
+ c

C. 
x - 1

1 + logx
+ c

D. 
x

1 + logx
+ c

Answer: D

Watch Video Solution

125. If In = ∫cosnxdx,  then (n + 1)In+ 1 - nIn - 1 =

A. sinx

B. sinxcosnx

C. sinxcosn - 1x

D. sinxcosn - 2x

Answer: B

https://dl.doubtnut.com/l/_ZFYXTg9IsquJ
https://dl.doubtnut.com/l/_YFPDKYlkRnKn


Watch Video Solution

126. ∫
ex

x + 2
[1 + (x + 2)log(x + 2)]dx =

A. 
ex

x + 2
+ c

B. exlog(x + 2) + c

C. ex[1 + log(x + 2)] + c

D. 
ex

log(x + 2) + c

Answer: B

Watch Video Solution

127. Find ∫
sin6x

cos8x
dx

.

https://dl.doubtnut.com/l/_YFPDKYlkRnKn
https://dl.doubtnut.com/l/_C8oLOFqAYzPM
https://dl.doubtnut.com/l/_aKAHC9RJfRJ5


A. 
tan7x

7
+ c

B. 
tan7x

7
+ c

C. tan7x + c

D. sec7x + c

Answer: B

Watch Video Solution

128. ∫
1

x(1 + logx)3 + c

A. 
1

2(1 + logx)2 + c

B. 
1

1 + logx
+ c

C. 
-1

3(1 + logx)3 + c

D. 
-1

3(1 + logx)3 + c

https://dl.doubtnut.com/l/_aKAHC9RJfRJ5
https://dl.doubtnut.com/l/_VXD65LiocrHW


Answer: A

Watch Video Solution

129. ∫
3

2x2 - x - 1
dx =

A. log
x - 1
x + 1 + c

B. log
x + 1

2x + 1 + c

C. log
x - 1

2x - 1 + c

D. log
x - 1

2x + 1 + c

Answer: D

Watch Video Solution

[ ]
[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_VXD65LiocrHW
https://dl.doubtnut.com/l/_KS2gas6GOPhh
https://dl.doubtnut.com/l/_ODJQmJ8t0Y03


130. ∫
(sinx + cosx)(1 - sinxcosx)

sin2xcos2x
dx =

A. sinx + cosx + c

B. tanx + cotx + c

C. secx - cosecx + c

D. sinx - cosx + c

Answer: C

Watch Video Solution

131. ∫
ex(1 + xlogx)

x
dx =

A. 
exlogx

x + c

B. ex(1 + logx) + c

C. exlogx + c

https://dl.doubtnut.com/l/_ODJQmJ8t0Y03
https://dl.doubtnut.com/l/_OyNnXpoIhxjh


D. xexlogx + c

Answer: C

Watch Video Solution

132. ∫
1

√x(x + 9)
dx =

A. 
2
3 tan - 1 √x + c

B. 
2
3

tan - 1
√x

3
+ c

C. tan - 1 √x + c

D. tan - 1
√x

3
+ c

Answer: B

Watch Video Solution

( )

( )
( )

( )

https://dl.doubtnut.com/l/_OyNnXpoIhxjh
https://dl.doubtnut.com/l/_hzWbVMYPaBIf


133. ∫sec2xcos3xdx =

A. 
sin3x

3
-

sin5x
5

+ c

B. 
cos3x

3
-

sin5x
5

+ c

C. 
sin5x

5
-

sin3x
3

+ c

D. 
tan3x

3
-

sin5x
5

+ c

Answer: A

Watch Video Solution

134. ∫
sinx

(sinx - cosx)
dx = ?

A. 
x
2

+ log √sinx - cosx + c( )

https://dl.doubtnut.com/l/_hzWbVMYPaBIf
https://dl.doubtnut.com/l/_lyi9bqsNdlib
https://dl.doubtnut.com/l/_tZ0hMCV2ncPB


B. x + log(sinx - cosx) + c

C. 
sinx - cosx

x
+ c

D. sin2x - cos2x + c

Answer: A

Watch Video Solution

135. ∫
1

x(1 - logx)2dx =

A. 
x

1 - logx + c

B. 
1

x(1 - logx) + c

C. 
-x

1 - logx + c

D. none of these

https://dl.doubtnut.com/l/_tZ0hMCV2ncPB
https://dl.doubtnut.com/l/_POTH19bzyZKJ


Watch Video Solution

136. ∫
x - 1

(x + 1)3 e
xdx =

A. 
-ex

(x + 1)2 + c

B. 
ex

x + 1 + c

C. 
-ex

(x + 1)2 + c

D. 
ex

x - 1
+ c

Answer: A

Watch Video Solution

137. ∫sin2xd(tanx) =

https://dl.doubtnut.com/l/_POTH19bzyZKJ
https://dl.doubtnut.com/l/_nLbE6jGmowCd
https://dl.doubtnut.com/l/_2mvJ4iL14J2k


A. 2log(cosx) + c

B. 2log(secx) + c

C. log(cosx) + c

D. log(secx) + c

Answer: B

Watch Video Solution

138. ∫
e - x

1 + ex
dx =

A. exlog 1 + ex + c

B. e - x + log 1 + ex + c

C. -e - x + log 1 + e - x + c

D. e - x - log 1 + e - x + c

( )
( )
( )

( )

https://dl.doubtnut.com/l/_2mvJ4iL14J2k
https://dl.doubtnut.com/l/_2CV0Ue909rmI


Answer: C

Watch Video Solution

139. If ∫ tan4xdx = atan3x + btanx + u + c,  then

A. a =
1
3

, b = - 1, u = x

B. a = 1, b = - 1, u = - x

C. a = - 1, b = 1, u = 2x

D. a =
1
2

, b =
1
3

, u = 3x

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2CV0Ue909rmI
https://dl.doubtnut.com/l/_jH2EVw0Ururh


140. ∫
1

(x - 1)√x2 - 1
dx equals

A. -
x - 1
x + 1 + c

B. 
x - 1
x + 1 + c

C. 
x + 1
x - 1 + c

D. -
x + 1
x - 1 + c

Answer: D

Watch Video Solution

√
√
√
√

141. ∫
d(cosx)

√1 - cos2x
=

A. sin - 1x + c

https://dl.doubtnut.com/l/_8d9TyAeh04KL
https://dl.doubtnut.com/l/_WgaXK4qu7aIM


B. cos - 1x + c

C. log(sinx + cosx) + c

D. -x + c

Answer: D

Watch Video Solution

142. ∫
log(x /e)

(logx)2 dx =

A. 
x + 1

(logx)2 + c

B. 
x - 1

(logx)2 + c

C. 
x

logx + c

D. 
logx
x + c

Answer: C

https://dl.doubtnut.com/l/_WgaXK4qu7aIM
https://dl.doubtnut.com/l/_LufEsZdptt27


Watch Video Solution

143. ∫
1 + x + x2

1 + x2 etan - 1xdx =

A. xetan - 1x + c

B. x2etan - 1x + c

C. x - 1etan - 1x + c

D. 1 + x2 etan - 1
+ c

Answer: A

Watch Video Solution

( )

144. ∫
3 + 2cosx

(2 + 3cosx)2dx is equal to

https://dl.doubtnut.com/l/_LufEsZdptt27
https://dl.doubtnut.com/l/_ciF56RiBMLDS
https://dl.doubtnut.com/l/_7G7la2oOB0tp


A. 
sinx

2 + 3cosx
+ c

B. 
cosx

2 + 3sinx
+ c

C. 
2cosx

2 + 3cosx
+ c

D. 
2sinx

2 + 3sinx
+ c

Answer: A

Watch Video Solution

145. If ∫
√cotx

sinxcosx
dx = a√cotx + b, then

A. a = 1, b = - 2

B. a = 2, b = 1

C. a = - 1, bεR

D. a = - 2, bεR

https://dl.doubtnut.com/l/_7G7la2oOB0tp
https://dl.doubtnut.com/l/_xWdbXdsb0rPa


Answer: D

Watch Video Solution

146. If ∫
x + cos - 13x 2

√1 - 9x2
dx = A√1 - 9x2 + B cos - 13x

3
+ C,  then

A-B is

A. a = -
1
9 , b =

1
9

B. a = -
1
9 , b = -

1
9

C. a =
1
9 , b =

1
9

D. a =
1
9 = -

1
9

Answer: B

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_xWdbXdsb0rPa
https://dl.doubtnut.com/l/_TJK5ZuxSnW3d


147. If ∫ f(x)cosxdx =
1
2

=
1
2

[f(x)]2 + c,  then f(x) can be

A. 1

B. x

C. cosx

D. sinx

Answer: D

Watch Video Solution

148. If 
d
dx [f(x)] = f(x),  then ∫ f(x)[g′ (x) + g′ ′ (x)]dx =

A. f(x)g(x) + c

B. f′ (x)g(x) + c

https://dl.doubtnut.com/l/_Zq8P6tzksE9O
https://dl.doubtnut.com/l/_sX6nB7y118Jv


C. f(x)g′ (x) + c

D. f′ (x)g′ (x) + c

Answer: C

Watch Video Solution

149. ∫
1 + tanx
1 - tanx

dx

A. - log(cosx - sinx) + c

B. - log(sinx - cosx) + c

C. log(cosx - sinx) + c

D. cosx - sinx + c

Answer: A

W t h Vid S l ti

( )

https://dl.doubtnut.com/l/_sX6nB7y118Jv
https://dl.doubtnut.com/l/_jg4cA6cmiEPP


Watch Video Solution

150. ∫
1 + tan
1 - tanx

2
dx =

A. 
1
3

log[(cosx - sinx)]3 + c

B. tan x -
π
4

- x + c

C. tan
π
4

+ x - x + c

D. sec2 π
4

+ x + c

Answer: C

Watch Video Solution

( )

( )
( )
( )

151. If ∫
tanx - tana
tanx + tana

dx = Ax + Blog[sin(x + a)] + C,  then (A, B) ≡

https://dl.doubtnut.com/l/_jg4cA6cmiEPP
https://dl.doubtnut.com/l/_ToqQqoHBFsuJ
https://dl.doubtnut.com/l/_E5x8lsz2Wtcc


A. (cos2a, sin2a)

B. (cos2a, - sin2a)

C. (sin2a, - cos2a)

D. ( - sin2a, cos2a)

Answer: B

Watch Video Solution

152. ∫
a - x
a + x

dx - ∫
a + x
a - x

dx =

A. √a2 - x2 + c

B. -2√a2 - x2 + c

C. -√a2 - x2 + c

D. 2√a2 - x2 + c

√ √

https://dl.doubtnut.com/l/_E5x8lsz2Wtcc
https://dl.doubtnut.com/l/_pr2pIrjei8Pv


Answer: D

Watch Video Solution

153. ∫
(1 - x)2

x 1 + x2
dx =

A. tan - 1x - 2logx + c

B. logx - 2tan - 1x + c

C. logx + 2tan - 1x + c

D. 2logx - tan - 1x + c

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_pr2pIrjei8Pv
https://dl.doubtnut.com/l/_D76h47p5grJy


154. ∫
x3 + 1 2

x2 dx =

A. 
x5

5
- x2 +

1
x

+ c

B. x2 -
x5

5
logx + c

C. 
x5

5
+ x2 +

1
x

+ c

D. 
x5

5
+ x2 -

1
x

+ c

Answer: D

Watch Video Solution

( )

155. If f′ (x) = 3x2 + 2x - 4 and f(1) = 3, then f(x) =

A. x3 + x2 - 4x + 5

B. x3 - x2 + 4x - 5

https://dl.doubtnut.com/l/_4ddqAdhk7maZ
https://dl.doubtnut.com/l/_7vhZENP6VNNY


C. x3 + x2 - 4x + 3

D. x3 + x2 + 4x + 5

Answer: A

Watch Video Solution

156. ∫
cosx

1 + cosx
dx =

A. x + tan
x
2

+ c

B. 
x
2

- tanx + c

C. x - tan
x
2

+ c

D. 
x
2

+ tanx + c

Answer: C

h id l i

( )

( )

https://dl.doubtnut.com/l/_7vhZENP6VNNY
https://dl.doubtnut.com/l/_mDEatcSvJVfH


Watch Video Solution

157. If ∫
1 + cosαcosx
cosα + cosx

dx = ax + blog
cot(α /2) + tan(x /2)
cot(α /2) - tan(x /2)

+ c

then (a, b) ≡

A. (sinα, - cosα)

B. (cosα, sinα)

C. (secα, cosα)

D. (cosα, cosα)

Answer: B

View Text Solution

[ ]

158. ∫
1

ex + e - x 2
dx =

( )

https://dl.doubtnut.com/l/_mDEatcSvJVfH
https://dl.doubtnut.com/l/_8z7C1e1QHM2j
https://dl.doubtnut.com/l/_RgTQIDphUiR2


A. 
-1

2 1 + e2x
+ c

B. 
e2x

1 + e2x + c

C. 
-2

ex + e - x + c

D. 
2

e2x + e - 2x + c

Answer: A

Watch Video Solution

( )

159. Which of the following functions has its derivative and

integral both equal ?

A. 0

B. 1

C. x

https://dl.doubtnut.com/l/_RgTQIDphUiR2
https://dl.doubtnut.com/l/_Yb2ABsV8oSA2


D. e - x

Answer: D

Watch Video Solution

160. ∫
1

1 + √x
dx =

A. √x - log 1 + √x + c

B. 2√x - 2log 1 + √x + c

C. 3√x - 3log 1 + √x + c

D. 2√x + log √x - 1 + c

Answer: B

Watch Video Solution

( )

( )

( )

( )

https://dl.doubtnut.com/l/_Yb2ABsV8oSA2
https://dl.doubtnut.com/l/_2iT8XzUiT0HS


161. If ∫exsinxdx =
√2

2
exsin(x + α) + c,  then α =

A. π

B. -
π
2

C. 
π
3

D. -
π
4

Answer: D

Watch Video Solution

162. ∫
u v

du

dx - u
dv

dx

v3 dx =

A. log
u
v

+ c

( )

( )

https://dl.doubtnut.com/l/_C4RhoAIKh2Pv
https://dl.doubtnut.com/l/_26StTwZReX1S


B. 
u2v2

2
+ c

C. 
u2

2v2 + c

D. 
u
2v

+ c

Answer: C

Watch Video Solution

163. ∫
udv + vdu

√uv
=

A. 
2
3

(uv)3 / 2 + c

B. 2√uv + c

C. 
2
3

u
v

+ c

D. 
2

3√uv
+ c

√

https://dl.doubtnut.com/l/_26StTwZReX1S
https://dl.doubtnut.com/l/_uUcNwjfsklYz


Answer: B

Watch Video Solution

164. If ∫
sinx

cos5x
dx = ∫u3du, then u =

A. sinx

B. cosx

C. secx

D. cosx

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uUcNwjfsklYz
https://dl.doubtnut.com/l/_ph2kQW3m8lyY


165. ∫sec4xdx =

A. 
4sinx

cos5x
+ c

B. tanx +
1
3

tan3x + c

C. 4sec3xlog(secx + tanx) + c

D. 
sec5x

5
+ c

Answer: B

Watch Video Solution

166. If f(x) = ∫
x2 + sin2x

1 + x2 sec2xdx and f(0) = 0,  then f(1) =

A. 1 -
π
4

B. 
π
4

- 1

https://dl.doubtnut.com/l/_lrqy1bPPFtMU
https://dl.doubtnut.com/l/_PbjdWhOsnWOc


C. (tan1) -
π
4

D. 
π
4

+ tan1

Answer: C

Watch Video Solution

167. If ∫
√cotx

sinxcosx
dx = P√cotx + Q , then P equals

A. 1

B. 2

C. -1

D. -2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_PbjdWhOsnWOc
https://dl.doubtnut.com/l/_X7ZBv5s7do6q


Watch Video Solution

168. If ∫
sin8x - cos8x

1 - 2sin2xcos2x
dx = Asin2x + B,  then A =

A. -
1
2

B. 
1
2

C. -1

D. 1

Answer: A

Watch Video Solution

169. ∫sinxd(cosx) =

A. 
sin2x

2
+ c

https://dl.doubtnut.com/l/_X7ZBv5s7do6q
https://dl.doubtnut.com/l/_zGN6trPriFfO
https://dl.doubtnut.com/l/_f5yeO6F4D92n


B. 
1
2

sin2x
2

- x + c

C. 
1
2

sin2x
2

+ x + c

D. 
cos2x

2
+ c

Answer: B

Watch Video Solution

( )
( )

170. If ∫
1

√e4x - 36
dx = m. tan - 1 n. √e4x - 36 + c, then : 

(m, n) ≡

A. 
1
2 ,

1
6

B. 
1
6 ,

1
2

C. 
1
6 ,

1
12

[ ]

( )
( )
( )

https://dl.doubtnut.com/l/_f5yeO6F4D92n
https://dl.doubtnut.com/l/_gRG60lNcpDnt


D. 
1

12
,

1
6

Answer: D

Watch Video Solution

( )

171. ∫
3 + 2cosx

(2 + 3cosx)2dx =

A. 
sinx

2 + 3cosx + c

B. 
2cosx

2 + sinx + c

C. 
2cosx

2 + 3sinx + c

D. 
2sinx

2 + 3sinx + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gRG60lNcpDnt
https://dl.doubtnut.com/l/_UUe3JcOIGB5W


172. ∫ [f(logx) + f′ (logx)]dx =

A. xf(logx) + c

B. 
f(logx)

x
+ c

C. exf(logx) + c

D. 
x

f(logx)
+ c

Answer: A

Watch Video Solution

173. ∫
udu + vdv

u2 + v2 =

A. log u + √u2 + v2 + c

B. log √u2 + v2 + c

( )
( )

https://dl.doubtnut.com/l/_u2ANj1ylpjAX
https://dl.doubtnut.com/l/_VChHIW6C5uk3


C. tan - 1 u
v

+ c

D. log u + v + √u2 + v2 + c

Answer: B

Watch Video Solution

( )
( )

174. ∫
vdu - udv

u2 + v2 =

A. log u + u2 + √u2 + v2 + c

B. log v - √u2 + v2 + c

C. tan - 1 u
v

+ c

D. log u + v - √u2 + v2 + c

Answer: C

( √ )
( )

( )
( )

https://dl.doubtnut.com/l/_VChHIW6C5uk3
https://dl.doubtnut.com/l/_Jk1n4dNrKUlf


Watch Video Solution

175. ∫
1 + tan2x

1 + cot2x
dx -

A. sinx - cosx + c

B. secx - cosx + c

C. tanx - cotx + c

D. tanx - x + c

Answer: D

Watch Video Solution

176. ∫
sin(x + a) - sin(x - a)
sin(x + a) + sin(x - a)

dx =

https://dl.doubtnut.com/l/_Jk1n4dNrKUlf
https://dl.doubtnut.com/l/_sul5LtpEadYR
https://dl.doubtnut.com/l/_3AQwwuAwWk1q


A. tanalog(cosx) + c

B. tanalog(sinx) + c

C. tanalog(tanx) + c

D. tanacos(logx) + c

Answer: B

Watch Video Solution

177. If ∫
1

cos(x - a)cos(x + a)
dx = mlog

cos(x - a)
cos(x + a)

+ c, then m =

A. cos2a

B. cot2a

C. sec2a

D. tan2a

[ ]

https://dl.doubtnut.com/l/_3AQwwuAwWk1q
https://dl.doubtnut.com/l/_9r4ShQXPwMhd


Answer: A

Watch Video Solution

178. If ∫ (sinax + cosax)(sinbx + cosbx)dx =
sinmx
m

-
cosnx
n

+ c,

then (m, n) ≡

A. (a - b, a + b)

B. (a + b, a - b)

C. a2 + b2, a2 - b2

D. a - b, a2 + b2

Answer: A

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_9r4ShQXPwMhd
https://dl.doubtnut.com/l/_RA2LK0LjmImR
https://dl.doubtnut.com/l/_nqF4n9UEapKh


179. ∫
tanax - cotbx

1 + tanaxcotbxdx =

A. 
-1

a + b log{sin[(a + b)x]} + c

B. 
-1
a - b log{cos[(a - b)x]} + c

C. 
-1

a + b log{[cos(a + b)x]} + c

D. 
1

a - b log[secax - secbx] + c

Answer: A

Watch Video Solution

180. ∫ 2 + √2 + √2 + 2cos8xdx =

A. √2sinx + c

B. 2√sinx + c

C. 2sinx + c

√

https://dl.doubtnut.com/l/_nqF4n9UEapKh
https://dl.doubtnut.com/l/_fcvIUMRi3teV


D. √2sinx + c

Answer: C

Watch Video Solution

181. If ∫ f(x)sec2xdx =
1
2

[f(x)]2 + c,  then : f(x) can be

A. cos5x

B. tanx + c

C. cotx

D. tanx

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fcvIUMRi3teV
https://dl.doubtnut.com/l/_TzeqGe27S4vd


182. ∫9log3 ( secx )dx =

A. secx + tanx + c

B. cotx + c

C. tanx + c

D. - tanx + c

Answer: C

Watch Video Solution

183. ∫
a4 - x4

a - x
dx =

A. x4 + ax3 + a2x2 + a3x + c

B. 
x4

4
+
ax3

3
+
a2x2

2
+ a3x + c

https://dl.doubtnut.com/l/_tmN8Z2TIT2hl
https://dl.doubtnut.com/l/_j91L9WkvuK7D


C. 
x4

4
-
ax3

3
+
a2x2

2
- a3x + c

D. 
x4

4
+
ax3

3
-
a2x2

2
+ a3x + c

Answer: B

Watch Video Solution

184. ∫
1

√x + a - √x + b
dx =

A. 
2

3(a - b)
(x + a)3 / 2 + (x + b)3 / 2 + c

B. 
2

3(a - b)
(x + a)3 / 2 - (x + b)3 / 2 + c

C. 
2

3(a + b)
(x + a)3 / 2 - (x = b)3 / 2 + c

D. 
2

3(a + b)
(x + a)3 / 2 + (x - b)3 / 2 + c

Answer: A

W t h Vid S l ti

[ ]
[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_j91L9WkvuK7D
https://dl.doubtnut.com/l/_DFAXF8Nsx7FF


Watch Video Solution

185. ∫xxdx + ∫xxlogxdx =

A. log xx + c

B. ex
x

+ c

C. (xxx… n times) + c

D. xx + c

Answer: D

Watch Video Solution

( )

186. ∫
√1 + cosx

1 - cosx
dx =

A. -√2cosec
x
2

+ c( )

https://dl.doubtnut.com/l/_DFAXF8Nsx7FF
https://dl.doubtnut.com/l/_WTpulRLSErbc
https://dl.doubtnut.com/l/_6Ij9ysECwxG8


B. √2cos
x
2

+ c

C. -√2sec
x
2

+ c

D. log cos
x
2

+ c

Answer: A

Watch Video Solution

( )
( )

[ ( )]

187. ∫
1

sinx√sinxcosx
dx =

A. √tanx + c

B. -√cotx + c

C. -2√cotx + c

D. 2√tanx + c

https://dl.doubtnut.com/l/_6Ij9ysECwxG8
https://dl.doubtnut.com/l/_ZInTfNg6Y4Tb


Answer: C

Watch Video Solution

188. ∫
1

1 + sinx + cosx
dx =

A. log 1 - tan
x
2

+ c

B. log 1 + tan
x
2

+ c

C. log 2 + tan
x
2

+ c

D. log 2 - tan
x
2

+ c

Answer: B

Watch Video Solution

[ ( )]
[ ( )]
[ ( )]
[ ( )]

https://dl.doubtnut.com/l/_ZInTfNg6Y4Tb
https://dl.doubtnut.com/l/_BrWgGC87BDxD


189. If ∫
1

2 + cos22x
dx = mtan - 1 √ntan2x + c,  then (m, n) ≡

A. 
1

2√6
,

2
3

B. 
1

6√2
,

2
3

C. 
1

2√6
,

3
2

D. 
2
3

,
1

2√6

Answer: A

Watch Video Solution

[ ]

( )
( )
( )
( )

190. If ∫
5cosx + 4sinx
3sinx + 2cosx

dx = ax + blog(3sinx + 2cosx) + c,  then 

(a, b) ≡

https://dl.doubtnut.com/l/_Ej4MWh5Ut7Rq
https://dl.doubtnut.com/l/_NQNEZPcKX0vr


A. 
22
13

,
-7
13

B. 
23
12

,
-7
12

C. 
-22
13

,
-7
13

D. 
22
13

,
7
13

Answer: D

Watch Video Solution

( )
( )
( )
( )

191. ∫
1

asecx + btanx
dx =

A. 
1
b

log(a + bsinx) + c

B. 
1
a

log(a + bsinx) + c

C. 
1
b

log(asinx + b) + c

https://dl.doubtnut.com/l/_NQNEZPcKX0vr
https://dl.doubtnut.com/l/_XQ9gJgUljg1L


D. 
1
a

log(b + asinx) + c

Answer: A

Watch Video Solution

192. ∫cos.
x

16
cos.

x
8

cos.
x
4

cos.
x
2

sin.
x

16
dx =

A. 
1

256
cos16x + c

B. 
-1

256
cos16x + c

C. 
1

256
sin16x + c

D. 
-1
16

cosx + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XQ9gJgUljg1L
https://dl.doubtnut.com/l/_imIDI3J9Cdse


193. ∫ lim h→ 0
sec(x + h) - secx

h dx =

A. secx + c

B. - secx + c

C. secxtanx + c

D. - secxtanx + c

Answer: A

Watch Video Solution

[ ]

194. ∫
1

a2 + b2 - a2 - b2 cosx
dx =

A. 
1
ab tan - 1 a

b tan
x
2 + c

( ) ( )

[ ( )]

https://dl.doubtnut.com/l/_MG0JMgRnCyrw
https://dl.doubtnut.com/l/_zJ4mbf5zXGJL


B. 
a
b

tan - 1 abtan
x
2

+ c

C. tan - 1 a
b

tan
x
2

+ c

D. 
a
b

tan - 1 2abtan
x
2

+ c

Answer: A

Watch Video Solution

[ ( )]
[ ( )]

[ ( )]

195. ∫
x2 + 1

x4 + 1
dx

A. √2tan - 1 x2 - 1

√2x
+ c

B. -√2tan - 1 x2 - 1

√2x
+ c

C. 
1

√2
tan - 1 x2 - 1

x√2
+ c

[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_zJ4mbf5zXGJL
https://dl.doubtnut.com/l/_4aYeDb95SXAS


D. √2log x2 + √x4 + 1 + c

Answer: C

Watch Video Solution

( )

196. ∫
x2 + 1

x4 - x2 + 1
dx =

A. tan - 1 x

x2 - 1
+ c

B. tan - 1 x2 - 1
x

+ c

C. - tan - 1 x2 - 1
x

+ c

D. -cot - 1 x2 - 1
x

+ c

Answer: B

[ ]
[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_4aYeDb95SXAS
https://dl.doubtnut.com/l/_5ZYZpTLtc5yA


Watch Video Solution

197. ∫
x4 + 1

x6 + 1
dx

A. 3tan - 1x + tan - 1 x3 + c

B. tan - 1x + (1/3)tan - 1 x3 + c

C. 
1
3

tan - 1 x2 - 1

x√3
+ c

D. √3tan - 1 x2 + 1

x√3
+ c

Answer: B

Watch Video Solution

( )
( )

[ ]
[ ]

198. ∫extanx(1 + tanx)dx =

https://dl.doubtnut.com/l/_5ZYZpTLtc5yA
https://dl.doubtnut.com/l/_VLzqsElX50Mh
https://dl.doubtnut.com/l/_GFAtedi5I0YY


A. ex(tanx - 1) + c

B. ex(tanx + 1) + c

C. e - x(tanx - 1) + c

D. ex sec2x - 1 + c

Answer: A

Watch Video Solution

( )

199. ∫e - x(cosx - sinx)dx =

A. e - xsinx + c

B. exsinx + c

C. -exsinx + c

D. -e - xsinx + c

https://dl.doubtnut.com/l/_GFAtedi5I0YY
https://dl.doubtnut.com/l/_90Ov1gt2h6m4


Answer: A

Watch Video Solution

200. If In = ∫ (logx)ndx for all nεN, In + nIn - 1 =

A. (logx)n + x

B. (logx)n - 1

C. 
(logx)n

x

D. x(logx)n

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_90Ov1gt2h6m4
https://dl.doubtnut.com/l/_ap8L3Kz1ystP


201. ∫
1

x2ea / xdx =

A. -
1
ae

a / x + c

B. ea / x + c

C. 
1
ae

-a / x + c

D. -ea / x + c

Answer: C

Watch Video Solution

202. ∫ 1 - x - 2 ex+ x - 1
dx =

A. 
ex+

1
x

2x
+ c

B. 
ex+

1

x

x2 + c

( )

https://dl.doubtnut.com/l/_4sMfCwY9D0cc
https://dl.doubtnut.com/l/_x7IeYViWtUmU


C. ex+
1
x + c

D. ex -
1
x + c

Answer: C

Watch Video Solution

203. If ∫
1
f(x)

dx = log[f(x)]2 + c, then f(x) =

A. x + a

B. 2x + a

C. 
x
2

+ a

D. x2 + a

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_x7IeYViWtUmU
https://dl.doubtnut.com/l/_xQ3VnZ0oZeLR


204. ∫
sin6x + cos6x

sin22x
dx =

A. cotx + cot2x + c

B. tanx - cotx - 3x + c

C. 2 sin5x + cos5x + c

D. sin3x + 2cos3x + c

Answer: B

Watch Video Solution

( )

205. Evaluate: ∫
a

b + cex
dx

A. 
ac
b
e - x + d

https://dl.doubtnut.com/l/_xQ3VnZ0oZeLR
https://dl.doubtnut.com/l/_TRcV9hDbbUtW
https://dl.doubtnut.com/l/_qazfzd6ds1zc


B. 
ac
b

log b + ce - x + d

C. 
a
b

log be - x + c + d

D. 
a
bc

log e - x + bx + d

Answer: C

Watch Video Solution

( )
( )
( )

206. ∫ tan - 1 cosx
1 - sinx

dx =

A. 
x
4

(π + x) + c

B. 
π
4

(x + π) + c

C. 
x
2

(π + x) + c

D. 
x
4

(π - x) + c

[ ]

https://dl.doubtnut.com/l/_qazfzd6ds1zc
https://dl.doubtnut.com/l/_IjxumB9lrs48


Answer: A

Watch Video Solution

207. If u =
d
dx

esinx , v = lim h→ 0
esin ( x+h ) - esinx

h
 and 

w = ∫esinxcosxdx,  then

A. u ≠ v

B. v = w

C. ∫wdx = v

D. 
dw
dx

= w

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_IjxumB9lrs48
https://dl.doubtnut.com/l/_hhyy67pjWiZP
https://dl.doubtnut.com/l/_NvB2fS9J687U


208. 
1 + cos4x
cotx - tanx

A. 
cos4x

8
+ c

B. 
cos4x

4
+ c

C. -
cos4x

4
+ c

D. -
cos4x

8
+ c

Answer: D

Watch Video Solution

209. ∫
x - x3 1 / 3

x4 dx =

A. 
3
8

1

x2 - 1
4 / 3

+ c

( )

( )

https://dl.doubtnut.com/l/_NvB2fS9J687U
https://dl.doubtnut.com/l/_S8kEpBtCr4NT


B. -
3
8

1

x2 - 1
4 / 3

+ c

C. 
1
8

1 -
1

x2

4 / 3
+ c

D. -
1
8

1

x3 - x
4 / 3

+ c

Answer: B

Watch Video Solution

( )
( )
( )

210. ∫
1 + 3x3 2 / 3

x6 dx =

A. 
1 + 3x3 3 / 5

3x3 + c

B. 
- 1 + 3x3 5 / 3

5x5 + c

( )

( )

( )

https://dl.doubtnut.com/l/_S8kEpBtCr4NT
https://dl.doubtnut.com/l/_O7bkq42rFj8I


C. 
x - 3 + 3 3 / 2

5x5 + c

D. 
- x - 3 + 3 5 / 3

3x5 + c

Answer: B

Watch Video Solution

( )

( )

211. The value of ∫
ax2 - b dx

x c2x2 - ax2 + b
2

 is equal to

A. sin - 1 1
c

ax +
b
x

+ k

B. sin - 1 1
c

ax2 +
b

x2 + k

C. cos - 1 1
c

ax +
b
x

+ k

( )
√ ( )

[ ( )]
[ ( ]
[ ( )]

https://dl.doubtnut.com/l/_O7bkq42rFj8I
https://dl.doubtnut.com/l/_SuT6ZFJobvkN


D. cos - 1 1
c

ax2 +
b

x2 + k

Answer: A

Watch Video Solution

[ ( )]

212. If f(x) = ∫
2sinx - sin2x

x3 dx,  then : lim x→ 0f′ (x) =

A. 0

B. ∞

C. -1

D. 1

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SuT6ZFJobvkN
https://dl.doubtnut.com/l/_jySbOa9NHTlD


213. ∫
1

cosx√cos2x
dx =

A. √2 √tanx +
1
5

tan5 / 2x + c

B. √2 √cotx +
1
5

tan5 / 2x + c

C. √2 √tanx -
1
5

tan5 / 2x + c

D. sin - 1(tanx) + c

Answer: D

Watch Video Solution

[ ]
[ ]
[ ]

214. Evaluate: ∫
cosx + xsinx
x(x + cosx)

dx

A. log
x

x + cosx
+ c[ ]

https://dl.doubtnut.com/l/_jySbOa9NHTlD
https://dl.doubtnut.com/l/_segps3J95Zpe
https://dl.doubtnut.com/l/_ijLWqEHgispX


B. log
x + cosx

x
+ c

C. log
1

x + cosx
+ c

D. log(x + cosx) + c

Answer: A

Watch Video Solution

[ ]
[ ]

215. Evaluate ∫ √tanx + √cotx dx.

A. sin - 1(sinx - cosx) + c

B. √2sin - 1(sinx - cosx) + c

C. √2cos - 1(sinx - cosx) + c

D. √secx - √cosx + c

( )

https://dl.doubtnut.com/l/_ijLWqEHgispX
https://dl.doubtnut.com/l/_oP6kkYOMnHEh


Answer: B

Watch Video Solution

216. ∫
d2

dx2 tan - 1x dx =

A. 
1

1 + x2 + c

B. tan - 1x + c

C. xtan - 1x -
1
2

log 1 + x2 + c

D. 
2tan - 1x

1 + x2 + c

Answer: A

Watch Video Solution

( )

( )

https://dl.doubtnut.com/l/_oP6kkYOMnHEh
https://dl.doubtnut.com/l/_agpw1dOTZFJH


217. Integral of 
1

1 + (logx)2  w.r.t. (logx) is

A. 
1
x tan - 1(logx) + c

B. tan - 1(logx) + c

C. 
1
x tan - 1x + c

D. sin - 1(logx) + c

Answer: B

Watch Video Solution

218. Integral of 
1

√x2 + 4
 w.r.t. x2 + 3  is

A. √x2 + 4 + c

B. 
1

√x2 + 4
+ c

( )

https://dl.doubtnut.com/l/_B181gsxHVOMj
https://dl.doubtnut.com/l/_N43AV8JtulcG


C. 2√x2 + 4 + c

D. 3√x2 + 3 + c

Answer: C

Watch Video Solution

219. ∫
f(x)g′ (x) + g(x)f′ (x)

f(x)g(x)
[logf(x) + logg(x)]dx =

A. f(x)g(x)log[f(x)g(x)] + c

B. 
1
2

{log[f(x)g(x)]}2 + c

C. {log[f(x)g(x)]}2 + c

D. log[f(x)g(x)] + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_N43AV8JtulcG
https://dl.doubtnut.com/l/_IW5YknmRuHnE


220. ∫
3x + 1

x2(x + 1)
dx =

A. 2logx -
1
2x

- 2log(x + 1) + c

B. 2logx -
1
2x

- 2log(x - 1) + c

C. 2logx -
1
2x

+ 2log(x - 1) + c

D. 3log
x

x + 1
+ c

Answer: A

Watch Video Solution

( )

221. ∫
2x - 3

x3(x - 1)
dx =

A. logx +
1
x

+
3

2x2 + log(x - 1) + c

https://dl.doubtnut.com/l/_IW5YknmRuHnE
https://dl.doubtnut.com/l/_KbiPep0wNFNx
https://dl.doubtnut.com/l/_vioPaBCEIRuV


B. logx -
1
x

+
3

2x2 + log(x - 1) + c

C. logx +
1
x

-
3

2x2 - log(x - 1) + c

D. 2log
x

x - 1
+ c

Answer: C

Watch Video Solution

( )

222. ∫
3x

(x - 2)(x + 1)
dx

A. 
2
5

log
x - 1
x + 1

+
1

x - 1
+ c

B. 
2
5

log
x - 1
x + 1

-
1

x - 1
+ c

C. 
5
2

log
x + 1
x - 1

+
1

x + 1
+ c

D. 
5
2

log
x + 1
x - 1

-
1

x - 1
+ c

( )
( )
( )
( )

https://dl.doubtnut.com/l/_vioPaBCEIRuV
https://dl.doubtnut.com/l/_kQWfcqGjoqBP


Answer: B

Watch Video Solution

223. ∫
1

(x - 2) 1 + x2
dx =

A. 
1
5 log(x + 2) -

1
2 log 1 + x2 + 2tan - 1x + c

B. 
1
5 log(x - 2) +

1
2 log 1 + x2 + 2tan - 1x + c

C. 
1
5 log(x - 2) -

1
2 log 1 + x2 - 2tan - 1x + c

D. log(x - 2) + tan - 1x + c

Answer: C

Watch Video Solution

( )

[ ( ) ]
[ ( ) ]
[ ( ) ]

https://dl.doubtnut.com/l/_kQWfcqGjoqBP
https://dl.doubtnut.com/l/_twC0sIglvggS
https://dl.doubtnut.com/l/_WNZuRiaK8FlP


224. ∫
2x - 1

(x + 1)3dx =

A. 
3

2(x + 1)2 + c

B. 
3

2(x + 1)2 +
2

x + 1
+ c

C. 
3

2(x + 1)2 -
2

x + 1
+ c

D. x2 - x -
3

2(x + 1)2 + c

Answer: C

Watch Video Solution

225. ∫
1

x 3x2 + 2
dx =

A. 
1
4

log
3x2

3x2 + 2
+ c

( )

( )

https://dl.doubtnut.com/l/_WNZuRiaK8FlP
https://dl.doubtnut.com/l/_IlND5XO6XUjw


B. 
1
4

log
3x2 + 2

3x2 + c

C. 
1
4

log
x2

3x2 + 2
+ c

D. 
1
4

log
3x2 + 2

x2 + c

Answer: A

Watch Video Solution

( )
( )
( )

226. ∫
1

x 5 - 2x2
dx =

A. 
1

10
log

2x2

2x2 + 5
+ c

B. 
1
2

log
2x2

5 - 2x2 + c

( )

( )
( )

https://dl.doubtnut.com/l/_IlND5XO6XUjw
https://dl.doubtnut.com/l/_PMynNeLDmZVB


C. 
1
2

log
2x2

2x2 - 5
+ c

D. 
1

10
log

2x2

2x2 - 5
+ c

Answer: D

Watch Video Solution

( )
( )

227. ∫
1

x2(4x + 5)
dx =

A. 
1
5x +

4
25 log

4x + 5
x + c

B. 
-1
5x +

4
25 log

4x + 5
x + c

C. 
1
5x -

4
25 log

4x + 5
x + c

D. -
1
x +

1
4 log(4x + 5) + c

( )
( )
( )

https://dl.doubtnut.com/l/_PMynNeLDmZVB
https://dl.doubtnut.com/l/_t0xz2WjrlYb5


Answer: B

Watch Video Solution

228. ∫
1

x2(1 - 6x)
dx =

A. -
1
x + 6log

6x - 1
x + c

B. -
1
x + 6log

6x + 1
x + c

C. 
1
x + 6log

6x + 1
x + c

D. -
1
x - 6log

6x - 1
x + c

Answer: D

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_t0xz2WjrlYb5
https://dl.doubtnut.com/l/_tVx9UOAb3VJq
https://dl.doubtnut.com/l/_N3dr2sJ9e1Qm


229. ∫
1

x(2x - 3)2dx =

A. 
1

3(2x - 3)
+

1
9

log
2x - 3
x

+ c

B. 
1

3(3 - 2x)
-

1
9

log
2x - 3
x

+ c

C. 
1

2x - 3
-

1
9

log
2x - 3
x

+ c

D. logx -
2

2x - 3
+ c

Answer: B

Watch Video Solution

( )
( )

( )

230. ∫
1

5(5x + 5)2dx =

A. 
1

5(4x + 5)
-

1
25

log
5x + 5

x
+ c

B. 
1

5(4x + 5)
+

1
25

log
4x + 5

x
+ c

( )
( )

https://dl.doubtnut.com/l/_N3dr2sJ9e1Qm
https://dl.doubtnut.com/l/_3w01lSBZPNmz


C. 
-1

5(4x + 5)
+

1
25

log
4x + 5

x
+ c

D. log
4x + 5

x
+ c

Answer: A

Watch Video Solution

( )
( )

231. ∫
1

(x - 3) x2 - 7
dx =

A. 
1
2

1
x - 3

+
x + 3

x2 - 7
+ c

B. 
1
2

log(x - 3) -
1
4

log x2 - 7 -
3

4√7
log

√7 + x

√7 - x
+ c

C. -
1
2

1
x - 3

-
x + 3

x2 - 7
+ c

D. 
1
2

x + 3

x2 - 7
-

1
x - 3

+ c

( )

( )
( ) ( )

[ ]
[ ]

https://dl.doubtnut.com/l/_3w01lSBZPNmz
https://dl.doubtnut.com/l/_EXfidGxZWJy8


Answer: B

Watch Video Solution

232. ∫
1

(x + 5) x2 + 4
dx =

A. 
1
9

1
x + 5

-
x - 5

x2 + 4
+ c

B. 
1
9

1
x - 5

-
x + 5

x2 - 4
+ c

C. -
1
9

1
x - 5

-
x + 5

x2 + 4

D. 
1
9 log(x + 5) -

1
18 log x2 + 4 +

5
18 tan - 1 x

2 + c

Answer: D

Watch Video Solution

( )

[ ]
[ ]
[ ]

( ) ( )

https://dl.doubtnut.com/l/_EXfidGxZWJy8
https://dl.doubtnut.com/l/_p2rR2Kyq9DKV


233. ∫
1

(2x + 3)2(4x + 5)
dx =

A. 
1

2(2x + 3)
+

1
3

log
4x + 5
2x + 3

+ c

B. 
1
2

1
2x + 3

- log
4x + 4
2x + 3

+ c

C. 
1
2

1
2x + 3

+ log
4x + 5
2x + 3

+ c

D. 
1

2(2x + 3)
+ log

4x + 5
2x + 3

+ c

Answer: D

Watch Video Solution

( )
[ ( )]
[ ( )]

( )

234. ∫
1

(2 - 3x)2(4 - 5x)
dx =

A. 
1

2(2 - 3x)
-

5
4

log
2 - 3x
4 - 5x

+ c( )

https://dl.doubtnut.com/l/_p2rR2Kyq9DKV
https://dl.doubtnut.com/l/_eJfVyhWf4fx7
https://dl.doubtnut.com/l/_mBlNdxqcFVGc


B. 
1

2(2 - 3x)
-

5
4

log
4 - 5x
2 - 3x

+ c

C. 
1

2(2 - 3x)
+

5
4

log
2 - 3x
4 - 5x

+ c

D. 
1

2(3x - 2)
+

5
4

log
4 - 5x
3x - 2

+ c

Answer: B

Watch Video Solution

( )
( )
( )

235. ∫
x2 - 1

x3√2x4 - 2x2 + 1
dx is equal to

A. 
√2x4 - 2x2 + 1

x2 + c

B. 
√2x4 - 2x2 + 1

x3 + c

C. 
√2x4 - 2x2 + 1

x
+ c

https://dl.doubtnut.com/l/_mBlNdxqcFVGc
https://dl.doubtnut.com/l/_emW1yhAnR8UM


D. 
√2x4 - 2x2 + 1

2x2 + c

Answer: D

Watch Video Solution

236. The value of ∫ [f(x)g′ ′ (x) - f′ ′ (x)g(x)]dx is equal to

A. f(x) /g′ (x)

B. f′ (x). g(x) - f(x). g(x)

C. f(x). g′ (x) + f(x). g(x)

D. f(x). g′ (x) + f(x). g(x)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_emW1yhAnR8UM
https://dl.doubtnut.com/l/_Rfoc65OivhIl


237. ∫ cos3x elog ( sinx )dx =

A. -
sin4x

4 + c

B. -
cos4x

4
+ c

C. 
esinx

4
+ c

D. 
sin4x

4
+ c

Answer: B

Watch Video Solution

( )

238. If α, β are roots of ax2 + bx + c = 0, then : 

∫
(x - α)(x - β)

ax2 + bx + c
dx =

A. ∞. x + k

https://dl.doubtnut.com/l/_x5ZP3c64FyL3
https://dl.doubtnut.com/l/_D4X2sgphJ1uj


B. ax + c

C. 0

D. 
x
a

+ c

Answer: D

Watch Video Solution

239. ∫
(1 - cosx)2 / 7

(1 + cosx)9 / 7dx =

A. 
7

22
tan11 / 7x + c

B. 
7
11

tan11 / 7 x
2

+ c

C. 
7

22
(1 + cosx)11 / 7 + c

D. 
7
11

(1 - cosx)11 / 7 + c

( )

( )

https://dl.doubtnut.com/l/_D4X2sgphJ1uj
https://dl.doubtnut.com/l/_cWbi0LCmXTxf


Answer: B

Watch Video Solution

240. ∫ 1 + 2x + 0.5x2 exdx =

A. (x + 1)ex + c

B. (1 + 4x)ex + c

C. (x + 0.5)ex + c

D. x + 0.5x2 ex + c

Answer: D

Watch Video Solution

( )

( )

https://dl.doubtnut.com/l/_cWbi0LCmXTxf
https://dl.doubtnut.com/l/_57O0jtmKAPC3


241. ∫ex. [f(x) - f′ ′ (x)]dx =

A. 2ex. f′ (x) + c

B. ex. [f(x) - f′ (x)] + c

C. ex. f′ ′ (x) + c

D. x. f′ ′ (x) + c

Answer: B

Watch Video Solution

242. ∫
4x3

√x4 - 1
dx =

A. 2
x2 - 1

x2 + 1
+ c√

https://dl.doubtnut.com/l/_z0TSnnuJqJvj
https://dl.doubtnut.com/l/_tB05L7ANolqc


B. log x2 + √x4 - 1 + tan - 1x + c

C. 
1

2√x4 - 1
+ c

D. None of these

Answer: D

Watch Video Solution

( )

243. ∫
1

x2 x4 + 1
3 / 4

dx =

A. 1 +
1

x4

1 / 4
+ c

B. x4 + 1 1 / 4 + c

C. 1 -
1

x4

1 / 4
+ c

( )

( )
( )

( )

https://dl.doubtnut.com/l/_tB05L7ANolqc
https://dl.doubtnut.com/l/_bhvyG0MjyP2b


D. - 1 +
1

x4

1 / 4
+ c

Answer: D

Watch Video Solution

( )

244. ∫
x4 - x 1 / 4

x5 dx =

A. 
4

15
1 -

1

x3

5 / 4
+ c

B. 
4

15 x3 - 1
5 / 4

+ c

C. 
5

12 1 - x - 3 4 / 5
+ c

D. 
4
5

1
x

-
1

x4

5 / 4
+ c

Answer: A

( )

( )
( )
( )

( )

https://dl.doubtnut.com/l/_bhvyG0MjyP2b
https://dl.doubtnut.com/l/_9AO67KeCNie7


Watch Video Solution

245. ∫
1

√1 + √x
dx =

A. 
4
3

(x - 2)√1 + x + c

B. 
4
3 √x - 2 1 + √x + c

C. 
4
3 √1 + √x

3
- 4√1 + √x + c

D. 2√1 + √x + c

Answer: C

Watch Video Solution

( )( )

( )

246. ∫
x2 + 1

x x2 - 1
dx =

( )

https://dl.doubtnut.com/l/_9AO67KeCNie7
https://dl.doubtnut.com/l/_Zy9SxEAIAnHT
https://dl.doubtnut.com/l/_T9mUyVXagFqx


A. log
x2 - 1
x

+ c

B. - log
x2 - 1
x

+ c

C. log
x

x2 + 1
+ c

D. - log
x

x2 + 1
+ c

Answer: A

Watch Video Solution

( )
( )

( )
( )

247. ∫
log(3x)dx
log(9x)x

=

A. log(3x) - log(9x) + c

B. logx - log3. log(log9x) + c

https://dl.doubtnut.com/l/_T9mUyVXagFqx
https://dl.doubtnut.com/l/_y51rdNRB9yoA


C. log9 - logx. log(log3x) + c

D. logx - log9. log(log3x) + c

Answer: B

Watch Video Solution

248. ∫ (x - a)(x - b)dx =

A. constant

B. sc + sd + x

C. x2 - ax

D. ex + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_y51rdNRB9yoA
https://dl.doubtnut.com/l/_0hNXEHmAELLT


249. ∫
x3 + 3x2 + 3x + 1

(x + 1)5 dx =

A. 
-1

x + 1
+ c

B. 
1
5

log(x + 1) + c

C. log(x + 1) + c

D. tan - 1x + c

Answer: A

Watch Video Solution

250. ∫
cosecx

cos2 1 + logtan.
x
2

dx =

( )

https://dl.doubtnut.com/l/_0hNXEHmAELLT
https://dl.doubtnut.com/l/_PF57UssjtrWo
https://dl.doubtnut.com/l/_OnRwVpDni5KC


A. sin2 1 + logtan.
x
2

+ c

B. tan 1 + logtan.
x
2

+ c

C. tan(cosecx + c)

D. sin logsin.
x
2

+ c

Answer: B

Watch Video Solution

( )
( )

( )

251. ∫
1

x√x6 - 16
dx =

A. sec - 1 x3

4
+ c

B. 
1

12
sec - 1 x3

4
+ c

( )
( )

https://dl.doubtnut.com/l/_OnRwVpDni5KC
https://dl.doubtnut.com/l/_aK0AMvlA4GrL


C. 
1
3

sec - 1 x3

4
+ c

D. 
1
3

sin - 1 x3

4
+ c

Answer: C

Watch Video Solution

( )
( )

252. If ∫x. f(x)dx =
1
2
f(x) + c, then f(x) =

A. e2x

B. ex
2

C. ex / 2

D. e - x2

Answer: B

https://dl.doubtnut.com/l/_aK0AMvlA4GrL
https://dl.doubtnut.com/l/_oxdWstlNHuHc


Watch Video Solution

253. If ∫g(x)dx = f(x), then : ∫ f(x). g(x)dx =

A. log[f(x)] + c

B. 
1
2

[g(x)]2 + c

C. 
1
2

[f(x)]2 + c

D. [g(x)]2 + c

Answer: C

Watch Video Solution

254. If f′ (x) = (x - 1)3 and f(2) + f( - 2) = 0, then : f(x) =

https://dl.doubtnut.com/l/_oxdWstlNHuHc
https://dl.doubtnut.com/l/_zkzimDthQmEI
https://dl.doubtnut.com/l/_R3utbMxUWAFH


A. 
(x - 1)3

3
-

41
3

B. 
(x - 1)4

4
-

41
3

C. 
(x - 1)4

4 -
41
4

D. 3(x - 1)4 +
41
4

Answer: C

Watch Video Solution

255. If ∫
2x

√1 - 4x
dx = k. sin - 1 2x + c, then : k =

A. log2

B. log √2

C. 
1
2

D. 
1

log2

( )

( )

https://dl.doubtnut.com/l/_R3utbMxUWAFH
https://dl.doubtnut.com/l/_pN6SXYkgZoGW


Answer: D

Watch Video Solution

256. ∫
x. cosx

√x. sinx + cosx
dx =

A. 
2
3 (x. sinx + cosx)3 / 2 + c

B. 2(x. sinx + cosx)1 / 2 + c

C. 2(x. sinx + cosx)1 / 2 + c

D. 2√xsinx + cosx + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pN6SXYkgZoGW
https://dl.doubtnut.com/l/_1HIjhgf5eWIc


257. If ∫ f(x)dx = g(x),  then : ∫ f - 1(x)dx =

A. x. f - 1(x) + g f - 1(x) + c

B. x. f - 1(x) - g f - 1(x) + c

C. x. f - 1(x) - f - 1[g(x)] + c

D. g - 1(x) + c

Answer: B

Watch Video Solution

[ ]
[ ]

258. ∫ (1 - cosx). cosec2xdx =

A. tan
x
2

+ c

B. cot
x
2

+ c

( )
( )

https://dl.doubtnut.com/l/_zFhBzGFxVKgP
https://dl.doubtnut.com/l/_m3qcAPnLQodL


C. 
1
2

tan
x
2

+ c

D. 2tan
x
2

+ c

Answer: A

Watch Video Solution

( )
( )

259. If ∫ f(x)dx = 2[f(x)]3 + c , then f(x) can be

A. 
x
2

B. x3

C. 
1

√x

D. 
x
3

Answer: D

√

https://dl.doubtnut.com/l/_m3qcAPnLQodL
https://dl.doubtnut.com/l/_YSarmlmtwBQF


Watch Video Solution

260. If ∫x - 3.5 ( 1 / x ) 2
dx = k.51 / x2

, then : k =

A. -2log5

B. -
2

log5

C. 2log5

D. -
1

2log5

Answer: D

Watch Video Solution

261. ∫ (x - 1)e - xdx =

A. x. e - x + c

https://dl.doubtnut.com/l/_YSarmlmtwBQF
https://dl.doubtnut.com/l/_z0GrvO8csGP3
https://dl.doubtnut.com/l/_1JSIvaoDWCcy


B. -x. e - x + c

C. x. ex + c

D. -x. ex + c

Answer: B

Watch Video Solution

262. ∫
1 + x + √x + x2

√x + √1 + x
dx =

A. 
1
2√1 + x + c

B. 
2
3 (1 + x)3 / 2 + c

C. √1 + x + c

D. 2(1 + x)3 / 2 + c

https://dl.doubtnut.com/l/_1JSIvaoDWCcy
https://dl.doubtnut.com/l/_sHVvwj1nuoah


Answer: B

Watch Video Solution

263. If f(x) = ∫
5x8 + 7x6

x2 + 1 + 2x7 2
dx, (x ≥ 0), and f(0) = 0, then the

value of f(1) is

A. 
x5

x2 + 1 + 2x7 + c

B. 
-1

2x7 + x2 + 1
+ c

C. 
x5

2x7 + x2 + 1
+ c

D. 
x7

2x7 + x2 + 1
+ c

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_sHVvwj1nuoah
https://dl.doubtnut.com/l/_nRJ27WFJKqXF


264. ∫
ax / 2

√a - x - ax
dx =

A. 
1

loga
. sin - 1 ax

B. 
1

loga
. tan - 1 ax

C. 2√a - x - ax

D. cos - 1 ax

Answer: A

Watch Video Solution

( )
( )

( )

265. ∫
f′ (x)

f(x). logf(x)
dx =

A. 
f(x)

logf(x)

B. f(x). logf(x)

https://dl.doubtnut.com/l/_1vK8IHgnURdI
https://dl.doubtnut.com/l/_sjKAMhW5OgAa


C. log[logf(x)]

D. 
1

log[logf(x)]

Answer: C

Watch Video Solution

266. If I1 = ∫sin - 1xdx and I2sin - 1√-x2dx,  then

A. I1 = I2

B. I2 : I1 =
π
2

C. I1 + I2 =
π
2

D. I1 + I2 =
π
2
x

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_sjKAMhW5OgAa
https://dl.doubtnut.com/l/_PTMDtCdAsKx8


267. ∫
1 + tanx

e - xcosx
dx is equal to

A. e - x. tanx + c

B. e - x. secx + c

C. ex. secx + c

D. ex. tanx + c

Answer: C

Watch Video Solution

268. Integrate w. r. tx, x3[(x - a)(x - b)(x - c)] - 1 given that

1
A

=
(a - b)(a - c)

a3 ,
1
B

=
(b - a)(b - c)

b3 ,
1
C

=
(c - a)(c - b)

c3

https://dl.doubtnut.com/l/_PTMDtCdAsKx8
https://dl.doubtnut.com/l/_4s9OsvpjiEv9
https://dl.doubtnut.com/l/_EyOmyXgi7vna


A. x + A. log(x - a) + B. log(x - b) + C. log(x - c) + C

B. A. log(x - a) + B. log(x - b) + C. log(x - c) + D

C. 1 + A. log(x - a) + B. log(x - b) + C. log(x - c) + D

D. 
1
A

log(x - a) +
1
B

log(x - b)

Answer: B

Watch Video Solution

269. If : ∫
f(x)

log(cosx)
dx = - log[log(cosx)] + c,  then : f(x) =

A. tanx

B. - sinx

C. -cosx

D. - tanx

https://dl.doubtnut.com/l/_EyOmyXgi7vna
https://dl.doubtnut.com/l/_9xWyYRAssiek


Answer: A

Watch Video Solution

270. ∫
dx

sinx + √3. cosx
=

A. log tan
x
2 +

π
2 + c

B. 
1
2 . log tan

x
2 +

π
6 + c

C. log cot
x
2 +

π
6 + c

D. 
1
2 . log cot

x
2 +

π
6 + c

Answer: B

Watch Video Solution

[ ( )]
[ ( )]

[ ( )]
[ ( )]

https://dl.doubtnut.com/l/_9xWyYRAssiek
https://dl.doubtnut.com/l/_IoCB1xdCDub8
https://dl.doubtnut.com/l/_sOjeC38y6CNd


271. ∫
1

log.
1
2

2
- x2

dx =

A. sin - 1 x
log2

+ c

B. - sin - 1 x
log2

+ c

C. -2sin - 1 log2
x

+ c

D. 2. sin - 1 log2
x

+ c

Answer: A

Watch Video Solution

√( )
( )
( )
( )
( )

272. ∫
sin2x

sin5x. sin3x
dx =

A. log(sin3x) - log(sin5x) + c

https://dl.doubtnut.com/l/_sOjeC38y6CNd
https://dl.doubtnut.com/l/_HltY4xIeHVJX


B. 
1
3

. log(sin3x) +
1
5

. log(sin5x) + c

C. 
1
3

. log(sin3x) -
1
5

. log(sin5x) + c

D. 3. log(sin3x) - 5. log(sin5x) + c

Answer: C

Watch Video Solution

273. ∫cos - 3 / 7xsin - 11 / 7xdx is equal to

A. log sin - 4 / 7x + c

B. 
4
7

tan4 / 7x + c

C. -
7
4

tan - 4 / 7x + c

D. log cos3 / 7x + c

Answer: C

| |
( )
( )
| |

https://dl.doubtnut.com/l/_HltY4xIeHVJX
https://dl.doubtnut.com/l/_1bV5UjYHsLkn


Watch Video Solution

274. ∫
sinx

sinx - cosx
dx =

A. 
1
2

. log(sinx - cosx) + c

B. 
1
2

. [log(sinx - cosx) + x] + c

C. 
1
2

. log(cosx - sinx) + x + c

D. 
1
2

. [log(cosx - sinx) + x] + c

Answer: B

Watch Video Solution

275. The value of √2∫
sinx

sin x -
π
4

dx , is

( )

https://dl.doubtnut.com/l/_1bV5UjYHsLkn
https://dl.doubtnut.com/l/_WzTVFargaCTP
https://dl.doubtnut.com/l/_7jEqC9srMTbw


A. x - log sin x -
π
4

+ c

B. x + log sin x -
π
4

+ c

C. x - log cos x -
π
4

+ c

D. x + log cos x -
π
4

+ c

Answer: B

Watch Video Solution

| ( ) |
| ( )|
| ( )|
| ( )|

276. ∫
2 - sinx
2 + cosx

dx =

A. -
4

√3
. tan - 1 1

√3
. tan.

x
2

+ log(2 + cosx) + c

B. 
4

√4
. tan - 1 1

√3
. tan.

x
2

+ log(2 + cosx) + c

( )
( )

https://dl.doubtnut.com/l/_7jEqC9srMTbw
https://dl.doubtnut.com/l/_KZPzWJ9HOoKJ


C. 
4

√3
. tan - 1 1

√3
. tan.

x
2

- log(2 + cosx) + c

D. 0

Answer: B

Watch Video Solution

( )

277. If : ∫
2x2 + 3

x2 - 1 x2 - 4
dx = log

x - 2
x + 2

a
.

x + 1
x - 1

b
+ c

then : (a, b) ≡

A. 
11
12

,
5
6

B. 
11
12

, -
5
6

C. -
11
12

,
5
6

D. none of these

( )( ) [( ) ( ) ]

( )
( )
( )

https://dl.doubtnut.com/l/_KZPzWJ9HOoKJ
https://dl.doubtnut.com/l/_OAdlPXIfPe2z


Answer: A

Watch Video Solution

278. ∫
x2 - 1

x4 + x2 + 1
dx =

A. 
1
2

. log
x2 + x + 1

x2 - x + 1
+ c

B. 
1
2

. log
x2 - x + 1

x2 - x + 1
+ c

C. log
x2 - x + 1

x2 + x + 1
+ c

D. 
1
2

. log
x2 - x + 1

x2 + x + 1
+ c

Answer: D

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_OAdlPXIfPe2z
https://dl.doubtnut.com/l/_gA6z7Y1KIOV7


279. If ∫
x + 2

2x2 + 6x + 5
dx  

= P∫
4x + 6

2x2 + 6x + 5
dx +

1
2 ∫

dx

2x2 + 6x + 5′
  

Then the value of P is

A. 
1
3

B. 
1
2

C. 
1
4

D. 2

Answer: C

Watch Video Solution

280. ∫
dx

sinx - cosx + √2
 is equal to

https://dl.doubtnut.com/l/_gA6z7Y1KIOV7
https://dl.doubtnut.com/l/_UpzmnairyPfs
https://dl.doubtnut.com/l/_IizUebvsLCGe


A. -
1

√2
. tan

x
2

+
π
8

+ c

B. 
1

√2
. tan

x
2

+
π
8

+ c

C. 
1

√2
. cot

x
2 +

π
8 + c

D. -
1

√2
. cot

x
2

+
π
8

+ c

Answer: D

Watch Video Solution

( )
( )
( )
( )

281. If : ∫
1 + cos8x

tan2x - cot2x
dx = a. cos8x + c,  then : a =

A. -
1
16

B. 
1
8

C. 
1

16

https://dl.doubtnut.com/l/_IizUebvsLCGe
https://dl.doubtnut.com/l/_MTmDOobpdJ2f


D. -
1
8

Answer: C

Watch Video Solution

282. The value of √2∫
sinx

sin x -
π
4

dx , is

A. x + ln sin x -
π
4 + c

B. x - ln cos x -
π
4 + c

C. x + ln cos x -
π
4 + c

D. x - ln sin x -
π
4 + c

Answer: A

( )
| ( )|
| ( )|
| ( )|
| ( )|

https://dl.doubtnut.com/l/_MTmDOobpdJ2f
https://dl.doubtnut.com/l/_WQRvwXsh7eD2


Watch Video Solution

283. If : ∫
√5 + x10

x16 dx = a 1 +
5

x10

3 / 2
+ c,  then : a =

A. -
1
25

B. 
1

75

C. -
1
75

D. -
1
50

Answer: C

Watch Video Solution

( )

284. ∫
1

a2 - b2x2 3 / 2
dx =

( )

https://dl.doubtnut.com/l/_WQRvwXsh7eD2
https://dl.doubtnut.com/l/_4mI0QIlZ5m5N
https://dl.doubtnut.com/l/_rixpRaEVbS2z


A. 
x

√a2 - b2x2
+ c

B. 
x

a2√a2 - b2x2
+ c

C. 
ax

√a2 - b2x2
+ c

D. none of these

Answer: B

Watch Video Solution

285. The value of ∫
1

x + √x - 1
dx, is

A. log x + √x - 1 + sin - 1 x - 1
x

+ c

B. log x + √x - 1 + c

C. log x + √x - 1 + c

( ) √
( )

( )

https://dl.doubtnut.com/l/_rixpRaEVbS2z
https://dl.doubtnut.com/l/_5AWMNxEp0C3L


D. log x + √x - 1 -
2

√3
. tan - 1

2√x - 1 + 1

√3
+ c

Answer: C

Watch Video Solution

( ) ( )

286. ∫
dx

sinx - cosx + √2
 is equal to

A. -
1

√2
. tan

π
8 +

x
2 + c

B. 
1

√2. tan
π

8 +
x

2

C. 
1

√2
. cot

π
8

+
x
2

D. -
1

√2
. cot

π
8

+
x
2

Answer: D

( )

( )
( )
( )

https://dl.doubtnut.com/l/_5AWMNxEp0C3L
https://dl.doubtnut.com/l/_AemB6gIi7GpI


Watch Video Solution

287. If

u = ∫eaxsin bx dx and v = ∫eaxcos bx dx then u2 + v2 a2 + b2 =

A. 2eax

B. e2ax

C. 2e2ax

D. bx. eax

Answer: B

Watch Video Solution

( )( )

https://dl.doubtnut.com/l/_AemB6gIi7GpI
https://dl.doubtnut.com/l/_o4hNJqbGlaFV


288. If u = ∫eaxsin bx dx and v = ∫e
ax

cos bx dx,then 

tan - 1 u
v

+ tan - 1 b
a

 equals

A. bx

B. 2bx

C. b2x2

D. √bx

Answer: A

Watch Video Solution

( ) ( )

289. ∫
1

x. √1 - x3
dx =

https://dl.doubtnut.com/l/_F4DqzI6KTnV2
https://dl.doubtnut.com/l/_Qy9Ak4o7ux82


A. 
1
3 . log

√1 - x3 - 1

√1 - x2 + 1
+ c

B. 
1
3 . log

√1 - x3 + 1

√1 - x3 - 1
+ c

C. 
1
3 . log

1

√1 - x3
+ c

D. none of these

Answer: A

Watch Video Solution

| |
| |
| |

290. If f
3x - 4
3x + 4

= x + 2, then ∫  f(x)dx is equal to

A. ex+ 2. log
3x - 4
3x + 4

+ c

B. -
8
3

. log|1 - x| +
2x
3

+ c

( )
| |

https://dl.doubtnut.com/l/_Qy9Ak4o7ux82
https://dl.doubtnut.com/l/_nF1nC0xmw9OA


C. 
8
3

. log|x - 1| +
x
3

+ c

D. none of these

Answer: B

Watch Video Solution

291. If : ∫
1 + cos4x
cotx - tanx

dx = A. cos4x + B, then

A. A =
1
8

, B ∈ R

B. A = -
1
8

, B ∈ R

C. A =
1
4

, B ∈ R

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nF1nC0xmw9OA
https://dl.doubtnut.com/l/_WYZnPgd2LYyT


292. If : ∫
1 - x7

x 1 + x7
dx = a. log|x| + b. log x7 + 1 + c,  then : 

(a, b) ≡

A. 1,
2
7

B. - 1,
2
7

C. 1, -
2
7

D. - 1, -
2
7

Answer: C

Watch Video Solution

( )
| |

( )
( )
( )
( )

https://dl.doubtnut.com/l/_WYZnPgd2LYyT
https://dl.doubtnut.com/l/_XNJuLmsRSB2A


293. ∫
tanx

√sin4x + cos4x
dx =

A. log tan2x + √1 + tan4x + c

B. 
1
2

. log tan2x + √1 + tan4x + c

C. 
1
4

. log tan2x - √1 + tan4x + c

D. none of these

Answer: B

Watch Video Solution

( )
( )
( )

294. If ∫eaxcosbxdx =
e2x
29

f(x) + C , then f'' (x)=

A. 29. f(x)

B. -29. f(x)

https://dl.doubtnut.com/l/_GKlHuufJaGmr
https://dl.doubtnut.com/l/_0sXuzkkND5Qj


C. 25. f(x)

D. -25. f(x)

Answer: D

Watch Video Solution

295. If ∫ f(x)dx = 2{f(x)}3 + C , then f (x) is

A. 
x
2

B. x3

C. 
1

√x

D. 
x
3

Answer: D

Watch Video Solution

√

https://dl.doubtnut.com/l/_0sXuzkkND5Qj
https://dl.doubtnut.com/l/_QW9ZtlPb3YbI


Watch Video Solution

296. ∫
x4 + 1

x6 + 1
dx =

A. tan - 1x +
1
3

. tan - 1 x3 + c

B. tan - 1x -
1
3

. tan - 1 x3 + c

C. - tan - 1x -
1
3

. tan - 1 x3 + c

D. none of these

Answer: A

Watch Video Solution

( ) ( )
( ) ( )
( ) ( )

297. ∫
sin2xcos2x

sin3x + cos3x
dx=( )

https://dl.doubtnut.com/l/_QW9ZtlPb3YbI
https://dl.doubtnut.com/l/_tsKGVi60Nrtb
https://dl.doubtnut.com/l/_C3NTQCyeO6IX


A. 
1

3 1 + tan3x
+ c

B. 
-1

3 1 + tan3x
+ c

C. 
1

1 + tan3x
+ c

D. 
-1

1 + tan3x
+ c

Answer: B

Watch Video Solution

( )

( )

298. Evaluate ∫
cosx - sinx
cosx + sinx

(2 + 2sin2x)dx

A. sin2x + c

B. cos2x + c

C. tan2x + c

https://dl.doubtnut.com/l/_C3NTQCyeO6IX
https://dl.doubtnut.com/l/_SIBG0AHGaHAN


D. none of these

Answer: A

Watch Video Solution

299. ∫
2x12 + 5x9

x5 + x3 + 1 3
dx =

A. 
x2 + 2x

x5 + x3 + 1 2
+ c

B. 
x10

2 x5 + x + 1 2
+ c

C. ln x5 + x3 + 1 + √2x7 + 5x4 + c

D. none of these

Answer: B

W t h Vid S l ti

( )

( )

( )
| |

https://dl.doubtnut.com/l/_SIBG0AHGaHAN
https://dl.doubtnut.com/l/_yEkkd9jcNtjs


Watch Video Solution

300. ∫
a + b. sinx

(b + a. sinx)2dx =

A. 
-cosx

b + a. sinx + c

B. 
cosx

b + a. sinx + c

C. 
sinx

b + a. sinx + c

D. none of these

Answer: A

Watch Video Solution

301. ∫
(1 - cosx)2 / 7

(1 + cosx)9 / 7dx =

A. 
11
7 . tan7 / 11 x

2 + c( )

https://dl.doubtnut.com/l/_yEkkd9jcNtjs
https://dl.doubtnut.com/l/_IgLJ616srygC
https://dl.doubtnut.com/l/_nl9S14YK9uzZ


B. 
7
11

. tan11 / 7 x
2

+ c

C. 
11
7

. sec7 / 11 x
2

+ c

D. 
7
11

. cot7 / 1 x
2

+ c

Answer: B

Watch Video Solution

( )
( )
( )

302. ∫sec8 / 9xcosec10 / 9x dx is equal to

A. - cot1 / 9x + c

B. 9. tan1 / 9x + c

C. -9 cot1 / 9x + c

D. -
1
9

cot9x + c

( )
( )
( )
( )

https://dl.doubtnut.com/l/_nl9S14YK9uzZ
https://dl.doubtnut.com/l/_48BLW26e8D4H


Answer: C

Watch Video Solution

303. If the integral ∫
5tanx

tanx - 2
dx = x + aln|sinx - 2cosx| + k, then a

is equal to:

A. -1

B. -2

C. 1

D. 2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_48BLW26e8D4H
https://dl.doubtnut.com/l/_tMXDQIYYIpby
https://dl.doubtnut.com/l/_O4irvd3XMGkK


304. ∫
sec2x

(secx + tanx)
9
2

dx

A. 
-1

(secx + tanx)11 / 2 .
1
11

-
1
7

(secx + tanx)2 + k

B. 
1

(secx + tanx)11 / 2 .
1
11

-
1
7

(secx + tanx)2 + k

C. 
-1

(secx + tanx)11 / 2 .
1
11

+
1
7

(secx + tanx)2 + k

D. 
1

(secx + tanx)11 / 2 .
1
11

+
1
7

(secx + tanx)2 + k

Answer: C

Watch Video Solution

{ }
{ }
{ }
{ }

305. ∫x. sinx. sec3xdx =

A. 
1
2

sec2x - tanx + c

B. 
1
2

x. sec2x - tanx + c

( )
( )

https://dl.doubtnut.com/l/_O4irvd3XMGkK
https://dl.doubtnut.com/l/_DRY4BDAXLN4y


C. 
1
2

x. sec2x + tanx + c

D. 
1
2

sec2x + tanx + c

Answer: B

Watch Video Solution

( )
( )

306. If ∫
4ex + 6e - x

9ex - 4e - x dx = Ax + Bln 9e2x - 4 + C, then

A. A =
3
2

, B =
36
35

, C =
3
2

. (log3) + constant

B. A =
3
2

, B =
35
36

, C =
3
2

. (log3) + constant

C. A = -
3
2

, B = -
35
36

, C = -
3
2

. (log3) + constant

D. none of these

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_DRY4BDAXLN4y
https://dl.doubtnut.com/l/_7W5f4mw2hkby


Watch Video Solution

307. ∫{1 + tanx. tan(x + α)}dx =

A. cotα. log
sinx

sin(x + α)
+ c

B. tanα. log
sinx

sin(x + α)
+ c

C. cotα. log
sin(x + α)

sinx
+ c

D. none of these

Answer: C

Watch Video Solution

| |
| |
| |

308. ∫ tan(x - α). tan(x + α). tan2xdx is equal to

https://dl.doubtnut.com/l/_7W5f4mw2hkby
https://dl.doubtnut.com/l/_m5mnNsU14H4G
https://dl.doubtnut.com/l/_BXxu0k2wMiQP


A. log
√sec2x. sec(x + α)

sec(x - α)
+ c

B. log
√sec2x

sec(x - α). sec(x + α)
+ c

C. log
√sec2x. sec(x - α)

sec(x + α)
+ c

D. none of these

Answer: B

Watch Video Solution

| |
| |
| |

309. If ∫
dx

3
√sin11xcosx

= -
3
8
f(x) +

3
2
g(x) + C, then

A. f(x) = tan - 8 / 3x, g(x) = tan - 2 / 3x

B. f(x) = tan8 / 3x, g(x) = tan - 2 / 3x

C. f(x) = tan - 8 / 3x, g(x) = tan2 / 3x

[ ]

https://dl.doubtnut.com/l/_BXxu0k2wMiQP
https://dl.doubtnut.com/l/_kDBKaiEaZDwQ


D. none of these

Answer: A

Watch Video Solution

310. Evaluate: ∫
dx

cos3x√s ∈ 2x

A. √2 √cotx +
1
5 tan5 / 2x + c

B. √2 √tanx +
1
5 tan5 / 2x + c

C. √2 √tanx -
1
5 tan5 / 2x + c

D. none of these

Answer: B

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_kDBKaiEaZDwQ
https://dl.doubtnut.com/l/_uIrFCY7FKJ5o


311. Evaluate: ∫
cos2x - cos2α
cosx - cosα

 dx

A. 2(cosx - cosa) + c

B. 2(sinx - x. cosa) + c

C. 2(cosx + x. sina) + c

D. none of these

Answer: B

Watch Video Solution

312. ∫
1 + cos4x
cotx - tanx

dx =

A. -
1
8

cos4x

https://dl.doubtnut.com/l/_uIrFCY7FKJ5o
https://dl.doubtnut.com/l/_QWwyBuD3EcxP
https://dl.doubtnut.com/l/_VLFrO9H7sBlN


B. 
1
8

cos4x

C. 
1
8

sin4x

D. -
1
8

sin4x

Answer: A

Watch Video Solution

313. ∫
cos7x - cos8x

1 + 2cos5x
dx =

A. 
1
2

cos2x -
1
3

cos3x + c

B. 
1
2

cos2x +
1
3

cos3x + c

C. 
1
2

sin2x -
1
3

3x + c

D. none of these

Answer: C

https://dl.doubtnut.com/l/_VLFrO9H7sBlN
https://dl.doubtnut.com/l/_8cJGrQiw1taK


Watch Video Solution

314. ∫
1

tanx + cotx + secx + cosec x
dx is equal to

A. 
1
2

(x + sinx + cosx) + c

B. 
1
2

(x - sinx + cosx) + c

C. 
1
2

(x + sinx - cosx) + c

D. 
1
2

(sinx - cosx - x) + c

Answer: D

Watch Video Solution

315. If : ∫
cos3x

sin2x + sinx
dx = log|f(x)| - f(x) + c,  then : f(x)=

https://dl.doubtnut.com/l/_8cJGrQiw1taK
https://dl.doubtnut.com/l/_6sPjAkpKrcXj
https://dl.doubtnut.com/l/_HKi2VoKgpemp


A. sinx

B. cosx

C. tanx

D. cotx

Answer: A

Watch Video Solution

316. ∫x100x. (1 + lnx)dx =

A. ∫
x100x
100

+ c

B. x100x + c

C. 
x99x

99
+ c

D. dx99x. (1 + lnx) + c

https://dl.doubtnut.com/l/_HKi2VoKgpemp
https://dl.doubtnut.com/l/_3REl0SzdHDSx


Answer: A

Watch Video Solution

317. ∫
x9

4x2 + 1 6
dx =

A. 
1
5x

. 4 +
1

x2

- 5
+ c

B. 
1
5

. 4 +
1

x2

- 5
+ c

C. 
1

10x
. 1 + 4x2 - 5 + c

D. 
1

10
. 4 +

1

x2

- 5
+ c

Answer: D

Watch Video Solution

( )

( )
( )

( )

( )

https://dl.doubtnut.com/l/_3REl0SzdHDSx
https://dl.doubtnut.com/l/_RcnNSsCbrdOH


318. If f(x) = cosx - cos2x + cos3x - .... → ∞ then ∫ f(x)dx is equal

to

A. tan.
x
2

B. x + tan.
x
2

C. x -
1
2

tan.
x
2

D. x - tan.
x
2

Answer: D

Watch Video Solution

319. ∫ (x + 1)(x + 2)7(x + 3)dx is equal to

A. 
(x + 2)10

10
-

(x + 2)8

8
+ c

https://dl.doubtnut.com/l/_RcnNSsCbrdOH
https://dl.doubtnut.com/l/_9wIyymHfe1b7
https://dl.doubtnut.com/l/_2i0ngNLOd0WS


B. 
(x + 2)2

2
-

(x + 2)8

8
-

(x + 3)2

2
+ c

C. 
(x + 2)10

10
+ c

D. 
(x + 1)2

2 +
(x + 2)8

8 -
(x + 3)2

2 + c

Answer: A

Watch Video Solution

320. ∫
x

1 + x4dx =

A. 
1
2

tan2x + c

B. 
1
2

tan x2 + c

C. 
1
2

. tan - 1 x2 + c

D. none of these

( )
( )

https://dl.doubtnut.com/l/_2i0ngNLOd0WS
https://dl.doubtnut.com/l/_qgQhpaozbFGk


Answer: C

Watch Video Solution

321. ∫
sinx

(sinx - cosx)
dx = ?

A. sec2 π
4

- x + c

B. 
x
2

+
1
2

. log|sinx - cosx| + c

C. 
x
2

+
1
4

. log|cosx - sinx| + c

D. sec
π
4

- x . tan
π
4

- x + c

Answer: B

Watch Video Solution

( )

( ) ( )

https://dl.doubtnut.com/l/_qgQhpaozbFGk
https://dl.doubtnut.com/l/_77VJ5QJUgRXK


322. ∫ 1 + sin
x
2

dx =

A. 4 sin
x
2

+ cos
x
2

+ c

B. 4 sin
x
4

- cos
x
4

+ c

C. 1 - sin
x
2

+ c

D. none of these

Answer: B

Watch Video Solution

√ ( )
[ ( ) ( )]
[ ( ) ( )]

√ ( )

323. ∫ elogx + sinx . cosxdx =

A. x. cosx - sinx + 4. cos2x + c

( )

https://dl.doubtnut.com/l/_Z1wuuFIrXNlM
https://dl.doubtnut.com/l/_BfHh0h3AU26j


B. x. sinx + cosx -
1
4

. cos2x + c

C. x. secx + tanx -
1
2

. sin2x + c

D. none of these

Answer: B

Watch Video Solution

324. ∫
(x - 1). ex

(x + 1)3 dx =

A. 
ex

x + 1
+ c

B. 
ex

(x + 1)2 + c

C. ex. (x + 1)3 + c

D. none of these

https://dl.doubtnut.com/l/_BfHh0h3AU26j
https://dl.doubtnut.com/l/_ie6HqcvflkH5


Answer: B

Watch Video Solution

325. If : ∫ √tanx + √cotx dx = msin - 1(u) + c,  then :

A. m = - √2, u = cosx + sinx

B. m =
1

√2
, u = cosx - sinx

C. m = √2, u = sinx - cosx

D. none of these

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_ie6HqcvflkH5
https://dl.doubtnut.com/l/_AsnvYhDG0Fxj


326. The value of √2∫
sinx

sin x -
π
4

dx , is

A. x + log sin x -
π
4 + c

B. x - log cos x -
π
4 + c

C. x + log cos x -
π
4 + c

D. x - log sin x -
π
4 + c

Answer: A

Watch Video Solution

( )
| ( )|
| ( )|
| ( )|
| ( )|

327. Evaluate ∫
cosx - sinx
cosx + sinx

(2 + 2sin2x)dx

A. sin2x + c

https://dl.doubtnut.com/l/_wO5I8EQz3x1b
https://dl.doubtnut.com/l/_PtBLovlFUsDr


MULTIPLE CHOICE QUESTIONS (PREVIOUS YEARS MHT-CET EXAM

QUESTIONS)

B. cos2x + c

C. tan2x + c

D. none of these

Answer: A

Watch Video Solution

1. ∫
3dx

x2 + 1 x2 + 4
=

A. log x2 + 1 - log x2 + 4 + c

B. tan - 1x -
1
2 tan - 1 x

2 + c

( )( )

( ) ( )

( )

https://dl.doubtnut.com/l/_PtBLovlFUsDr
https://dl.doubtnut.com/l/_gMpigv81gRqC


C. 2tan - 1x - tan - 1 x
2

+ c

D. 
1
2

tan - 1 x
2

- tan - 1x + c

Answer: D

Watch Video Solution

( )
( )

2. ∫
xex

(x + 2)3dx =

A. 
ex

x + 2
+ c

B. 
ex

(x + 2)2 + c

C. 
ex

(x + 2)3 + c

D. 
xex

(x + 2)2 + c

Answer: B

https://dl.doubtnut.com/l/_gMpigv81gRqC
https://dl.doubtnut.com/l/_Vo16S7PDzxHj


Watch Video Solution

3. ∫
1

logx
-

1

(logx)2 dx =

A. 
1

logx
+ c

B. 
x

logx
+ c

C. 
x

(logx)2 + c

D. logx + c

Answer: B

Watch Video Solution

[ ]

4. ∫
1

√a2 - b2x2
dx =

https://dl.doubtnut.com/l/_Vo16S7PDzxHj
https://dl.doubtnut.com/l/_n3wvN5R3Y18q
https://dl.doubtnut.com/l/_atWJWAE848SC


A. 
1
ab

sin - 1 bx
a

+ c

B. 
1
ab

sin - 1 ax
b

+ c

C. 
1
b

sin - 1 bx
a

+ c

D. 
1
a

sin - 1 bx
a

+ c

Answer: C

Watch Video Solution

( )
( )

( )
( )

5. ∫
1

x + x -n dx =

A. 
1

n + 1 log xn+ 1 + 1 + c

B. 
1
n log xn + c

C. 
1

n + 1 log xn + 1 + c

| |
| |

| |

https://dl.doubtnut.com/l/_atWJWAE848SC
https://dl.doubtnut.com/l/_GRMbEIPxIyGC


D. 
1
n

log xn+ 1 + c

Answer: A

Watch Video Solution

| |

6. ∫ex
x - 1

x2 dx =

A. ex+ 1 + c

B. xex + c

C. 
ex

x
+ c

D. 
ex

x2 + c

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_GRMbEIPxIyGC
https://dl.doubtnut.com/l/_gQH5o3NvvV1a


7. ∫xlogx, dx

A. 
1
4

2x2logx - 1 + c

B. 
x2

4 (2logx + 1) + c

C. 
x2

2
(2logx - 1) + c

D. 
x2

4
(2logx - 1) + c

Answer: D

Watch Video Solution

( )

8. ∫ [sin(logx) + cos(logx)]dx

A. xcos(logx) + c

B. sin(logx) + c

https://dl.doubtnut.com/l/_gQH5o3NvvV1a
https://dl.doubtnut.com/l/_InaR0CtnLqje
https://dl.doubtnut.com/l/_u6ztFfrKtK86


C. xsin(logx) + c

D. cos(logx) + c

Answer: C

Watch Video Solution

9. If f(x) = x, g(x) = sinx,  then ∫ f[g(x)]dx is equal to

A. sinx + c

B. -cos + c

C. 
x2

2
+ c

D. xsinx + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_u6ztFfrKtK86
https://dl.doubtnut.com/l/_Y67o9HWLsxtH


10. ∫etanx sec2x + sec3xsinx dx is equal to

A. secxetanx + c

B. tanxetanx + c

C. etanx + tanx + c

D. (1 + tanx)etanx + c

Answer: B

Watch Video Solution

( )

11. ∫
1

16x2 + 9
dx is equal to

A. 
1
3

tan - 1 4x
3

+ c( )

https://dl.doubtnut.com/l/_Y67o9HWLsxtH
https://dl.doubtnut.com/l/_L7n2dpBDa0N6
https://dl.doubtnut.com/l/_FkkKsNy7lQh4


B. 
1
4

tan - 1 4x
3

+ c

C. 
1

12
. tan - 1 4x

3
+ c

D. 
1

12
tan - 1 3x

4
+ c

Answer: C

Watch Video Solution

( )
( )

( )

12. ∫
√tanx

sin2x
dx =

A. 
sinx
cosx

+ c

B. 
1

√cosx
+ c

C. √cosx + c

D. 
cosx
sinx + c

√

√

https://dl.doubtnut.com/l/_FkkKsNy7lQh4
https://dl.doubtnut.com/l/_GoiXfvihWxag


Answer: A

Watch Video Solution

13. ∫
2ex + 5

2ex + 1
dx =

A. 5x + 4log 2ex + 1 + c

B. -5x + 4log 2ex + 1 + c

C. -5x - 4log 2ex + 1 + c

D. 5x - 4log 2ex + 1 + c

Answer: D

Watch Video Solution

( )
| |
| |
| |

| |

https://dl.doubtnut.com/l/_GoiXfvihWxag
https://dl.doubtnut.com/l/_f2JuyNWuBW7F


TEST YOUR GRASP

1. ∫
x

4x + 5
dx =

A. 
4
x

-
16
5

log(4x + 5) + c

B. 
x
4

-
5

16
log(4x + 5) + c

C. 
x
4

-
5

16
log(4x + 5) + c

D. 
x2

2
+

1
4

log(4x + 5) + c

Watch Video Solution

2. ∫
1

ex4e - xdx =

A. 
1
2

tan - 1 ex

2
+ c( )

https://dl.doubtnut.com/l/_e4tH0lJWaFeR
https://dl.doubtnut.com/l/_7RvzB71RHdzB


B. tan - 1 ex

2
+ c

C. 
1
4

tan - 1 ex

2

D. -
1
2

tan - 1 ex

2
+ c

Watch Video Solution

( )
( )
( )

3. Evaluate ∫
secx

(secx + tanx)
dx.

A. log(secx + tanx) + c

B. tanx - secx + c

C. secx + tanx + c

D. secx - tanx + c

https://dl.doubtnut.com/l/_7RvzB71RHdzB
https://dl.doubtnut.com/l/_HUHiSjOG1w9p


Watch Video Solution

4. ∫
1

x x - 11 + 1
dx =

A. log
x - 11

x - 11 + 1
+ c

B. 11. log
x - 11

x - 11 + 1
+ c

C. -
1
11

log
x - 11

x - 11 + 1
+ c

D. -
11
x

log
x - 1

x - 11 + 1
+ c

Watch Video Solution

( )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_HUHiSjOG1w9p
https://dl.doubtnut.com/l/_b9Dc3wOKijvO
https://dl.doubtnut.com/l/_IkgOHtTqV1qR


5. ∫ (1 - cosx)cos2xdx =

A. -2cot
x
2 + c

B. -cot
x
2 + c

C. 2tan
x
2 + c

D. tan
x
2 + c

Watch Video Solution

( )
( )
( )

( )

6. ∫  
7x8 + 8x7

x8 + x + 1 2
 dx =

A. 
x8

1 + x + x8 + c

( )

https://dl.doubtnut.com/l/_IkgOHtTqV1qR
https://dl.doubtnut.com/l/_nYK0lycvHY5j


B. 
x7

1 + x + x8 2
+ c

C. 
x

1 + x + x8 + c

D. 
x

1 + x + x8 2
+ c

Watch Video Solution

( )

( )

7. ∫
1

sinx. cos3x
dx =

A. log(tanx) -
1
2

tan2x + c

B. log(tanx) +
1
2

tan2x + c

C. log(tanx) + tanx + c

D. log(tanx) - tanx + c

https://dl.doubtnut.com/l/_nYK0lycvHY5j
https://dl.doubtnut.com/l/_q9dyS6Q16qAd


Watch Video Solution

8. ∫
3ex - 4

ex + 1
dx =

A. 3x + 7log 1 + e - x + c

B. 3x + 7log 1 + ex + c

C. -4x + 7log 1 + ex + c

D. 3x - 7log 1 + e - x + c

Watch Video Solution

( )
( )
( )

( )

9. ∫
x2

x2 - 5x + 6
dx =

https://dl.doubtnut.com/l/_q9dyS6Q16qAd
https://dl.doubtnut.com/l/_afk3PfMa7tV7
https://dl.doubtnut.com/l/_5fC9jVnE9nui


A. x + log
(x - 2)4

(x - 3)3 + c

B. x + log
(x - 3)9

(x - 2)4 + c

C. x - log
(x - 3)9

(x - 2)4 + c

D. log
(x - 2)4

(x - 3)9 - c + c

Watch Video Solution

[ ]
[ ]
[ ]

[ ]

10. ∫2x.3x+ 1.4x+ 2dx =

A. 
(48)x

log48

B. 
(24)x+ 2

log24

C. 
2x.3x+ 1.4x+ 2

log2 + log4 + log3

https://dl.doubtnut.com/l/_5fC9jVnE9nui
https://dl.doubtnut.com/l/_sJ8JKmsleigA


D. 
2x+ 1.3x+ 2.4x+ 3

log2 + log3 + log4

Watch Video Solution

11. ∫sin3x. √cosxdx =

A. 
2
5 √cosx 5 -

2
3 √cosx 3 + c

B. 
2
7 √cos 7 -

2
3 √cosx 3 + c

C. 3sin2x√cosx + c

D. - sin2x√cosx + c

Watch Video Solution

( ) ( )

( ) ( )

https://dl.doubtnut.com/l/_sJ8JKmsleigA
https://dl.doubtnut.com/l/_Xc5gXfuh3rVa


12. If ∫
1

x + x5 dx = f(x) + c, the ≠ valuate∫
x4

x + x5 dx
.

A. f(x) - logx + c

B. logx - f(x) + c

C. f(x) + logx + c

D. f(x). logx + c

Watch Video Solution

13. ∫
e5logx - e4logx

e3logx - e2logxdx

A. 3e - 3x + c

B. 3logx + c

https://dl.doubtnut.com/l/_J67PuuUSVchd
https://dl.doubtnut.com/l/_pfo47ysBnf37


C. 
x3

3
+ c

D. elogx + c

Watch Video Solution

14. ∫ [f(logx) + f′ (logx)]dx =

A. x. f(logx) + c

B. 
f(logx)

x
+ c

C. ex. f(logx) + c

D. ef ( x ) . f′ (logx) + c

Watch Video Solution

https://dl.doubtnut.com/l/_pfo47ysBnf37
https://dl.doubtnut.com/l/_5VE9lIik5u7o
https://dl.doubtnut.com/l/_u9KustVUg9G6


15. ∫ [f(x) + x. f′ (x)]dx =

A. x. f(x) + c

B. ex. f(x) + c

C. 
x
f(x)

+ c

D. x. f(logx) + c

Watch Video Solution

16. ∫√1 - sinxdx =

A. 
2
3

(1 - sinx)3 / 2 + c

B. -√2. log tan
3π
8

-
x
4

+ c

C. 2√1 + sinx + c

[ ( )]

https://dl.doubtnut.com/l/_u9KustVUg9G6
https://dl.doubtnut.com/l/_McFCqPCskM0U


D. 2 sin
x
2

- cos
x
2

+ c

Watch Video Solution

[ ( ) ( )]

17. ∫
x11 + x12 + x13

x14 + x15 dx =

A. 
12x11 + 13x12

x14 + x15 2
+ c

B. log
x

x + 1
-

1

2x2 + c

C. 
1

2x2 + log
x

1 + 2x
+ c

D. 
x12

12
. log(1 + x) + c

Answer: B

Watch Video Solution

( )
( )

( )

https://dl.doubtnut.com/l/_McFCqPCskM0U
https://dl.doubtnut.com/l/_IjgH34IjhsGc


18. ∫
x + tanx

x. sinx. secx
dx =

A. 
x2

2
+ log(secx) + c

B. log(x. sinx) + c

C. log(x. sinx) + c

D. -
x2

2
. cosx. log(secx + tanx) + c

Watch Video Solution

19. ∫
sinx

1 - sin2x
dx =

Watch Video Solution

https://dl.doubtnut.com/l/_IjgH34IjhsGc
https://dl.doubtnut.com/l/_Qno1bb2unM99
https://dl.doubtnut.com/l/_WDVizLr4bD68


20. ∫
x2 + x - 4

x3 - x - 3 dx =

A. 
1
3

log 1 + x6 + c

B. 
1
3

tan - 1 x3 + c

C. logx3 + x - 3 + c

D. 3cot - 1 x3 + c

Watch Video Solution

( )
( )

( )

21. ∫
1

sinx + √3cosx
dx =

A. log secx - √3sinx + c

B. log sin x +
π
6 + cos x +

π
6 + c

( )

[ ( ) ( )]

https://dl.doubtnut.com/l/_DLD55pWyTfMh
https://dl.doubtnut.com/l/_NNGFV7wy4HIb


C. log tan
x
2

+
π
6

+ c

D. log tan
x
2

+
5π
12

+ c

Watch Video Solution

[ ( ) )]
[ ( )]

22. ∫
x + √1 - x2

x. √1 - x2
dx =

A. ex + sin - 1x + c

B. logx + 2√1 - x2 + c

C. sin - 1x + logx + c

D. sin - 1(logx) + c

Watch Video Solution

https://dl.doubtnut.com/l/_NNGFV7wy4HIb
https://dl.doubtnut.com/l/_ROSnT9SWoAFG


23. ∫ cot2x + cot4x dx =

A. 
1
3

cot3x +
1
5

cot5x + c

B. -
1
3

cot3x -
1
5

cot5x + c

C. -
1
3

cot3x + c

D. -
1
3

cos3x + c

Watch Video Solution

( )

24. ∫
1

√x2 - (x. logx)2
dx =

A. log(logx) + √1 - (logx)2 + c

B. log sin - 1x + c( )

https://dl.doubtnut.com/l/_ROSnT9SWoAFG
https://dl.doubtnut.com/l/_dc0q2A7NcHtx
https://dl.doubtnut.com/l/_j8Mam790liD8


C. 2√1 - logx + c

D. sin - 1(logx) + c

Watch Video Solution

25. ∫
log(logx)
x. logx

dx =

A. log(x. logx) + c

B. 
1
2

[log(logx)]2 + c

C. 
1
2

(x. logx)2 + c

D. x. log(logx) + c

Watch Video Solution

https://dl.doubtnut.com/l/_j8Mam790liD8
https://dl.doubtnut.com/l/_qOSMx3UTFFmD
https://dl.doubtnut.com/l/_oduBrv3UWEN6


26. ∫
dx

√e2x - 1
=

A. log ex + √e2x - 1 + c

B. 2√e2x - 1 + c

C. sec - 1 ex + c

D. log √e2x - 1 + c

Watch Video Solution

( )

( )
( )

27. Find the value of ∫
d x2 + 1

√ x2 + 2

.

A. 2√x2 + 2 + c

( )
( )

https://dl.doubtnut.com/l/_oduBrv3UWEN6
https://dl.doubtnut.com/l/_HpPLkNzGECSB


B. √x2 + 2 + c

C. x2 + 1 - 3 / 2 + c

D. 2√x2 + 1 + c

Watch Video Solution

( )

28. ∫
(2 - x)ex

(x - 1)2 dx =

A. 
ex

2 - x
+ c

B. 
ex

x - 1
+ c

C. 
ex

1 - x + c

D. 
ex

(x - 1)2 + c

Watch Video Solution

https://dl.doubtnut.com/l/_HpPLkNzGECSB
https://dl.doubtnut.com/l/_5zX8g0lskJQv


Watch Video Solution

29. Slope of a curve at any point (x, y) on it is (4x - 3). If u passes

through the point (1, 3), then its equation is

A. y = 2x - 3x + 4

B. y = 2x2 + 3x - 2

C. x = 2y2 - 3y - 8

D. x = 2y2 + 3y - 26

Watch Video Solution

30. ∫
xe - 1 - ex - 1

xe - ex 2
dx =

( )

https://dl.doubtnut.com/l/_5zX8g0lskJQv
https://dl.doubtnut.com/l/_90d7ncsEW7SF
https://dl.doubtnut.com/l/_XcGPMB6SmvHn


A. log exe - ex + c

B. log ex + xe + c

C. 
-1

e xe - ex
+ c

D. -
xe - ex

e
+ c

Answer: C

Watch Video Solution

( )
( )

( )

31. ∫3 - 2log9xdx =

A. -
1
x

+ c

B. logx + c

C. - log3x + c

D. 
1
x

+ c

https://dl.doubtnut.com/l/_XcGPMB6SmvHn
https://dl.doubtnut.com/l/_EoQ8U52DEID6


Watch Video Solution

32. If ∫
1 + x + x2

x2 + x3 dx =
a
x

+ b. log(x + 1) + c,  then

A. a = 1, b = 1

B. a = - 1, b = 1

C. a = 1, b = - 1

D. a = - 1, b = - 1

Watch Video Solution

33. ∫
1

log xx . log(ex)
dx =

( )

https://dl.doubtnut.com/l/_EoQ8U52DEID6
https://dl.doubtnut.com/l/_ylxBRE1yI0D4
https://dl.doubtnut.com/l/_SgNQCWUoEx3D


A. log(1 + logx) + c

B. 1 + logxe + c

C. log logexx + c

D. logx logxe + c

Watch Video Solution

( )
( )

34. ∫ex x4 - 12x2 dx =

A. x4ex + c

B. x4 - 4x3 ex + c

C. x2ex + c

D. x4 + 4x3 ex + c

( )

( )

( )

https://dl.doubtnut.com/l/_SgNQCWUoEx3D
https://dl.doubtnut.com/l/_MtrAlrOITxsj


Watch Video Solution

35. If In = ∫
xn

1 + x2dx,  where n ∈ N, then : In+ 2 + In =

A. 
1
x

+ c

B. 
xn

n + 1
+ c

C. 
xn+ 1

n + 1
+ c

D. 
x2n+ 3

2n + 3 + c

Watch Video Solution

36. ∫ (x + 1)2exdx

A. x2ex + c

https://dl.doubtnut.com/l/_MtrAlrOITxsj
https://dl.doubtnut.com/l/_Q29j4FJAvxRN
https://dl.doubtnut.com/l/_QCERpHzkSpIR


B. 2 x2 + 1 ex + c

C. x2 + 1 ex + c

D. 2x. ex + c

Watch Video Solution

( )
( )

37. If x = at2, y = 2at,  then : ∫y2dx =

A. ax2 + c

B. 2ax + c

C. 2ax2 + c

D. 2√ax + c

Answer: C

https://dl.doubtnut.com/l/_QCERpHzkSpIR
https://dl.doubtnut.com/l/_bpfnVHBnUQNw


Watch Video Solution

38. If y = x2 + 2x + 3,  then : ∫
dx
dy

dx =

A. 2log(y + 1) + c

B. log √1 + x + c

C. 
d2x

dy2

D. 
x3

3
+ x2 + 3x + c

Watch Video Solution

( )

( )

39. If y = xx
x… to ∞

,  then : ∫ (logx)dy =

A. 2(logx)2 + c

https://dl.doubtnut.com/l/_bpfnVHBnUQNw
https://dl.doubtnut.com/l/_lfggWYSzc5gh
https://dl.doubtnut.com/l/_5aIv4Re6Yy7N


B. 
1
2

(logy)2 + c

C. 2(logy)2 + c

D. xx
x… to ( ∞ + 1 )

Answer: B

Watch Video Solution

40. ∫
1

cosx. √sinx. cosx
dx =

A. 2√sinx + c

B. 2√cosx + c

C. 2√tanx + c

D. 2√cotx + c

https://dl.doubtnut.com/l/_5aIv4Re6Yy7N
https://dl.doubtnut.com/l/_scBK6EwQgdGO


Watch Video Solution

41. ∫
√cotx

sin2x
dx -

A. -√sinx + c

B. √cosx + c

C. √tanx + c

D. -√cotx + c

Watch Video Solution

42. ∫cotxcosec2xdx =

Watch Video Solution

https://dl.doubtnut.com/l/_scBK6EwQgdGO
https://dl.doubtnut.com/l/_hbWLdjuQau1L
https://dl.doubtnut.com/l/_1erKXrXnLwRs


43. ∫
tanx

1 + cosx
dx =

A. - log
cos

1 + cosx
+ c

B. log
cosx

1 + cosx
+ c

C. log
1 + sinx

sinx
+ c

D. log
1 + tanx

tanx
+ c

Answer: A

Watch Video Solution

( )
( )
( )
( )

44. If y is the primitive of e - logx,  then : ey =

A. logx

B. e - x

https://dl.doubtnut.com/l/_IqEBq2AHKTer
https://dl.doubtnut.com/l/_aVks3p5QSE4x


C. x

D. -x

Watch Video Solution

45. ∫secxdx =

A. log tan
π
4

-
x
2

+ c

B. log cot
x
2

+ c

C. 
1
2

log
1 + sinx
1 - sinx

+ c

D. log(secx - tanx) + c

Watch Video Solution

[ ( )]
[ ( )]

[ ]

https://dl.doubtnut.com/l/_aVks3p5QSE4x
https://dl.doubtnut.com/l/_5DqkdXCD98Z6



